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Al NUMBER SEQUENCES 2

I can find missing numbers in a sequence including those with negative
numbers.

To find the rule that links the numbers study the gaps.

Examples

4 0 -4 -8 -12 The rule is subtract 4.

1 4 7 10 13 The rule is add 3.
Verite the first six numbers in each sequence.

Startat  Rule Start at  Rule Start at  Rule
© == +2 0O s -7 @ = +5
©® 56 -8 © s +3 e 448 -6
©® 125 +25 © 56 -7 ® 19
O -5 © s +8 @ 1no -2
® 4+ +4 QO 120 -3 d 2 +11
B

Complete these sequences by filling in the boxes. Write the rule each time.

©s3 85 87 8 [ | [ ][] ©[ |62 [ ][] 47 42 37
®©-1 3 -5 -7 [ ][][] @2 18 ]12[]s6/[]
©[ | [ ][] 175 225 275 325 @2 ] 48[ ][] 27 2
O [ ][] e 72 8 94 @ ] 40 42 [ ] 28 21 []
©Oecs 64 [ ][ ][] 48 44 ® 14 [ ]| 316 [ ] 518 [ ] 720
@325 350 [ | [ ][] 450 475 @[] -4 [ ][] -25 —20 -15
@24 20 -16 12 [ ][ ][] @se 57 []3[]13][]
© 2] -0 [ ] -18[] -26 D -5 [ ] 15[ ][] -30 -3

C

Copy the sequences and write the next three numbers. What is the rule for each sequence?

@ 77 83 89 95 @31 1 -3 ® 48 38 28 18
© -2 -4 -6 -8 © o025 05 075 1.0 @ 45 38 31 24
©o1 03 05 07 © 132 121 110 99 @D 64 52 40 28
@8 77 8 95 @ o005 006 007 0.08 Ds 24 43 62
© 25 20 15 10 @ 54 62 70 78 @ 19 13 71

© 35 60 85 110 @ 18 14 10 6 @ 48 69 90 111



Al NEGATIVE NUMBERS

W

| can identify missing numbers in a sequence involving negative numbers.

Megative numbers (Delow zera) | Positive numbers (above zero)

10-9 -8 -7 6 -5 —4 -3 =2 -1 0 1 2 3 4 5 s 7 & 9 10
L | I I i ! i ! i i 1 L I I i I 1 I 1 I ]

A

Copy and complele. Count an Count back

@ 5 2] ][]0 @ 4from —3 @ 7irom 4
8- || ] 23 € 7from -9 @ 8 from —1
&[]][] -6 4 -20 © sfirom 5 @ 12from 6
@ -1+ -0 [ ] -2[]s6]] = @ éfrom 2 @ 9fromo
Q- [ 3, ] " @ sfrom-s B sfrom —4
O: 31 1] 1[] B 9 from —4 @ 10rom 3

Copy and complete. Put each set of numbers in order, smallcst first.

000
Wy
Wiy
O
RN
=% |
@
o

60 l —40) j —20 J, 0 l 20 l .sc:ruc
l 1 1 Lyl Civaag ik L l L L I PP B |

o What temperatures are shown by the letters?

e Give the difference in temperature between:

a) CandD ) Band C c) CandE ey A and D,
o What would the temperature be if it was:
a) at A and rose 34°C7 c) at Cand fell 26°C7

b) at D and fell 18°C7 d) at B and rose 48°C?



Al NUMBERS 4

| can read and write whole numbers.

Mumbers are made up from digits,
There are ten digits, 0 123456 7 8 and 9.
347 is a three-digit number, 3472 is a four-digit number, and so on.

The way we read a digit depends upon its place in the number.

2748 is two thousand scven hundred and forty-eight
. 27 485 is twenty-seven thousand four hundred and eighty-five
274 856 is two hundred and seventy four thousand eight hundred and fifty-six
2 748 563 is two million seven hundred and forty-eight thousand five hundred and sixty-three

TAKE CARE when a number has zeros in it

3006 is read as three thousand and six.
&00 502 iv read as six hundred thousand fiv_e hundred and two

A

These figures show the distances between London and other citics around the world.
Write each distance in words. :

o Rome 1437 km o Cairo 3508km
&) chicago 6356 km € Lagos 5017 km
€ Beijing 8138%m ©) singapore  10852km
@ Copenhagen  952km ©) serlin 928 km
@ Mexico City  8936km @ caracas 7507km . -

0 Copy the table, writing each distance in figures.

;fiﬂ?f W E'ﬁl‘ancﬂ to London (kilometres) - =

! MNew York five thousand five hundred and seventy-two

| Moscow two thousand four hundred and ninety-sight

! Paris three hundred and forty-two

I Los Angeles eight thousand seven hundred and fifty-sight

|ohanneskurg nine thousand and seventy-one-
Bombay seven thousand one hundred and ninety
Rio de Janeiro nine theusand two hundred and ninety-nine

- Buenos Aires eteven thousand ane hundred and thirty-one |
Calcutta seven thousand nine hundred and sixty-one f
Taronto- five thousand seven hundred and four |




o The table shows the areas of the largest seas and oceans in the world.
Copy the table, writing each area in figuras,

e . |peapqueemiey i

. Pacific Ocean sixty-four million one hundred and ninety thousand

; Atlantic Ocean thirty-three million four hundred and twenty thousand
 Indian Creean twenty-aeight million three hundred and fifty thousand
- Arctic Ocean five million one hundred and ten thousand

- South China Sea one million ane hundred and forly-eight thousand

' Caribbean Sea ane mitlion and sixty-three thousand

- Mediterranean Sea nine hundred and sixty-six thousand five hundred

. Baring Sea eight hundred and seventy-five thousand seven hundred
| Guif of Mexico five hundred and ninety-five thousand eight hundred

' Sca of Okhotsk live hundred and eighty-nine thousand eight hundrad

The same areas are written here in square kilometres.
Wiite each area in words.

€} racific Ocean 166240000 km? €D Caribbean Sea 2753 000km’
o Atlantic Ocean 26 560 000 km? e Mediterranean Sea 2503 000km?’
&) Indian Ocean 73430000 km? € raring Sea 2268180km?
o Arctic Ocean 13 230000 km” @ Gull of Mexico 1542985 km?
G South China 5ca 25974000 km”? 0 Sea of Okhotsk 1527 570 km?

C

The [olowing figures show the populations of saime European capital cities.
Wihte each population in words.

€ London 7007091 € raris 5319367
€) Brussets 953175 © cardit 302747
© Beriin 3472009 © Monaco 27063
@ Budapest 2002121 ) rome 2653383
@ Luxembaourg 77 400 @ Athens 3072922
0O vienrma 1 806 737 & sarajevo 529021

@ Make as many five-dligit numbers with a

vilue of less than 26 000 as you can 2 e il
using these digits only, E[ :lz 0° ?’ @:

Write each number in words and figures.



Al PLACE VALUE OF DIGITS 6

| can say what any digit represents in a number with up to seven digits.

The value of a digit depends upon its position The 1 has a value of 1000 000.

in the number. The 4 has a value of 400 000.
The 2 has a value of 20 000.

Example 1423698 The 3 has a value of 3000,

M HTh TTh Th H T U The & has a value of 600,

1 4 2 3 & 9 8 The 9 has a value of 90.

The & has a value of B,

A

Copy and complete by writing the missing number in the box.

@ 369=[ 16019 @ sr2a=[ i 700+ 1+4
€ 1426 =1000 1400 1 [ ]+6 ¥ 9291?—-29430--|--|:[+|:|?+?
€} 2193 = 2000 - 100 1 50 + [ ] € 1946 = |+ 900+40+

@ 4537 = |+500130+7 @1155—mnu+:[+r“-+

© 3858 — 3000 + [+ 50 + [] @ ossas-[_ 1+ [+ JL|
Qc2-1+[1:2 ® 52— 1+ 1+0 1+ |
B

Write dewn the value of the digit underlined.

@ 3982 © 38674 € 1655249 O 9772851 ® 753217
© s - @ 185037 © 1518598 @ 2396910 D 4805246

€ 24360 O 241426 © 3460103 @ 3824672 B 5130909
Add 4000 to: Add 30000 to: Take 200 from: Take 100000 from:
D 13672 O 243497 ) 424357 B 432176

) 100813 e 813 €5 1173884 €5 1918534

@ 145628 &) 1545628 2 12916 € 6259019

G

Wrile the answers only.

€ 317496 1+ 60000 @ 62584 — 20000 €) 7436 + 1000000
© 18540371 + 9000 © 450267 + 700000 € 5219320 - 4000
© 2007193 - 4000 @ 3194805 - 2000000 € 1329754 — 300000
Add 600 000 to: Add 25000 to: Take 7000 from: Take 1100 from:
D 1587 362 B 8174 @ 282908 O 1211471

@ 204189 (139 ~ D 142165 @ 95262



A1l ORDERING NUMBERS

| can compare and order numbers.

Example
Arrange 2581 2158 21158 in ascending order. 2000 2000 20000
Look at the highest value digits i ? i
first and if they are the same 2581 2158 21158
compare the next highest value. | |
The correct order is 2158, 2581, 21 158. 500 100
A
Put these sets of numbers in order,
starting with the smallest. Copy and complete.
€ 865 2836 683 2386 0O 378+ |=678 @ 6924 +[ |=8924
€) 5419 1945 5914 5149 € o410 - |=7410 @ s60-[ |=60
© 2743 3472 3247 3274 © 2561 +] | = 2961 @ 3168+ |=7168
@ 1638 1386 1863 1836 © 584 - |=524 @ 4725 - |=4125
© 4785 4758 4578 4857 @ 2037+ |=5037 D 639+ |=689
B
Put these numbers in ascending order. Copy and complete.
@ 4738 3874 3478 4837 @ 35684 +[ |=39684
€©) 52287 52783 53872 53827 € 619207 - [ |=612207
€ 19162 19612 19261 19216 © 1873410 |=1373410
@ 16006 10606 16060 10660 © 25836 - |=25536
© 14231 14321 14421 14312 @ 159870+ |=759870
G
Work out the number that is halfway between each pair of numbers.
@ 3400 4400 € Use these digits once each.

€ 19300

20000 ™% 57.2 7 4 393

© 25280 — 25380

Make two different 4-digit numbers which give:

o 17400 18200 a) the largest possible total.
e 16680 16 740 b) the smallest possible total.
o 6940 7020 c) the largest possible difference.

d) the smallest possible difference.



Al MULTIPLYING AND DIVIDING BY 10,100,1000

| can multiply and divide whole numbers by 10, 100 and 1000.

Multiplying — digits move to the lefL
Dividing - digits move to the right

Examples

®{=by10 - digits move 1 place
#{+ by 100 - digits move 2 places
/= by 1000 - digits move 3 places

A

Multiply by
10 _ 100

@ :0 (7 1

€) 157 0O 16
€ 520 © 40
O 4 D s
O 593 @ 100
0O ss (12 5

Divide by:

10 100
® seo @ 6000
(1480 €2 3900
@ 000 € si00
D isz0 €D 40
& 700 €D 7300
@ 5400 €D 10000
Copy and complete.

€D [ |x10-= 8600

& |-10-62

€ [ | 100=7000
[ |+100=81
@[ |x10=1390
@[ |-10-3580
€D [ |x 100 - 2400

@[ |-100=90

624 10 — 6240
36 x 100 = 3600

72 1000 — 72000

Write the answers only.

€) 860 % 100

© 1400 - 100

@ 52 1000

@ 30000 + 1000
€ 74000 x 10
€) 49000 <10
€ 1340 x 100
D 28000 = 100
@ 147 x 1000
& 650000 + 1000

Copy and complete.
$  <10=21600

@ _ +~10-83000
@ [ | x100 - 96000
O |+100=7400

& | x 1000 = 80000

@ [ ]+ 1000 = 1000

@ How many £10 notes
-make £15 0007

@ How many millilitres
are there in 30 litres?

53000 - 10 — 5800
2000 =100 — 20
15000 - 1000 — 15

¢

Copy and complete,
@ x10-397000

€ 10=400000
€ 10099000
© | 100~1500
© <1000 = 1700000

® | |- 1000 - 400

@ 6100 <] |- 610000
© 2000000 | |= 2000
© 25600 x| |=256000
@ 2400000 + [ |= 24000
@ 370000+ |=37000
@ 8100 x| |- 8100000

@ How many pounds is
1 million pence?

(D what is 100km in
centimetres?

& what is 25 kg in grams?

@ There are 14 sweets in
each packet. There are
100 packets in each box
How many sweets are
there in 100 boxes?



Al MULTHPLICATION FACTS 9

| can recall the multiplication and division facts to 10 x 10,

A B C
Whal is Copy and complele. Copy and complele.
€ e x4 Q| |x2=14 @ | | 40— 24000
€ 1x7 O |x7-4 @[ |x60~1800
€ ox2 ©| |x3-24 €[ ]x90=72000
Dsxo O |xs=72 © | |xs20-56000
O 7 x3 O |xs=42 © | [<70=63000
05 O 057 © x50~ 150
078 @ -7-s @ 950
e O - O 55
0 O 5- 0 i-w
D7 O -6-9 @ 6-500
& ® - E
@5 Q[ 47 @® 8=s00
: Write the answers only. Write Lhe answoers onty,
Y. Y,

& 20 -5 .. :

B roxs €320 4 Porxe @40xe

16 -

@10 @ soox3 € s40+9 Qooxs €455
B 2o 10 O 30oxs € 4000+38 Pooxz Gaz+7
D w7 L 400 <2 €) 7000 =10 Bosx7 as-6
® 202 @ 100x5 € 480+56 Booxs o390
D06 D sox7 @ e300=7 Dosxs & 364
®e:7 @ 800 x 20 € 400 : 8 O7x0s @ 49:7
& 50+ 10 € 70x 70 @) 2400 = 4 3x09 & 2453
€ o4 - 8 €D 300 x 80 B 2100 < 7 Decx06 € 32:8
€ 27+ 3 €D 600 x 60 € 420 + 6 B ax07 Bei1+9
€ 54+ 9 D 10x40 € sio-9 Bexos € 20-2

€D 36+ 4 € s0x90 € 6400+ 8 ) 7xed @306



Al MENTAL STRATEGIES

I can choose a sensible strategy to work
out a mental calculation.

Examples

ADDITION AND SUBTRACTION

Partitioning

328 +63=320+60 1 8 + 3

= 380+ 11
= 391

279 — 45 =279 - 40 - 5

= 23523
— 234

Counting Up
403 — 186
+ 2040

ol g i3
s M\v'_N.

186 200 400 403
200 +-14+3—-217

Examples

MULTIPLICATION AND DIVISION

Using Faclors

210 = 14
20+7=+2
0 =2

15

Mulliplying Multiples
ot 10/100

60 = 20
6% 2="12
B0 = 20 = 1200

Using Near Doubles
228

(25 % 2) + 1

50 +1

51

Using Nearest Multiple

of 10/100/1000
264 7B

264 — 80 - 2
184 + 2

186

Partitioning

34 2 4

{30 % 4) + (4 X 4}
120 1+ 16

136

Multiplying by

19/27 etc.

23 % 19

(23 =201 (23 = 1)
460 - 23

437

10

&

Choose one method for cach group
of six problems.

€ 12 12 €D 9x3
e 2 +22 26 B
€ 23+24 € 7x8

€ 63-54

€ 202 - 285 € 18x3
€) 6000 — 5986 € 24 x 3
g 72-38 D 12x4
@ 303 - 177 €D 19x4
@ 5000 -4974 €D 23 x4



Choose one melhod far each group of six

prohlems.

€ 239 + 54
€ s16+47

€) 527 + 38
@ 539 - 45
€ 513 - 67

@ 263 -8

@ 17x19
€ 2219
€ 26 <19
O 18 x 21
@ 23 x 21
(12 A

() 503 - 194
@ 702 - 279
B s14 396

& 8004 5991
& sooo — 2982
& 4000 — 3486

(19 E
€D 57 x5
€D 42x6
&) 24 x 7
) 8 x38
€ 32x9

€D 0 % 30
€5 70 % 20
€3 30 % 200
€3 70 % 400
€) 30 x 50

€D 40 x 300

€D 15+ 16
€ 25+ 27
€ 35+ 34
€D 45 + 45
€D 15+ 14
€ 25124

€ 15 %6
€ 12x8
€ 13x12
& 128 8
@ 18012
@ 185 -9

& 468 + 21
@ 467 71
& 284 1 w9

& 4007 -- 3006
& 5005 1 2007
& 3004 — 1997

C

11

Choose one method for each group of six

problems.

O !--¢

€ 36-| |-57
© a8 | |-143
© 20| |26
D |-189 446
@ 546 -| [-1s2
O | 168 =532

Q57+ |=1s
Bze-[ |-74
D 26 1| [-53

(19 R T I
€ 25 %18
(21 B P
€5 189 + 21
€D 238 16
€ 206 = 18

| 1199=648
€ 11 2086 =38279
D[ 1111 =983
| 202=62

€] |+ 3012=>5828

@ _i>< 20 _ 8000
& [ |xs0=3500
@ _lx 400 = 1200
D[ |60 42000
@ .T % 300 = 2400
@ [ |x 705 2800

€| |s49-13
& |=5=12
€[ |+99=11
@D |=100-14
@[ |+42=16
B[ |=99=15

@ 725 |-291 .
@ s2-{ -7

B st~ =383

@ soo0 - |- 1784
& o004 | |- 3965
€ 7005 —| |- 2074



Al WRITTEN METHOD FOR ADDITION

| can use a written method for addition calculations.

Examples
57 457
+28 + 28
85 485

A

Copy and complete.

© 53 @ 54
+. 65 + 54
€ 456 337
| 27 med s
© 2 @ 254
£ 3o e 1193
305 529
+ 78 +256
761 P 68
+ 94 L2
O 6 @ 738
+ 53 SR/t

457 1457
+328 + 961
1385 2418

Copy and compiete,

Q 53 @ 532
398 , | 587

849 1785
728 + 369
695 1367
+563 11295

974 ) 2948
e e
& 1 @ 4279
+368 +1098
837 4693
+649 +2156

@ In one month 384

m ]a{fkie’s holiday cost

adults and 65 children
stayed at an hotel. How
many people stayed at
the hotel altogether?

In one hour 457 cars
were counted passing
a school going one
way, Only 136 cars
were colnted gaing in
the oppasite direclion,
How many cars passed
the school allogether?

£873. She spent a
furthor £658. How

much did she spend
altogether?

C

Set out as in the examples.
@ 2684 1 1859
€ 3967 + 1375
€ 5874 = 2687
© o564 - 3582
@ 5497 + 1985

0 s962 -+ 2479
€@ 7559 = 2976

E) 7585

t

6278

© 6594 - 5257 .
D 7729+ 4608

0 There are 8552 ants in

ane anthill and 3949
ants in another. How
many ants are there
allogether?

&) After flying 4297

miles, a plane landed
for refuelling. 1L flew a
further 2635 miles to
complete its journey.
How far did the plane
fly altogether?

Louis had £9674 in his
bank account. He paid
in a further £549. How
much did he now have:
in his account?



Al WRITTEN METHOD FOR SUBTRACTION

| can use a written method for subtraction calculations.

COUNTING UP DECOMPOSITION (TAKE AWAY METHOD)
835 835 | ¢ 12
Sy Rere zé—iﬁfz—aﬂﬂz 97
33 -300 33 - 300 oo = =
500 — 800 535 — 835 A A=hd S
35 -835 568
568

A B Cc

Work out-by counting up. Use the decompaosilion Use the decompasition

oﬂgfﬂ 423 method. ; , method.
7183 =365, QO 2 0 w @ o0
=37 =24 .—328

576 @ 345

—264 — 89 © ¢« @ = Q 34
e b 7l L
e 53 @ 873

- 56 557 ©® nn QO s © 22 @ s
S g2 =) 379
© 7 @ 54 _
442 —194 QO ¢« @ © 2224 @ 32
=F A2 2 Fue =
734 ) 860 "
-197 —228 © s @ © 90 @ 675
e =7 m2ls i

0 Daniel planned to cycle
21 miles in one day.

m There arc B27 trees in
a forest. 236 trees are
blown down in a gale. He stopped for lunch
How many trees are gller 43 miles. How
left? _ much further did he

have to go?

0 Linda's balloan
travelled 364 miles.
|lake's travelled. 197
miles. How much
further did Linda’s

balloon travel?

@ In ten minutes 86 cars
were counted passing
Lhe school. 4% were
going narth, How
many were gaing
south?

@ In January a large stare
sold 675 television sels.
348 lewer sets were
sold in Febiuary, Mo
many TWs woere sold in
February?




Al NUMBER PROBLEMS

14

[ can use written methods to solve number problems and puzzles.

&

o Find fwo numbers
with:
a) atetal of 100 and a
diflerence of 30

b} atotal of 200 and a
diflerence of 84

¢) atotal of 500 and a
difference ol 144.

e | think of a number.
| adid 86.
| fake T47.
The answer is 275,
What is my number?

e | think of a number.
| take 79,
| add 54.
The answeris 154,
What is my number?

Copy and complete by
writing The missina digits in
the boxes.

Q4 |+ [3-109
O |79 [-130
O |s-5 ]-138
@6 | ]4=143
O |-[ |6-36
@1 17 s -
Q19 |-[ |5=119
@ |-[ -7

o Find two numbers
with:

a) a total of 1000 and
a ditterence of 238

b) atotal of 750 and a
difterence of 162

9 t think of a number,
| subtract 173.
tadd 369,

The answer is 536,
What is my number?

€ | think of a number,
| add 215.
1 subtract 347,
The answer is 295,
What is my number?

Copy and complete,

O :[]

thjuu
]

o =
o[ e
=| o[ |

©
[
cﬁm—l]

| T
o

€

&

o Find two numbeors
with:
a) atotal of 5000
and a difference of
1354
b) atotal of 3800 and
a difference of 478.

e | think of a number.
| add 2753,
| subtract 3572.
The answer is 4839,
What is my number?

€) ! think of a number.
| subtract 562,
| add 1714.
The answer is 2348,
What is my number?

Copy and complete.

© [I3]]




Bl FACTORS

| can find all the factors of a two-digit number.

Faclors are numbers that divide exactty into another number.
Factors can be shown by creating arrays.

Example
Two arrays cate be crealed
using & squares,

A

o What are the two
factors of-6 shown in
this array?

i 5

9 Drrawe a different array
to show the other hwo
factors of &.

€ List the four factors
of &.

o This array shows that 2

and & are factors of 12,

Draw two different
arrays to show the
olher four factors
of 12,

o List the six factors
of 12,

e Draw two different

arrays using 10 squares.

List the four factors
of 11,

6 Craw three different

arrays using 18 sguares.
List the six factors of 18,

1x8=_§

o Copy and complete this
table for ail niembers

from 1 fto 0.
';L.N b
Mumber & N {!r: Faciors
; af amays _
R BN T
T B L Il
s :

e Which of the numbers
between 10 and 20
make a square array?

o Can you explain why
this number has a

sgjuare array?

o Numbers which have a
square array are called
square numbers, Give
two more examples
of square numbers by
drawitg their arrays.

List all the faclors of these
numbers, The number
of tactors is shown in the

brackets,
@

© 3@
0 456 6 245

248

15

The factors of & are
1,2, 4, 8

C

o The tourth square
number is.16, List
thefirst 10 square
numbers.

Work outs

e the 15th square number

e the 20th fs'qura;n_l.ijlﬁber

€ the 100 squareé
number: ¢

Find all the factors af the
following nusmnlzers.

O @ o5
O { &
@ o4 (13
O 27 & ss
€ so P s
D 26 D 6
Fill in the box to complele
each pair of factors,

@ s =11 %[ |
@ 3s0=90x ]
® 7200 - so x| |
€D 4000 = 800 x|
€ 4800 =160x|
€3 7500 — 150 %[ |
€D 630=7x| |
& 320=40 %] |



Bl CLASSIFYING NUMBERS

16

| can classify numbers using Venn and Carroll diagrams.

Multiples arc the numbers in a multiplication

table,

The multiples of 2 are the numbers in the 2 times

tables,

24,6, 8 ... 22, 34, 36, 38 ... and so on

15 20 30 42 64 80 97 100

This Carroll diagram shows how the above

numbers were sorted,

¥
1l
der 50 i

SR under 50
rﬁuitiplcs

% 80 100
Lof 10 i
not mulliples 15 42 64 97
of 10

6 T 20 30 50 &4 75 80

This Venn diagram shows how Lhe above

numbers were sorted.

mulLliples of 4 rmulliples of 10

75

20 and 80 are commaon multiples of 4 and 10.

&

o Copy the Carroll diagram and use it to
sorl the numbers.

odd | notodd

over 50

| mot over S0

P

31 87 54 48 96 65
22 78 45 16 53 37

9 Copy the Venn diagram and sort these
numbers by writing them in the right
places.

16 200 32 35- 38 40 42 50

multiples of 4 multiples of 5

e Use the numbers from 1 to 20,
a) List the mulliples of 2.
b) List the multiples of 5.
<) Which numbers appear in both lists?

d) List all the numbers up to 100 which
are multtiples of both 2 and 5.
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B C

o Copy the Carroll diagram and use it to o Copy the Venn diagram and use it to
sorl these numbers. sorl the rmultiples of 3 under 50.
60 151 & 532 210 45 tiliples 6l 6 rulliples of 9
5 BY 70 195 35 306
rmubtiples | not mudtiples
of 5 al 5
2-digit
numibers
not 2-digil
numbers | e Copy the Carroll diagram and Lise it4o
) ) sort all the even numbers to 36.
o Copy the Venn didggran and use itto multiples | not multiples
sort the numbers 1 to 30 : of 4 of 4
multiples of 2 multiples of 3 | multiples
: lofa:
'not mu&i_ple&
e

e Which of the numbers in your diagram
are common muitiples of 4 and 6?

e ¥Which numbers in your diagram are
common muitiptes of 2 and 37 o List atl the comman multiples of 4 and &

belew 100,
o List the other two-digit numbers which

are camman multiples of 2 and 3.

o Find three examples to match this
o Find three examples to match this statement.

statement.
All commuon mudtiples of 2. 3 and 5 are

Al commopn mudtinles of 3 and 4 are muftinles of 30,
mitiples of 12

Find three numbers that are commaon Find three comman mkltiples of;
mukiples of: e 5 3.
2 3and 7

0 :ands € 2 5:amd o
€ 5:nd 10
© 2:ni7 ©:iands

© 1and5 0 2 Fand
@ 3and 8. @ 5 'E_ILar‘ld A,



Bl MULTIPLICATION FACTS

18

I can quickly recall the multiplication and division facts to 10 x 10.

A

What is

Copy and comple
Q[ |xs5-72
O |x2-15
O |<7-28
©[ [<x9-45

Le,

€D 420 - 70
€D 3600 - 40
€D 5600 + 80

C

Copy and complete.

O [<7=140
O x3-210

o _ % 6 = 5400

Q[ |x9=2700

O xs5-3%0
@ |x8-3200
@ 6500
O -2-

Q@ |-7-8
@E-‘:-4:6ﬂﬂ

@ | 8-5s00

@ o7

Write the answer only.



Bl USING ROUNDING TO ESTIMATE . 19

I can use rounding to estimate addition and subtraction calculations.

Always look at the column to the right of that to which you are rounding.

Exarples

ROUNDING TG THE NEAREST:
10 3862 — 360

100 86381 — 8700

1000 6546 — 7000

| 0-7 =1 4-52 = 5

&

Round to the nearest 10.

Round Lo the nearest

160,

@ 536 O 654
(12 R E-Z R 1 7 RS
B 505 Pz

Estimate and then work
out,

€3 294 + 135
€25 158 + 169
€D 371 + 218
D 436 1 172

€ 68 - 37
€5 87 - 61
£ 24 - 46
€ 75 -23

ESTIMATING CALCULATIONS

327 + 244
rounds to
330 + 240 — 570

Answer is about 570.

Choose the correct answear
and then work out to check.

@ 923 289
a) 624 ¢} 724
b) 634 d) 734
€) 2988 + 1736
a) 4524 <) 4724
b) 4624 )} 4824

Copy and complele.
€ s014
@ 4093 1 2530 =723
© 20701 3768 = 6242

[ 6 X

Estimate and then work oul.

& 436 1 323
€ 352+ 217

391 = 4818

153 = 3575

€) 269 + 352
) 524 + 245

& 479 — 282

518 — 247
rounds to
520 — 250

Answer is about 270,

C

Choose the currect answer and
then work out to check.

€ 4065 + 3547

ay 75:12 o W .
b) 76-12

€) 3805 2378
a) 1427 ¢} 1627
b) 15.27

Copy and corm plete,

€ 49401 377.5=18623
@ 720 s5T88=1737
© 017 26470= 5668
@ 1036 1 2057 6695

Estimate and then work out.
€D 5365 + 1248
) 441 6+3582
& 2154 +17309
) 3627 + 2891

@ 3215 - 1494
P 5836 — 2725
P 7621 - 3587
D 51.53 - 5368



Bl THREE-DIMENSIONAL SHAPES 20

| can describe the properties of 3-D shapes.

&

Match each of the shapes A to L with one of the names of 3-D shapes.

cone
cube
cubaorid
cylinder

o Write the names of:

hemisphere sphere

hexagonal based prism square based pyramid
octagonal based prism triangular based prism
pentagonal based prism triangutar based pyramid

a) 4 shapes with curved faces

b) 6 shapes which are prisms

c) 2 shapes with 5 faces

d} 2 shapes with 8 vertices

e) 2 shapes with an odd number of

edges

f) 2 shapes each having identical

faces.

e Most of the above shapes with straight
edges have the same number of edges

meeting at each vertex.
Which shape is different?
Explain why.

o Altogether there are eight
different nets [or an
apen cube,

Can you find the other seven?

: :

o Copy and complete this table showing
the features of some 3-D shapes.

.

...... Al
g
3 |
o hin
8

e How many edges are there in:
a) a pentaganal pyramid
by a decagonal (10 sided) prism?

o How many faces are there in:
a) an heptagonal prism
b) an octagonal pyramid?



Bl DIAGONALS AND QUADRILATERALS

21

| can predict which quadrilaterals have diagonals that bisect each other

or are of equal length.

DIAGOMNALS
> >

Diagonal lines go from one
verlex of a shape 1o another.

A

o lUse squared paper.
Drawe a sguare,

Erravy on the diagonals,
A B}

qe B

o Measure the diagonals,
AB and CE. Are they of
equal length?

o bMeasure AX and BX.
heasure CX and DX,
¥Whal do you find?

o Lse a sef square.
Do the diagonaks cross
at a nght angle?

e Ciraw & reclangle.
Draw on the diagonals.

a) Are the diagonals
of equal length?

b} Do the diagonals
bisect each other?

c) Are the diagonals
perpendicular?

LINES WHICH BISECT

™
-
)
=

A

Bisect means cut in half,
Lines which bisect cul each
other in half,

For each of Ig'ie quadrilaterals
predict whelher the
diagonals:

a} are of equal length
b} hisect each other

c) are perpendicular.

OO

@
©
©
o
©
0
@

Copy the shapes onto
squared paper. Chraw
on the diagenals.
Check vour predictions.

AX. = BX
cx =D

FPERPEMDICULAR LINES

Perpendicular lines cross
ar meet at a right angle.

The lollowing lines are the
diagonals of guadrilaterals.
For each pair of {ines
predict the properties of
the shape. Are any pairs
of lines equal, parallel or
perpendicutar? Are any
angles equal? Is the shape
syrmmetrical?

{Equal lines are shown with
dashes. Right angles are
rmarked.}

o Construct the shapos.
Cheek your predictions.



C1 METRIC UNITS OF WEIGHT 22

| can choose and use metric units to measure weight.

Examples
1000g — 1kg 35009 — 3-5kg 91209 = 9-12kg
6000g = 6kg 2600g = 2-6 kg 48509 = 4-85kg

Copy and complete.
@ 30009 =| kg
@ 10009 - Jkg
© soo0g=] kg
e dkg — Dg

e 2kg —Dg
o ?kg-—lj!g
€ 25009 [ |kg
€ 35009 | |kg

@ 55009 =] Jkg
@5-5kg=!__—|g
@ 15k-" g

@ 4s5g= ¢

Which metric unit would
you use to measure the

weight of:

& alight bulb
@ a wardrobe

@ a garden spade
@ a calculator

@ a spoon
@ a dog?

Copy and complete.

€ 86000 - kg
©) 24000 -] Jkg
© 8000 =] |kg
O:1k-[ o
© 12k =] g
e 9.7 kg =Dg

@ 53000 =" kg
© 7100g-7 g

@ 6400g=| kg
D 29 = |g
@ 8-3kg —-Dg
P®org-[ g

Which metric unit wduld
you use to measure the
weight of:

@ a set of encyclopaedias

@ an egqg
@ a piano

@ a telephone?

@ Think of three things

with a weight of about:

a) 1g
b) 1009
<) 1kg.

Copy and complete.

@ 31609 - kg
€) 3909 |kg
€ 26209=] |kg
O soskg= |g
©275k=] g
Q4= g
€ 19409=[ |kg
© s1609=[ ko
€ 75300 -] kg
@ o22kg-[ |g
@ 231kg- g
@ 985k =] g

Copy and complete each
sentence by choosing the
best estimate.

() At birth many babies
have a mass of about
(0-35kq, 3-5kg, 35 kg).

@ One pound coins have
a mass ot about (1 g,
10g, 100 g).

@ hlany footballers weigh
about (70 kg, 700 kg,
7000 kg).

@ A Llin of beans has a mass
of about (0.004 kg),
0-04kg, 0-4kg).



C1 ORGANISING DATA

23

| can organise a set of data into a table and find the mode.

Example
The rmarks in Class 4
weekly spelling test.

1w 9 9 7 & B 10
o W R 8 W R
g 10 & 9 & 9 10
1M 9 10 8 9 7 9

A

The lengths in minutes of
the tracks on a CD.

4 3 5 3 4
3 2 3 4 5
X ah AN s s
5 3 4 3 o4

o Copy and complete the
frequency table for the
above data.

Length | Number
(minutes) | of tracks

o How many tracks are:
a) 4 minutes lohg
b} & minutes {ong?

9 How long is:

a} the shortest track
b} the longest track?
o What is the most

cammon length of
track?

g
1¢
g8
10

A tally charl showing the

marks.
Marks  Tally
&
7 |
Af
9 A A
10 AT W

The ages of the girls in a
Brownies pack.
SR B 9 8
JIGEREEE ae Rl
8 10 8 9 & 10
p o ngd ERESSEREI L

o Draw a tatly chart 1o

tind the number of girls

ot each age.

€ Which age is the
mode?

e How many girls are in
the pack?

The number of letters in the

first names of Class 5.

FRNEREETE 2 BT
3 5 &6 5 7 6 4
ERTE G R Rl A
45 R & 5 F

€ Draw a frequency table

to show the total for
each name length,

o How many letters is the

moge?

G How many names are
tonger than 7 letters?

The maode is the maost
carmrmon value.

Which mark is the
mode?
Answer 9

e

The highest daily
temperatures recorded in
Movember.

UL el e
L R T, R T
13 6 12 B 13 o
7 12 & 10 9 13
| P R i

o Draw a frequency table
or taity chart to find
the number of days*
each temperature was
recorded.

e On howe many days
was the temperature:
ay more than 10°C
b} tess than 10°C7

o Which lernperature
was the mode?

o What was the range
{the dillerence
between the highest
and the lowest value)
ot the temiperatures?

o Find the range for each
sct ot data in Sections
Aand B.



C1 PRESENTING DATA

1 can organise data using tables and tallies and present results in bar

charts and pictograms.

Examples

A tally chart showing the numbers of bunches of

bananas sold by a greengrocer cach day.

Day
Tuesday
Wedncsday
Thursday
Friday-
Saturday

The data in the talty-chart can be shown ina

pictogran.

Tuesday

Wednesday

Thursday

Fricay

Saturday

\::—:?' :

Tally

HEH I
ML
M
M
H W

i ".“-. ol -,\ 'i'\l
1 e |
FEYEEY
':\I Y iy
o
|!f 3 ."-/lli-f

[ T W - e G
||,:\:.|I|I|,:\'

P SE

o T L L g
)i iR E

By i
'| 11
!

LA
) )
i

I
fl"

[N
b"'l /'l 4 ;Jlﬂ'/
cf’

? e
a/f/,f/

i
j;l represents 2 bunches al bananas,

ey

Total
12

9
13
16

19

The data can also be shown in g bar chart.

20+~
14
15
144

174 —

10
8_
6_.
4
2

]

T

W Th : 5

A

24

The chitdren in Class 5 chose their favourite
fruit. Those were the resuits.

Fruit o
ST
hananas "
grap::;g =
melon A 6
- 11 .......... |

o Draw a bar chart to show the

information.

o Draw a pictegram to show the

information.

o Which way shows the information mast

This frequency tabie shows the number of
grapefruit sold each day by a areengrocer,

clearly? Give a reason for your answer.

: ....E.}ay. s e
" Monday 35

. Tuesday pr

- Wednesday it
Thursday &l

. Friday 75

- Saturday a0

Draw a bar chart to show the
information. You will necd to use a

different scale to the ane which you

used in Question 1.



Janice kept a record of how many portions of
fruit and vegetables she ate each day for
4 weeks, These are the results,

340 3 4 2 3
1. 3: 5 2 -4 3 4
224 5 1 3 2
3 4 6 3 4 2 3

o Present the results as:
a} a frequency table
b) a pictogram
) ahbar chart.

e For each of the three methods of
presenting the data, write down:

a) oneway in which it shows the
information more clearly than the
other two methods

b) one way in which it is less clear than
the other two methods.

e All the children in Class 5 kept a record
of the number of portions of fruit and
vegetables they ate each day for one
week. This information was collected to
provide the following class data.

Dlaily Portions-of | Hoe
Fruit and Vegetahles E
1 10 |

2 15

3 40
4 55 _
s | s
7 5 |

Present the above data in a bar chart or
pictogram.

25

€

The weights in grams of the 30 apples
brought to school by Class 5

165 150 180 135 120 155
125 115 145 185 150 140
160 130 165 155 145 175
140 150 160 110 150 130
155 1920 135 160 170 145

o Copy and complete the tally showing
the grouped weights.

Weignt@ | Ty | Tow |

f: A W T

101120 i 3

121-140
i_..._ < P PRy -

141-160

161-180

181--200

0 Display the data in a bar chart.

o This tabte shows the numbers of
differetit desserts chosen each day for
one week in the school canteen,

Cake 35 | 80 | 70 | 25 | 50

Fruit 60 | 35 [ 55 | 50 | 30

fceCream | 75 | 45 | 35 | 80 | 55

MEOREEERN] 45 | 50 | 75 | 55 | 7

a) Draw a pictogram to show the
number of ice creams chosen
each day.

b} Draw a bar chart to show the total
number of each type of dessert
chosen during the week.



I can multiply and divide whole numbers by 10, 100 and 1000 and use
this to convert units of length.

Examples
i by 10 units move 1 place to left/right 57 X110 — 570 300 + 10 — 30
X+ by 100 units move 2 places Lo left/right g ¥ 100 — 800 5000 = 100 = 50
X by 1000 units move 3 places to left/right 4 = 1000 —= 4000 3000 = 1000 = 3
& 8 C
Copy and complete. Copy and complele.
i e © | |x100=46000 © 70000 x| |= 700000
0 « g 220 (2] 27 x| ]=27000 € [ | < 100=200000
30 220 J : g
3136 @ 3000 © |-10=1570 © 260 <[ |=260000
Qs O 7:0 © o000 [=90 © | x10=62000
i o O |x10=-3140 © 157000+] |=1570
0 @ o0 ©® 18 x[ |-1800 O |-1000-347
© < @ 4100 @ |+1000-65 0.4930:1{1 + 1= 49300
D7 @ 8000 @ 16700+ 1670 © |-100=285
@‘ ! @ (2 Copy and complele. Copy and complete.
1000 1000 : @ Tom = |_| mm e 3-9cm =|:| mm
@3 @290{:{] ®2cm=|_|mm @D-écm=|:[mm
@ somm =] Jem @ 17mm=[ |em
312 g?ﬂﬂﬂﬂ @1ﬂﬂmm=|:|cm @58mm=|_|cm
5 000 ' =
@41] @45(}@{] ®3m=|:|cm @1-8!11 =Dcm
Copy and complete. @ 2m={ [em @ os57m=| Jem
n 1 P s0ocm=[ |m @ 243em=] |m
@DX‘I{}E}=2E}U{] @24Dﬂcm=|_|m ®9cm—mm
€% | x 1000 = 7000 @ skm=| m @z27km=] m
®|:|+1{}—64D ®4Ekm=|_|m ®ﬂ~8km=|:m
&' |+100=19 @ sooom =] [km @ 1500m =] |km
€ |-1000-8 €D 10000m = [km €) 4360m =[ [km



| can solve problems involving length.

A

o One shelf is 65 om lang.
Ancther shelf is 78cm
long. What is their tatal
length in metres?

e Lisa is 1-50m tall,
Shaun is 35 cm shorler,
Howe tall is Shaun in
metres?

e Gary needs 10 pieces
of ribbon. Each piece
must be 50cm long.
How many metres of
ribbon does he need to
biuy?

o A maching makes a
staple from 20 mm
of wire, How many
staples will it make
from 50 crm of wire?

o Grace walks B0m in
e minute, How far
does she walk in ane
hour in kitometres?

@ Ethan's middie finger is
T10-%cm long. His ring
finger is 9 mm shorter.
How |long is his ring
finger in centimetres?

o A square field has a
perimeter of 1.2 km,
How long is onc side of
the field in metres?

o A cyclist travels 2km
in eight minutes. How
far in metres does she
cycle in one minute?

e lacob jumps 1-25 m.
The winning jump is
17 em higher. What
is the height of the
winningsjump?

e A golf hole is 0-43 km
long. A golfer drives
the ball 264 m. How
much further doas he
have to play?

o There are 24 tiles in a
stack. Each tile is 8 mm
thick. How high is the
stack in centimetras?

o Each paper tissue is
20¢m fong. How many
metres of paper are
needed to fill a box
with 150 tissues?

€ swartis 1-28m tall.
His father fs 38 cm
talier. How tall is
Stuart’s father?

o The top shealf is 26cm
long. The two lower
shelves are both 64 cm
long. Yhat is the
cembined length of the
shelves in metres?

C

o Samantha saws four
strips of 52 cm from a
3m kength of wood,
Howe long s the wioad
that is left?

e A tabfe has a perimater
of 53 m. ILis 68 cm wide,
What is its length?

e A set of encyclopaedias
takes up 26.cm of
shelving. Each volume
is 32 mm wide. How
many encyclopasdias
are there in the set?

e An athlete trains by
runting 300 m eight
times and 200 m six
times. How far does he
run in kilometras?

€© A mineshaft is 0-78 km
long. A further 367 m is
drilled. How |eng is the
mineshaft in metres?

e A candle is 12 cm tall,
36 mm is used, How
lang is the candle that
is left in centimetres?



I can estimate and measure lengths and work out the perimeter of a
regular or an irregular polygon,

Examples a b c
|

a=27mm=27cm

; T i
CRLLLAR) AR A L L e s L U 2 b = 54 mm = 5-4cm
¢ 1 7 3 4 5 & 7 8 § 10

c=8lmm==287Tcm

d e [
| | d=13cm
1 LA X e =48cm
| I | I l"- I | I|I".'T|T|'| ] il “ im _
6 *~ ¥ % & & & ZT B % W f=76cm
4-2em 1-9cm
1-4 £m
idom
2Berm i-ﬁcm 3lem
: T.7em
hem 4.7 e 5-3cm
Perimeter Perimeter Perimeter
{35 x 3cm (42cm = 23+ (2.85om X 2) (1.6 +14+34-17—-53—-31)cm
10-5cm 84cm + 55cm = Tdem 16-8ocm
Read the measurements shown on each scale,
d ©

o I ;
Rl ey
i E Ml

e L LR LY A AR AR A D YRR LA RRLAR LA AR R AL R
0 10 20 30 40 A0 Bl 70 Al G 100

Measure each line to the nearest miilimetre.

= |

I —-

i

,_,_
L

©00000



o For cach shape:

a) measure the sides to the nearest mm

k) work out the perimeter.

For each of the lollowing lenglhs:
a) estimate the measurement
b)Y mcasure

) work out the difference between your
estimate and the actuat length.

€D the width of a book

o the fength of a finger nail
@ the height of a chair

o the length of a display beard
G the length of a drawing pin
o the length of a radiator

e the thickness of a shelf

e the length of a corridor

29

C

o For each shape:
a) measure the sides 1o the nearest mm
by work out the perimeter.

(@

For each of the lollowing cbjects:

i) eslimate the perimeter

by measure the sides and work oul the
perimeter

¢) work oul the difterence.

o a tahie
o a boak
o a mat
a a door

G a sheel of A4 paper
o 8 stamp or sticker
e d st sguare

o the playground




| can use a set square and a ruler to construct squares, rectangles and

right angled triangles.

Use a set square and a ruler to construct each shape.

All angles are right angles except where shown with an arc as in this example. i3

All lengths shown are in centimetres.

A

Construct each shape and check
that the opposite sides are equal.

[ 1) 3

& 6
G
4] 5
4 4
5

o Construcl a square with a
perimoter of 16 cm.

o Construct a rectangle with
a perimeter of 18cm and a
longest side of 6 cm.

e Construct a rectangle with
a perimeter of 20cm and a
shorlest side of 2 cm.

Construct each shape and
measure Lhe length of the

diagonal to the nearest mm,

o : 5

%

B

o a square with a
perimeter of 14cm.

o a rectangle with a
perimeter of 17cm
and a lengest side of
4-5cm.

Construct each triangle and
measure the length of the
longest side to the nearest
M.

Construct each shape
and measure the length
of the diagonal,

3.4

6.2

e a rectangle with a
perimeter of 20cm
and a shortest side
of 4.7 cm.

Canstruct each triangle
and measure the longest
side.

1.8

24

or

[ 30°

8
9 Construct the
irregular pentagon.
Find the height of
the shape.




| can use a calendar to find the day of the week for a particular date and
to find how long it is between two dates.

30 days hos september,
April, fune and Movember,
All the rest have 31,

Save for February afone,
Whickh has but 28 days clear
And 29 in each leap vear.

A

How many days are there in;
o March

€D Apri

o bay and June

o July and Augusl?

Su M Tu W Th F 3a

o R
S S o s i i
14 15 16 17 18 19 20
21 22 23 24 25 28 27
28

o Look at the calendar.
Is this a leap year?
Hawe do you know?

@ on what day will these
children have their
birthday?

i) Gavin — 4th February
b) Kate — 23rd February
¢} Davina — 6Lh March
d) Amy — 315t January

o lack’s birlhday is on
the first Saturday of
February. Rose's birthday
is one week later, When
is Rase’s birthday?

e Half term starts on
Friday 23rd October.
it lasts one week, What
is Lhe date ol the lirst
Monday back at school?

Leap years occur every four years.
The years which are leap years are
easy Lo remember because they are
multiples of tour: 2004, 2008, 2012,

et

Whal will be the dale lwo
weeks atter:

@ 22nd Apil

e 18th September
9 25th December
@) 19th October?

MARCH 2011

Su M Tu W Th F Sa.

1T 2 3 4 3
& 7 B 9 1011 12
13 14 15 16 17 18 1%
20 21 22 23 21 25 26
27 28 29 30 3

Use the above calendar,
On what day of the week
do Lhese birthdays fali?

o Leon -- March 13th
G MMeera — March 23rd
o Marc — February 25th
€ 1udy - April 10th

e Write out Lhe calendar
lor Aprif 20711.

@ Christmas Day is a
Tuesday, What day of
the week s New Year's
Eve?

C

Vi'hat wili be the date (e
weeks alter:

& 10th October

e &th |une

o 28th November
@ 26th March?

JANUARY  2015]

‘Su M Tu W Th F Sa
: 1, 2
B RIS T
P11 12 13 14 15 16 17
{18 19 20 21 22 23 24
|25 26 27 28 29 30 3]

On which day will these
Saint's Days all?

9 St. Stephen’s Day
December 26th 2014

o 5L David's Day
March 1st 2015

o 5t. Andrew’s Day
Movember 30th 2014

o How many complete
weeks and days left
over are there in a non-
leap year?

On whal day will tali:

o January 1st 2014
@ lanuary 15t 20767



I can use am and pm for 12-hour clock times and convert these to
24-hour clock times.

Examples

Analogue clocks have faces.
Read the minutes as:

past before 30 minutes

to after 30 minutes.

Digital clocks have fi Iy.
Ao

as minutes past the hour.

12-hour clock time uses am and pm. morning evening
am means before 12 noon. ! 8:22 am 6:48 pm
pm means after 12 noon.

24-hour clocks always have four a0,
digits on display. Midnight is 00:00. I B EE m

A

Write each time shown to the nearest minute:
a) in words b) in 12-hour clock time using am and pm.

4‘. .
(g €S

® 5.
»

b

afternoon nlgh[ alternoon morning night
e 9 * e =
lunchtime evening morming afternaon evering

® T O 7 O o
EY ) €

mﬂmrng EVENing night hrE' aktast mornlng

B[ 4R SSoRC( o3 N oo S 1 15)

night marning morming night mMorning




o Copy and complete the table.

TIME N WORDS 12-HOUR CLOCK, 24-HOUR CLOCK
quarter to eight in the morming 7:45am 07:45
20:30
10:35
03:52
14:24
4:08 am
16:1% pm
235 am
&16pm
28 minutes past 11 in the morning
7 minutes to 7 in the evening
4 minutes past 1 at night
12 minutes to 4 in the afternoon

9 For each of the above times work out how many minutes there are to the next hour.

¢

Write each time shown Lo the nearest minute:
a) in words b} in 12-hour clock time €} in 24-hour clock time.

e O O 7 ©
o - £

Eee=

- 5; w AF W

Mg aftermoon night night nifeg
hi * + . - -

O( ) @50y OCez) @(ex ®(e2l
FTIEr g allermoeon lunchtime EVERING suniise

m For each of the above times work out how many hours and minutes there are to midnight.

@ Copy and complete the table, changing 12-hour clock times to 24-hour clock times.

T, e PR ST e T

nd {March6th | Mayist | July3rd | Sept. 4

806am | 6:36am | 5:34am | 449am | 6:17am | 7:02am
: 4:03 pm | 5:49 pm B:23 pm l 9:20 pm | 741 pm | 4:26 pm
" 7h 57 mins. | | L |




| can read and plot co-ordinates and find the missing points of shapes.

596 T e | The position of a point on a grid is given by its x and y co-ordinates.
4-5 A K B Examples
34N @ Bz Point Ais {1, 4). Remember;
Point Uis (4, 1). The x co-ordinate always comes first.

27D M=t Point D is (0, 2).
1 W R H U L
glE & T ®

g 1 2 3 4

A & C

Use the akove grid. Use the above: grid to write o (1, 3) (3, 5) and (4, 0)
Which letter is at point: the narhe of: ar:E thrr—:{;: vertices -:::[ a

o (5. 1) e (3::3) o your teacher rectangte. What is the
03 0o &) your favourite colour lourth vertex?

¢y @en © 2 pop group © AL, 5)
a (2 U‘} 9 {5 0) o a football team. B, 4)

o A2, &) B
Give the position of:

‘D
{2, 1))

The above shape is one
half of a symmetlrical
pentagon. AD is the
line of symmetry. Find
the co-ordinates of the .
two missing vertices.

0 .9 (10,9 and © o /

(5, 4) are three vertices

@ c D

Write the co-ordinates
of points B and D.

07, 2)

Draw a 5 ¢ 5 grid.

Plot the points for each of ! i
the following shapes. join of a square. What is the Hoce
them up in the order given. fourth vertex? ;
Lise a different colour tor 0 C
each shape. A4, B) al Point X is the mid-
oint of line AB.
ey @oo B(10, 5) e
Ei f:;; Eg“ 33 co-ordinates of X.
(2* 1) {ﬂ'; 0) - = b) Line XC is parallel to
’ : AR is one side of the the y axis. Give the
Doy @62 right-angled triangle co-ordinates of C.
(0, 5) (5, 4 ABC. Give the ¢) D is the fourth
(2, 5) (1, 4) co-ordinates of point vertex of square
{2, 3) 0,23 C. How many solutions ABCD, Give the
fa, 3) 5, 2] can you find? co-ordinates of D,



) can use multiplication facts to multiply and divide multiples of 10 and 100.

B

Copy and complete.
o|_|><5—45

O |x9=136

€[ x4=28

O <7-35

O |xe-72

O |x6-48
@[]-2-o
6D+?—?

O ]:5-s
©[1+:-9

® -2
®:+8=3

Wiite the answer only.

Pooxe € 32008
@ oxe0 €D 1802
P soox3 € 5600 - 70
Bsxo0 €D 28000 : 400
B 70080 £ 300 + 60
O 3x700 € 6200 - 90
@ 60 x200 € 4000 = 500
@ sox90 € 14000+ 70
P 2x80 € 5400+6
€2 700 x50 €D 210 - 3
@ oox7 €D 2700 + 90
D40 x60 € 483000 = 800

&

Copy and complete.
O [x7=20
[ |x20=1400

€ [ | x900= 354000
O | | s0=24000

© ] |x50=300

O ]xs-s600
o-:i+9ﬂ—zﬂ

© |-4w0-2
el:+?—60
@LJ+6DG=
0|:|+3'D—-9E}

B[ |80 -500

Write the answer only.
Psxods G109
Qox07 355
Bsexo2 Goa:8
Doxoe 30:6
Pex0o9 36+4
P3x06 a9-+7
QPooxs E@i2.2
@ozxs €369
Bosxo &asss
Poax?r @i1s-3
Poex3s €Hz4-8
o7x6 €Pa=3



I can multiply and divide TU by U by using partitioning or by using factors
and | can suggest linked division calculations with the same answer.

Examples

BY PARTITIOMNIMNG

53w & 78+ &

50+ 3)x6 (60+18)+6

300 118 10+ 3

318 13
Use partitioning to work out.
Q1323 @34+2

€ i1sx3 @605
€©24x3 @ 39-3
Qi2xa @ 564
© 9x4 @ 46+2
O x4 @755

Copy and complete to work
oul.

B 7x6-Fx3x%2
@9%:8—(9}14);{2
B ox6-9x3x2
Deo:a=-(60+2+2
@ sa-6=(84+2)+3
D wos-12-(08=2) =6

Lse a calculator,
Copy and complete.

® e[ |=38

Qs |-
€D 32+ -8
@16+ |-8

€5 Find similar linked
calculations.

LISING FACTORS

15%x6 90+ 6
15%2x3 (90+3)+2
0 %3 30+2
Q0 15

B

Use partitioning

Q3 @sa+6
e_%xj' o 76 4
€ 246 @ 78+

O 24x7 QPoa+2
© <8 o2
©::2x9 Boz2-4

Use factors to work out

P1sxs P 128-8
Qr2xs € 18012
B 13x12€) 126+6
Pox14 12015
1729 €O 210+14
Dox1s O 252-18

Use a calr.u!ator:
Copy and complete.

€D 1200 <[ |-50
€ 600 = =50

€ 300+ |=30

@ Find similar linked
calculations.

LINKED CALCULATIONS

M2 =16=7 1120 =16 =70
56 +-8=7 360+ 8 =70
28+4-=7 280 - 4 =70
14=2=7 140+ 2 =70

C

Copy and complete.
@ <6=2372
© x7=119
€ [x8-344
Q[ x<9-207
© x6-264
0O |xs5=208

Use factors to work out

€:x16 @ 1892
© 1225 P 288+16
© 17x21 @ 30618
@ 13 <24 @ 240+ 16
Dox27z @ 27015
& 2518 P 780+ 26

Use a calculator.
Copy and complete,

@ 2160+ =60
€D 1080+ |-60
€D 540+ |=60
€ 180+| |=¢60

@ Find similar linked
calculations.



| can use mental methods to solve problems involving multiplication and
division.

A

< 5 6 )

Look at the above numbers.

o Which numbers are

factors of:
a) 30 c) 45
by 18 d) 487

€ what is the product of:
a) the two largest
numbers

b) the three smallest
numpers?

o Make two sguare
numbers using the
above digits only.

Wite Yes or No

© is 78 a multiple of 27
© s 42 a muttiple of 37
© s 54 a mulliple of 42
e Is 72 a multiple of 67

Complete these factor pairs
of 90.

©| |and2
e uand 15

@ Find all nine factors
of 34.

0 Find all six factors of 92,

@ Find a number that is
a multiple of both 3
and 7.

B8
3 5 # 8

Use the above digits.
o Which numbers are
factors of;
a) 75 ) 84
by 56 dy 1207
e What is the product of:
a) the three'largest
numbers
k) the three smallest

rruriferss

o Use the above digits
to make 2 two-digit
multiples of:

a) 19 b) 29.

0 Find two common
multiples of:

a) 4and 9
b)Y 5and 13.

o Find all the factors of;
a) 48 by 76.

e What is the smallest
number with exactly:

a) 3 [actors
b} 4 factors
c) 6 factors
d) 5 factars.

o What is the largest

two-digit number with:

a) only 2 factors
b) only 3 factors
c) only 4 factors.

G

o What is the smallest
number that is a
common multiple of:

al Zand?d
b) 4 and 6
¢ 10and8
d) 9 and 127

@ Find the highest faclor
shared by:

a) 28 and 42

b) 48 and 64

¢) 36 and 60

d) 54 and 90.

€ Find a two-digit

number with exactly:
a) Bfactors

b) 10 factors

c) 7 factors

d) 9 factors,

@) what is the largest
two-digit number with
exactly:

a) 10 factors
b) & factors
<) B factors
dy 5 factors?

1 2 5 7 2

€ Use the above digits.
Make as many two-digit
numbers as you can
that are rmultiples of:

a) 6 b) 4 ¢ 3.



| can multiply HTU by U and TU by TU.

Examples

273 273
* B x B

Ta0d 200 = 8 2184
560 70 xB W
. 24 Ix8

*3)17]) 5]

a) Use each of the
above digits once
only, Find the six
different ways you
can complete this
calcutation.

anE
b) which calculation

gives you the

largest product?
o) Which gives

you the smallest

product?

46 46
% 28 X 28
200 40 x 20 920
120 6x20 368
320 40X 8 1288
48 a6x B 1
1288

B r

Work out

@ Find the largest two-digit
number which, multiplied
by itselt, gives an answer
of less than 500,

®[z]5]

|
s

a

a) Use each digit once
only. Find all the
ways to complete
this calculation.

Ll ] ]

b)Y Which calculation
gives vou the largest
product?

c) Which gives you the
smallest product?

See page B5
for grid method
46 % 20 for TU = TU.
46 % 8

Work out

€ 18472 € 12819
© 2792 x4 Q) 247 x 26
€ 2537 x5 @ 171 x34
© 4361 x3 B 36538
© 19367 @ 19245
O 2648 <9 P 436 x 18
€ 1349 x5 P 259x 52
0 2750x8 @ 3782

@ Find the smallest two-
digit numibzer which,
multiplied by itself, gives
an answer of more than
5000.

@ What is the largest
product you can make
usings:
ay 2 two-digil numbers
b} 2 different two-digit

numbers?

@ Find two consecutive
numbers which give a

product of:
a} 306 ) 3192
by 1122  d) 8S556.



| can find other fractions that are equivalent to a given fraction.

A

Write the equivalenL
fractions shown in each pair

of diagrams.

2
Example 5 =7

&

i

\

43

L

@

@5"@

0
I
0
I
0
|
0
|

1
|
1
|
1
|
1
|

Use the number lines above.
Copy and complete the
equivalent frg:ﬁtiﬂnﬁ_

QG

4 16 4 16

Jsmnl ] 3 O

8.-7 O0:-%
°l=Q =B

( B2 1a 2z 4
V' O:-¢ el
| I 3T
ef':ﬂ el B

i1 16 -] &

Gl:J cree |

T IR

0 1
1 i ! |'§

L] 1

| I i I i |

1 1

[y [rep b ]

1 1

i el L |

Use the number lines.
Copy and complete.

2_® 3_ A

3 9 ‘I; o 3
5. T
f BT @12 ]
1. FledE
®:-F Di-&

rieeal Bt
ety 22 R

2 + H i (M

3¢ g @E‘E
e i e
@5 o @12 3

Cc

Copy and complete the
equivalent lractions.

2w
5 40
3_ 0
4 1a

18 O
25 0
s= 0
77 T4

pldise
15 3
QLuz-¢
20 5
e L]
16 Z
2o _ O
I 20
s m
18 3
T
20 4

Cantinue these fraction chains
for four further terms.

1=2_ 3
6 e T
24 _ 0
5 18 13

Write three more fractions

equivalent lo:
©
D3



'F1 EXPRESSING FRACTIONS

| can write a number as a fraction of a larger number,

Exomples
Whal fraclion of 8 i5 27

For each diagrarm copy
and complete the number
seniences.

(11
] (1 (0 1

® 10=] Ix2
€ 2is[ |of10

LEL]
S s o | R

09.=L|x3
(4 ESHIEE:
@

50 0 3 T
oﬁ=[__!><4
O 1is| lofs
LL]
EeAERE ]

@o-[ |x2

€ 2] Jois

i}

] o S )
€ 12-[ |x3

@ 3] Jof12

Whal fraclion of 18 is:
a) 3 by 127

a) 3isof 18 (1 column)
b) 12is £ of 18 (2 rows)

_What fraction of 15 js;
a) 3 ) 4
by 5 dy 107

2]

What fraction of 32 is; '
a} 8 <y 4
by 24 dy 127

o What fraclion of £1 is:
ay 10p <l 35
by 25p d) 80p?

o What fraction of 1 km is:
a) 50m o 250m
by 200m d) 730m?

o WWhat fraction of 1 day is
a) 1 hour
by 4 hours

£ 6 hours
d} B hours?

What fraction of £7 is:

a) Sp b) 15p?

a) L1 —20x 3p

Spis 4 of £1.

b) 15p — 3 % 5p
15p is 2 of L1

c

& what fraction of 50 is:
a) 5 c) 20
by 10 d) 457

e What fraction of 60 is:
ay 10 o} 25
b} & oy 127

€ vhat fraction of 48 is:
a) 8 ¢} 36
by 12 d) 302

o What fraction of £1 is:
ay 2p ) 99p
by 45p dy 12p?

e What fraclion of 1 km is:
a) 20m ) B00m
by 125m d} 30m?

e simon is driving 400
tniles, In Lhe first
hour he drives 50
miles. What fraction
of Lhe journey has
he completed? Whal
fraction is left?

€D 2 bay of flour holds
2kg. 2509 is used.
Whal [ractior is Ieft?



I can find fractions of amounts.

Examples

1 .
lof18 =18 +3

2 - ;
;of 18 = (18 = 3) = 2

=6

=6 %2

—12

A

Use the array to help vou
find the answer.

Find | of:

D 2 € 36m

Find

-5 of 60
© ;oo
© .of6,
o %ﬂf 16

© .ofs0
e %of 50

]
ED‘FET

© oz

e %Df’lz
O 2of3s
@ Zorzr
B - ofso

® :of 70p
@ Zof2sp

S of£16

D 2ofc24

) :of30cm
@ {of18cm
P ;of4om
@%afﬂ m

20f 90 = (90 + 5) > 3

=18 % 3
= 54
Find
21
ﬁﬂf‘*”'l

©) 2otr42

€ Zof 63 litres
o Of T metre
2 of £5-40

B ofss

€ :of400g

421
1oog OF 2km

o A cake weighs 640 g.
It is cut inta eight
equal slices. Five slices
are eaten. What is the
weight of the cake that
is left?

@) There are 72 children
in Year 5. Four ninths
are girls. How many
boys are there?

@ A bucket holds
2.5 litres of water.
Three tenths spills out.

How much water is
left?

@ A TV programme is
2 hours long. Two
titteenths of the
programme is adverts.
How long da the
adverts fast?



I can solve problems involving fractions using a calculator if needed.

Example . o

There are 352 people on a plane flying from 52=16=22

London to Sydney. f; of the passengers are o 22 X9 =198

Australian. How many passcngers are Australian? ﬂ Answer 198 passengers are
' Austrafian.

A

o A ribbon is 40 cm long.

" One fifth is cut off,
How long are the twao
pieces of ribbon?

o There are 20 biscuits in
a packet, One quarter
are eaten. How many
biscuits are leli?

o A baker makes 48
cakes. One sixth are
not sold, How many
are sald?

0 There are 30 children
in a class, One tenth

are absent. How many

are present?

o A class of 24 children
vote for their favourite
pet. One third choose
hamsters, One guarter
choose dogs. How

many children vote for:

a) hamsters
b) dogs
¢) other pets?

o There are 36 safety
pins in a packet, Three
quarters are used. How
many are left?

9 Kelly drinks seven
tenths of a 1 litre bottle
-of water. How much is
left?

a A piece of wood is
35 cm long. Harry saws
ofl two fifths. How lang
are the two pieces?

o Penny’s mother
weighs 60 kg. Penny
weighs twao thirds of ©
her mother's weight?
How much does Penny
weigh?

o A long distance
footpath is 312 miles in
length, Mike walks five
eighths in twa weeks.
How much further
does he have to go?

G One mile is 1760 yards.
What is eight elevenths
of a mile?

o There are 448 people
at a panto. Four
sevenths are children.
How many adults are
in the audience?

C

o A can of cherries
weighs 480 g. Five
twelfths of this is the
weight of the juice.
What do the cherries
weigh?

€) A crowd of 48357
watch a football
match. Two ninths of
the spectators support
Arsenal. How rmany
pecple in the crowd
are Arsenal supparters?

o Three gighths of a 5kg
bag of potatoes has
been eaten. How much
is left?

e Hamid has a 750 ml
bottle of juice. He
pours twao fifths into a
jug and one sixth into
a glass. How much is
left in the bottle?

@ Helen’s book has 285
pages. She has read
four fifteenths. How
many pages has she
read?

@ What is two thirds
of three fifths of one
metre?



A2 PARTITIONING DECIMALS

43

| can partition decimals using both fractions and decimals.

Examples

Fartittoned using decimals
Partitioned using fractions

.\
Wite as a decimal.
0 07

9 51'45 9 o

9 1|3ri 9 3126
OF O5
9 9110 @ 31!'36
O+ @

Copy a nd complete,

Bos+[ i-07
D15, =17

L ok T
2.8 = 2= 2-85 = 22
2+ 08 2+08+

5 8
2+ i 2| ot

Partition using decimals.

o an, o ?H]ﬂ
0::% 035

B 453 @ 706
D745 €D 1143
BHoiz € 404
D77 € 2362
®sos B oss
Dozt eos

Copy and complete.

3231 |=326

D137+ |=187

€) o065 +[ |-067
) 412+ |=472
2 673+| |-68

& os1 [ =03
@276 |=271
B so3-[ |=833
@Dr82-[ |-152
@ o6s- |=064

B56
2856 = 2.6
- 21 08+ 005+ 0-006
: E‘- i
2 - I;CI ; 1000

¢

Write as decimals.
£ [+ 1
02 ' m*mu b a0
ol o b B
o '5 + 1DD mﬂCl
o B 'II.'HII{I

us 3
+moo

AL B

9?+ _u 000

D
e‘“m 1.;:1[:.[‘;‘

Partition using fractions.

Copy and complete.

D os3i] [=0536
€ 2.008 ~] [=2938 .
€D 4072 +] |- 408
€ 1653 +]j— 1-853
¢5) 5.824 + [ |- 5.884

P 0642 - [ =044z
D 1719-] |-1.714

€ 6256 —| |- 6246
€ 3983 |-3.083
& 2407 | [-24



A2 DECIMAL FRACTIONS

| can express a fraction as a
decimal and say what any digit in
a decimal is warth.

Examples

three tenlhs

: 43
o W o= 02

fifty-seven hundredths

5§ &E
S oA

The value of a digit depends upan its position in
a number.

Each digit in a number is 10 times higher than
the digit to the right. This applies to decimal
fractions as well as to whole numbers.

1 1 1

TU"’J‘G 1600 1000
=300
3= 3.0
3 _
e .3
i _
90~ ¢-0 3
i
S== 00 0 3
1 1 |l
TU-5%5 75 Tam
2 =2 4.0
i
2= 2-4
24
Tta -2
24
1066 -0 2 4

A

What part of each shape is shaded?
Write your answer as a fraction and as a

decimal fraction.

&
&

&
&

o Write each number shawn by the arrows
as a decimal fraction,

i

B
|
¥
(e |

Wirite cach of these numbers as a decimal

fraction.

10R
1n

U RED 14

& £

O 105
& 175
@



Express the shaded parl of each diagram as a
fraction and as a decimal fraction.

© | L (4 JEE

Write each number shown by the arrows as a
decimal fraction. -

o A B & F r

il | denl (o

i e s N R el S
1

cHo1
l. 1 15 |
Tl TR T ]

-
-

=
s L i)

Give the value of the underiined figure in
each of these numbers.

Give the next five terms in each of these
sequences.

@ o-01, 0.02, 003, 0.04, 0.05
€5 1.0, 102, 1.04, 1-06, 1.08
€ 192,193,194, 1.95,1.96

) 091, 0.93, 095, 0-97, 0.99
€9 06,065, 0.7,0.75, 08
€2 407, 4.06, 405, 4-04, 4.03

45

C

Example
| 1 1

G g B W
4+t Tou T Too0 mnu U 49 oo Thaa

Write the decimal fraction shown on each
abacus.

Loale e o
o U 75 Too:000 U |n |cu mn

Ay Sl i
_e U 55 7on join

2
=l=

oie @ bk
on 1000 U 1% Foc 7060

G 1 T:J 1:56 B = Al
'i%' i mu mnn i |:|
fot ]:| = 0.906

Qs+ ]+:2 5032

Write these numbers as decimal fractions.
3 168

m 100 @ 7000 @ zmnu
263 72
100 1000 ® 1I.'TII:I

18 45% e
@ 11:::& Toud @ 1m::u::u

Cive the value of the underlined figure in
cach af these numbers.
€ 41.618

@) 6472
D 11109 €Y 1972
€ 3333 € 3.065



A2 Xx/+ DECIMALS BY 10,100,1000 46

I can multiply and divide whole numbers and decimals by 10, 100
and 1000.

Multiplying — digits move left
Dividing — digits move right

/= by 10 — digits move 1 place
*f= by 100 - digits move 2 places
*/+ by 1000 - digits move 3 places

Examples

0:36 X 10 = 3.6
0-36 X 100 — 36
0.-36 x 1000 — 360

125 + 10 =125
125 - 17100 =1-25
125 + 1000 = 0.125

A B G

Multiply by 10. Multiply by Copy and complete.

© o5 © 35 100 1000 Q@ |xw0-38s

© 24 O 218 © cois - @ 0339 @ |:100-00

€ oos © 500 Qo @ oo &5 |, | % 1000 = 7110

Q172 o2 @203 @14 © |=10-0305

Qo3 @ o3 [ 4 ) @ o002 © |x1w00-45

O o9 @ 043 g “'gﬁ g Z'” @ [ <1000 -005
5- 5 :

” @ s2x] =630
Divide by 10. Divide by e 2.8 & | | = 0.28
iy e 100 1000 © o057 x| |=570
Ds 20 @ O - D 46| |=0.046
D15 & 41 D oosx |-04

Q472 ) 45300 ==
Qo4 e 03 ® o3 D 16 B |-o003
@ ¥ @ 2 @ 189 @ = Work out and write each
@ 2:5 @ 2 @ 63 g 1306 answer as a decimal.

® il s @ ane tenth of two tenths

Copy and complete.
e |x10=7
[ Ix10=16
€[ |x10=409
[ [x10=52

®D+1D'—D~B
€[ |-10-003

Copy and complete.

[ |x10-269
D[ |+100-74
[ |x100=s10
€[ |+-1000-358

o7 x] |=700
€ 08 =[ |=008

@ one hundredth of a
half

@ one thousandth of 100

What number is:

@ 10 times larger than
nirte hundredths

@ 100 times larger than a

: - quarter
@[ |<10=15 €@ 901 x| =901 (> 1000 times larger than
@[ |-10-029 € 10 :[ [=o00 one half?



A2 WRITTEﬂ;;:METH{I[}.nFQii?ﬂiﬁfﬁi«?lij)N | a7

I can use a written method for addition calculations including numbers
with one or two decimal places.

Examples
8.7 87 8.79 1-6 + 0-63 1.6 Line up the
| 3-4 | 345 + 3-45 + 0-63 decimal points.
12.24 2:23

12-1 1215

A

Copy and complete.

@ 25 @ 523

+38 189
e'?z Q +7
deis A0
e’ 5.8 e""'ié 4
+ 45 | 27
0’"*194:: 9”"-_5376
+7-6 + 94
ef‘ 437 - 478
| 9:2 1167

@ Narma walks 11-6km
in the marning
and 87 km in the
afternocn. [low far has
she walked allogether?

(B A bath is filled with
39-4 litres of hot waler
and 17-8 litres of cold.
How much water is in
Llhe balh?

Copy and complete.

674 @ 507
galkics it
493 @ 125
+2.3% + 7-83
© s4 @ 389
o el
O 8 O 362
12:75 I 1.8
© 784 @ 200
+29-3 1 14:5

m larvis weighs 36-4 ka.
His father weighs
25-65 kg more. What
does Jarvis” father
weigh?

@ Tania buys a present
for £8-79 and a card
for £1-25. How much
does she spend?

@ Kerry throws the javelin
48-5 metres. The
winning throw is 6-33
metres longer. What is
the winning throw?

Set gut as in Lhe examples.
@ 45 189

€ 587+ 29
€ 7094 1 284

© 576975
©143-38

0 592+ 436

@ 67051183

€ 157 + 064
€) 1368 + 956
O 454+379

§l) There is 12.9 litres of
petrol in a fuel tank.
17-83 litres is added,
How much pelral is in
the Lank now?

@ An athlete runs
487 krn in one week
and 16-45 lkm further
in the next week. How
far does he run in the
cecond weal?




A2 WRITTEN METHOD FOR SUBTRACTION 48

| can use a written method to subtract three-digit numbers and decimals.

Examples

COUNTING UP DECOMPOSITION (TAKE AWAY METHOD)
472 47.2 472 — 169

—-169 16.9 _ 612
BT i eI 400 + 70 + 2 = 400 + 60 + 12 472

i ~100 - 60+ 9= 100 . 60 + 9 169
272 =472 27-2 =472 P T
= == 300+ 0+ 3=1303 303
303 30-3
T S
Work out Work out Selout as in the examples.
361 @ 864 © 07 Q 5 @ 52742823
—222 - 647 —43-1 —1.58

€ 8609 — 14.56
508 @ 725 © 94 @ 3¢ € 7583 —21.74

—472 —309 —26-8 -2-07 o s et
715 @ 380 © 328 O 874 © 184 - 4637
—306 ~24] =13 430 0 9069 — 54.99
473 @ 53 QO 452 @ 577 Q 5495 - 3.927
—249 -175 -36-1 ~2.91 €) 2807 -1538
O 84 Q o657 O 783 @ 436 © 5026 — 4246
291 —383 =15 —3-84 D 5371 - 3537
; 95.09 — 28.2
m The Taylor tarnily @ A sack of coal contains 0 v 4
bought a new 46-4 kg. 18-5kg is @ /842 — 5.-756
computer in a sale. removed. How much
= ol B
The price of L832 was coal is left? @ Rayan runs the 200
ey B o @) Jessica has £7-35, metres in 23-24
mu{;h did the Taytors Tom has £2.69 less. seconds. The winner
pay: How much does Tom runs 0-57 seconds
hava? faster. What is the
@ Karim furmps winning lime?
2-16 metres. Ollie @ Carmen has £83.27.
jumps 1-38 metres. She spends £25.93.
How much further How much does she

T L L O — - does Karim jump? have left?



A2 MULTIPLICATION FACTS

49

| can use the multiplication facts up to 10 x 10 to x/+ multiples of 10 and 100.

)

What is

B

Copy and complete.

@ 1x5=35

O 1x7-56

© 1x4=36

O [x8=4

O |x6=18

@ |x9-=63

Q[ -2

O] s-6

O |-9-s
®1:7-
®]-s-+
@[]-3-7

Write the answer anly,
Poxe €@ 210-+7
@osoox2 €D 3000+5
®oooxs € 540 -6
Prox?7 €sloo-09
@ s0x3 € 2400 + 4
B ooxe €D 640 -8
B 3x900 € 4000 : 80
WHsxso & 28040
21 R €D 1400 - 70
D exeoo € 360 =60
@ 5x80 € 2600 =90
@ 7x €180+ 20

C

Copy and complete.

O |»s-40

€ |<4=160

© [ |x2-5400

O [ |x70-3s00

O [x20=140

0 [ |80~ 5600

@ ]j-7-%80

© [-3-600

© |:-6-70

O 80-40
@]j+5n=9

® 9050

Write the answer only.
Pooxs € 7xo7
Qosxs EPsxos
Doix7 €P3xos
Poixe E)sx05
Qosx2 Esxos
Dorxs @ 3xo0
D1e-8 E@o63+7
Ds4:6 EP12:2
@z21+3 €81+9
& 42-7 € 32+4
B 72:9 €D36-6
D355 EH24:8



€ 255

€ 236 <23
€ 4314

A2 MULTIPLICATION (TU X U) 50
I can multiply a two-digit numbers by a one-digit number.
Example 46 < 7 an + 6 an+ 6 46
46 X7 — (40X 7) + (6 X 7) % 7 . 7
-280+42 | 280 280 (40 X 7) 280
- 322 42 42 {6 x 7) 42
322 322 322
Work out Work out Work out
@ rsx4 © a7x2 @ 9x2 @ 184x7

D 236 <8
@ 227 <9

© 57 <3 O ssx6 @ 335x7 Q2255 P 28456
©:2x7 ©w6xs P sox9 © 137 x5 @ 257x7
6 MERE: O 279 @36xs 0 1s2ca P 193x5

o There are 18 slices of
bread in one loal. How
many are there in four
loaves?

@ There are three classes
in Year 5. Each class has
27 children, How many
children are in Year 57

m Peter cycles 34 miles
every day. How far does
he cycle in 5 days?

@ There are 48 egqgs in
one tray. How many
egqs are there in six
trays?

® Cne bag of crisps
weighs 34 g. Whal is
the weight of a pack of

nine bags?

Maisie has read one
third of her hook.

She has finished page
86. How many pages
are there in her hook?

@ One oo cream cosls
95p, What do five cost?

€ 345 %3
© 158 x5

P 185x8
D 265 % 5

@ One ticket ta fly to
India costs £359. What
do eight tickets cost?

@ One can of sardines
weighs 126 g. What do
sbx cans weigh?

@ Lalita earns £457 every
week, How much does
she earn in four weeks?



A2 WRITTEN METHOD FOR DIVISION 51

| can divide a two-digit number by a one-digit number.

Examples
BE 5 186 + 5
Estimate first. BH6 - 5=(50=25)+ (36 + 5) 86 186
5x 10 =50 =10 1 7r] 50 (5 x10) =150 (5 % 30)
5x20=100 = 17rl 36 36
50 = Ba = 100 =35 ST 35 (5% 7)
10 = Answer == 20 1 1

Answer 1711 Answer 3711

. : B ‘ C

Work out Work out ' Woaork out

Q-2 @3 :2 @s5-24 € 95+-4 @ 38:6 @ 252:7
©44:3 @ oo-o -6 @ 130-7 © 256-8 @ 287+5
©n-5 Psr-s ©72-3 @os-3 Q1777 @ 232-9
Q04 Pos:5 Qi112:7 @ ns+s 0 150-2 AP =8

©Q:xis:2 P rs-4 ©o75 @ 123+5 O Do
@sz9+5 @ n-+7 O i134a:-8 @ 1519 @ 2926 @ 3457
@ot-6 @ s52-3 © -2 Pss+2 ©5:8 @ s512+9
Qos-8 Pro-s 1629 @ 140+-8

() ore third of the 204
children had school

@'There are 57 children @ How many weeks are dinners. How many

in Year 5. They are sphit there in 126 days? e T R

inte groups of three. : schaol dinners?

How many groups are D A school buys eight

there? footballs for £98. ® Four friends share the

. y How much does each L1717 cost of a meal.

@ Two friends share a prize football cost? How much should thoy

of £35. How much do each pay?

they each get? @ Janice has driven ane

@ There are 512 seats in
a theatre. One eighth
are emply. How many
seats are occupied?

sixth of her 150 mile
journey. How much
further does she have
to go?

@ Hamid has read one
fifth of his 80 page
book. How many pages

does he have |eft?
@ How many complete

€ What is one quarter of € what is one fifLh of weeks are there in 500
65 melres? £172¢ days?



A2 FACTORS

I can find all the factor pairs of two-digit numbers.

52

Factors are numbers that divide exactly into another number. it is often useful to think of factors as
pairs of numbers whose product is the largel number,

Excrritples

Find all the factors of 12
Factar pairs of 12

1®12 2xX6 34
Factors of 12;1, 2, 3, 4, 6, 12

A

Complete the factor pairs.

o The lactor pairs of &,

tand[ | 2and[ |

e The factor pairs of 8.

I:arld4 Dand 8

o The factor pairs of 14.
14 and: Dand 2

o The factor pairs of 15.

5 and |: |:| and '_|

o The [aclor pairs of 27,

DandE Dand:

o The {aclor pairs of 30.

|:|anc|1 2and|:|
3and|: Dand!_|

Find pairs of factors for each
target number,

€ 20 (3 pairs)
© 12 pairs)
© 16 G pairs)
) 40 (4 pairs)

Using {actors for calculations

2¥veg— 2R g2
— 69 % 2
— 128

Find all the faclors of
each target riumber.
The namber of [aclors is
shown in brackets,

@29 © 6
© 1559 O 4800
x5 @7
Qs+ © 000

Break down the second
number into factors

1o help work oul each
problem.

© 24xs @ o0+4
D158 @ 8414
P isx12 9015
P 2114 D 72+18

Fill ir Lhe box to complets
the pair of factors of the
farget number,

& 250~ |and 50
{ 120 - 3and[ |
@ 20— 20and[
€ 240 | |ands
€ 240 ~80and|
€ 450 -5and| |

=14 S vk U R

— 40+ 8
=5

e

Find all the factors of:
O O 200
€ 100 € 108
© 120 € 160
O 132 & 12
O 102 D 198

Break the second number
down into factors to help
work out each problem.

@ 1818 P 210+15
@ 32x24 @ 19212
& 1625 @ 154 22
D 11 x36 @ 312+ 24

Find the highest factor
shared by both;

& 8and12

€ 12and 1S
€D 20 and 30
€5 15 and 25
€5 12 and 18
€0 24 and 40
€D 27 and 35
€D 18 and 24

€% 36 and 54

@ 36 and 48



A2 MULTIPLES

| can find common multiples of two numbers.

bultiples are the numibzers in a multiplication tahle.

Examples

The multiples of 2 are the numbers in the 2 times table.
246 810,12, ...... 34 36 38 40, .. 122,124,126, 128 and s0 on,

A

Write down the first five
multiples of:

@ Qs
@ ©O-
€ 10 O o

Write Yes or No.,

o ls 56 a multiple of 27
e I5 32 a mulfiple of 37
o Is 85 a multiple of 5?

) Is 26 a multiple of 4?
@ ls 82 a multiple of 82
B 1s 150 a multiple of 107

@ Is 60 a multiple of 32
D Is 65 a multiple of 17
@ ls 54 a multiple of 97

€D 15 47 a muttiple of 77
@ {5 42 a multiple of 67
) 15 84 a multiple of 47

€D 15 54 a muttiple of 57
€2 15 75 a multiple of 157
€1 s 89 a multipte of 117

€D s 24 a multiple of 87
€5) 1s 300 a multiple of 50?
€2 ts 210 a multiple of 207

Which number should not
bein the box?

o hMultiptes of 5

106, 80, 75,1 Fs

9 Multiples of 8
48, 72, 54, 32

e Multiples of &
42, 36, 46, 54

0 Muttiples of 9
81, 54, 69, 99

Find two numbers that are
common multiples of:

©2and7 @ 3and 0
©zands @ 4ands
OEandS ®5and?

O 2ands @ 2and 1.

What is the smaltest whaole
number divisible by:

@ 2and3 @ 5and3
@ 3ands ) 6ands
@ oande @ 10ands
D 100 10D 2and 7

53

C

Find three numboers that are
multiples of hoth:

@ 2ndo @ sands
©z:ands @ sands
oaandﬂ} o 14 and 21
04and? e,‘jand&?‘,

Find the {owest common
rniultiple af:

© zand 11 @ 5and 2
D and 13 @ 10and 12
W 6and 12 @ 8and 12
@ 4and 18 @ sandis,

Use these digits for@ to @
INEINE]
) = (sl

€ [2
Make as many 2-digit
numbers as you can that are

multiples of:

E Q7
®: 22
@ s @ «
D s D e

@ The ages of both Len
and his grandfather are
multiples of 9. Neut
year both ages will be
rudtiples of 7. How old
are they both?



A2 WORD PROBLEMS 54

| can solve inverse operation and word problems. .
Example

David has 66 books. 66 + 35 = 101

Lindsey has 35 more. 1071 1 66 = 167

How many do they have altogether? They have 167 books altogether.

A

Copy and complete.
@4+ =10

O |-5-13
© 0| 1-%0

Q' |x9-108

o Mark is 18. His father
is 38 years older.
How old is Mark's
father?

e Two thirds of the 27
passengers on a bus
are adults, How many
of the passengers are
children?

o A video shop has
1 three racks with 80
videos and [our racks
with 120 videos.
How many videos are
there on the racks?

9 Calvin buys a burger
for £3-69 and a drink
for £1-43. He pays
with a £10 note.
How much change
does he receive?

Copy and complete.

@ 174 [ |=£500
€20 T-08
© 25 <[ =400

© c- |-378

O |x7-35
O ]+ 9 - 263
@ |-015-09
O |- 5-53

o This year there will be
190 school days. How
many days will not be
school days?

@ A car travels @ miles
per litre of petral,
How many litres ol
petrol will be used in
travelling 144 miles?

0 Paul has read 45 pages
ol hit book. He neads
to read 26 more to
reach half way. How
many pages does
Paul’s book have?

@ Kirsty and Pru have

£17:40 belween them.

Kirsty has £2.60 more
than Pru. How much
money da they have
each?

G

Copy and complete.
Q63| |-555
Q+x |-18

© 258 [=519
O 2- |-o0s

© [x17-289
O |-127-4a
@ |-0325-05
Q[ |:24=36

e Bradley swims 50 lengths
af a pool every day. How
many lengths would he
swim in April?

@ During the day 257 books
are returned to a library
and 142 are borrowed. At
the end of the day there
are 2415 books. How
many books were there in
the library at the starl of
the day?

0 The garden centre had
eight trays with 24 potted
plants in each, Another six
trays had 30 plants in each.
143 plants were sold. How
many plants were [eft?

@ A stall at a fete selis cakes
for 85p each. The stall
raises £113-90. How many
cakes are sold?



B2 SUMS, DIFFERENCES, DOUBLES AND HALVES 55

| can find the sums and differences and the doubles and halves of
numbers with up to two decimal places.

Examples

46 | 39 = 85

4.6 + 3.9 = 8.5
0-46 + 0-39 = 0-85
460 — 390 — 850

A
83 =37/ — 26

Use the above fact to
work out these linked

calculations.

@ s2-26

© 26+37

€ 37+ 25

@ s30- 370
©&s3-37

0 370+ 260

@ 063-037

€ 26+37

Double these numbers.
© P 29
10 B L 0-29
@D 35 B 46
& 3s0 @ 4600
Halve these numbers,
(17 ] @) 74
(18 Jcb € 0.74
P 4 & s2

€ 460 €2 5200

37 — 28
3.7=28

065 — 37 = 0-28
0500 — 3700 = 2800

Write the answers only.
@ 16+37 \
€ o063 - 099 .
€ 390 + 230

© 8500 - 4300

© o065 +038

0 75-38

€) 2600 — 4800

Crouble these numbers,

(11 J3%) P s40
@ 670 O o076
®ose @ 3700
@ o500 093
Halve these numbers.
P 920 & 055
€ 84 €2 1580
(21 SRV 2 5 I B

S5BO > 2—-1160

58 % 2=1106 358+ 2=179
58x 2=11-6 3582 =178
058 x2=116 358 2=1.79

3580 = 2 — 1790

C

Copy and complele.
@ | -o04-072
@[ | 32-59
€© 3300+ -7500
© 0| |-530
O |+47-113

O |-o41=030
€ 160+ |=8400
© 5200 - |-3800
© | o017=076

QO |-o025-08
P [<2-14s

B x2=190

P x2-138

Q@ |x2-15200

S <2-114
B +2-55

@ |-2-o06
O -2-97

Q® - 2=8300
@ '-2-09



B2 MULTIPLICATION FACTS 56

I can use the multiplication facts up to 10 x 10 to X/ multiples of 10 and 100.

& B C

What is Copy and complete. Copy and complete.

[ 1 R, [ [x4-24 @ [x7=280

€ 7 x4 O |x7-63 O |x3=2700

©4x7 O [x5-35 € [ |x60-4200

@ sx53 O [<9-36 O |xs0-400

Qo 6 © [xs=3 ‘ © [ > 900=38100

6 B O [x8=356 § O [x5=30

@2~ @ |-3-38 @ |-s0-80

O 0 1 O[>

©:x7 © |-7-8 © ~7-70

10 P O |:8=3 O 90500

® o~ @ |+2-¢ @[ ~40-90

® 63 B [=6-7 @[ -z00-60

@ e Wrile Lhe answer anly Write the answer only

@ 8- 8 P woxs € 1800+6 Posx7 EDi1s:s3

@324 Dooxso € 280+4 Qosxs @r2-8

D7 Dsex7 € 4200+ 70 Borxe @a2+7
Dsooxe € 7200:8 Poaxe Br2+o0

17 P

@22 @ z00x90 € 320: 80 @ oocx9 €Hoes: 7

®z-6 Doeooxs € 2100+ 30 Poorx2 @o2a-4

@ 142 Posox2o € sa0+s P oosxe € oss+B
€D so0x 70 €D 4500+ 9 e oo7xs €036 -6

(21 JE R

@ A5+ 5 €D Use the given multipli.cation @ Use the given d'w_]sion [:act

@ Theh. :‘;c:ﬁ F:z;edlﬂp a family of ;;rci;l;veiﬂp a family of linked

€2 15+ 3 7 X428 0-35 + 7 =005



B2 FACTORS, MULTIPLES AND PRODUCTS

| can investigate a statement and explain why it is true or false.

Factors are numbers that divide exactly into another number. Factors can be shown by creating arrays.

Exarple
Two arrays can be made
using & sgudres,

A

o Draw two different
dirays using 8 squares,

e List the four factors of 8.

o Draw two different
arrays using 15
squares.

© List the four factors of
15,

o Draw two different
arrays using 4 squares,

e List the three factors of 4.

o Draw three different

arrays using 20 squares,
e List the six factors of 20.

Find as many pairs of
numkbers as you can with a
product of:

© 14
@ 18
@D 22
(120

A multiple of 4 is alsa a
multiple of 2,

@ Find three examples of
the above staternent.

D Explain why the
statement is true.

B R

Lxa=%6

B

Find all the factors of;

@ :4 O
© s 0O s:
© 25 @ 55
QO 5o 0 s4.

Fill in the box to complete
each pair of factors.

€| |x6=4200
@ |x5-200
@ s0x[ |=720
B 600 x| | = 2400

Find as many pairs of
numbers as you can with a

product of:
® =0

® 35
D 44 D .

The product of an odd
number and an even number
s always aven,

@ Give four examples of
the above statement.

@ Explain why the

staternent is true.

A multiple of 8 is always
twice @ midtiple of 4,

@ Give four examples of
the above statement.

@ Explain why the
statement is true.

2B =0

The factars of &
arel1,2 3, 6

&

Find the highest factor
shared by:

@ 45 and 60

€ 39and 65
€ 72and 40

o 84 and 63,

Fill in the box to complete
each pair of factors.

© | [x70-6300
Q| |x3- 2400

€ soox |- s600

O o~ |-8s00

Find as many pairs of
numibers as you. can with a

product of:
@ 320

© 2200
(D so0 & 4900.

The product of ony two
comnmsectitive numbers is
thways even.

@ Cive four examples of
the above statement.

@ Explain why the
statement is true.

A factar of 200 is also a foctar
of 1040,

@ Give four examples of
the above statement.

@ Explain why the
statement is true.



B2 STATEMENTS AND STORIES 58

| can find examples to match a general statement.

Example
The product of any whole number
and 10 will end in a zero.

The statement is true
because all multiples

. 34 % 10 = 340
127 X 10 = 1270

)

Find three examples for
each statement.

o A multiple of 4 is also a
multiple of 2.

€) A multiple of 10 is
always twice a multiple
of 5.

o A number is not a
muttiple of 5 if it doss
notendinasSoralf,

o If you add two different
numbers the other way
round the answer is Lhe

Fx10=90

For each statement:

a) find three examples

b} explain why it is true.

o If you multiply different
nuimbers the ather way
round the answer is the
same,

e A multiple of 6 is also a
miultiple of 3.

e A number is a multiple
of 4 if its last two digits
are divisible by 4.

@ The product of an odd

number and an even

of 10 end in zero,

C

For each statemont:

a) find three examples
b) explain why it is true,

o A multiple of 6 is also a
multiple of 3.

e Dividing a number by
100 moves every digit
two places to the right.

o The product of any
three consecutive
numbers is always cven.

0 The product of any two
odd numbers is always

same. number is always even, ordd.
| can make up number stories to match statements. &
Example
5.4+ 4 =1.35 Four milkshakes cost £5.44. )
One milkshake costs £1.35. —

Make up a story to match
each numbor sentence,

€ 18 +37 -85
€) 97 - 42=55
©19x4-76
QO 450+-3-15
© 326 + 64 = 390
@ 200—120 - 80
€ 60 x5 =300

Osz+2-2

Make up a stary to match
each number sentence.

€ 248 x7=1736
QO 532:8-29
© 463 - 179 — 642
Q 435 -78=1357
€ 165 % 26 = 429
0 »w8-9-32

Make up a story to match
each number sentence.

@ 1596+ 6375 - 22335
€) 429 2865 =1425
€) 53624 - 12864
@ 156-58-62

© 005 1 0.03=0.08

0 1923641556
€ 27 x 36 =972
Q144 +-40-356



B2 WORD PROBLEMS 59

| can solve word problems.

428 4 136 = 564
428 + 564 = 992
The boat has sailed

A boal sailed 428 miles in the first
week of its voyage and 136 miles
further in the second week. How

far has it sailed altogether?

A

0 There are 74 appies
on a lree. 19 are
picked. How many
apples are there on
the tree now?

e There are 12
hiscuits in each
packet. How many
biscuits are there in
6 packets?

e Cards cost 65p
each. Loretle buys a
pack of 10 cards for
£4-80. How much
has she saved?

€ Gill has 800g of
flour. She uses 250 g
For'paslr}r and 325g
for a cake. How
much flour is left?

e The &0 children in
Year 5 were asked
what pets they
owned, One quarter
of the children had
no pets at afl, 12
had cats and 17 had
dogs. How many
children had other
sorts of pets?

292 mites attogether,

o There are 80 tea bags in a

box. How many boxes will
400 tea bags fili?

€ 134 parents watched the

alternoon performance

of the School Concert, 97
more came thal evening.
How many parents saw
the evening performance?

€) 303 children in a school

5]

go on a trip. Five coaches
each carry 51 children.
The rest travel by minibus,
each of which can carry
13 children. How many
minibuses are there?

Max has 175 photos.

He keeps 79 photos in

one album. The resl are
equally divided between
three more identical
albums. How many photos
are there in each of Max's
identical albums?

Four lengths of 1-6m and
three of 0-75 m are cut
frorm a 10 metre rope.
How much rope is left?

G Saurav buys two games

and a toy. Each game
costs £1-29. He pays with
a £10 note and receives
£4.17 change. How much
does the toy cost?

o 62 386 people watched
Manchester United’s
match on Wednesday.
How many saw the
next match when
there were 649 fewer
spectators?

o There are 260 people
watching a film, Two
fifths of the audience
are adults. How many

children are watching
the film?

9 How many seconds are
there in five hours?

ﬁ There are 120 sugar
cubes in & packet.
How many packets
couid 3000 sugar
cubes fili?

6 One can of soup costs
461 jed buys sixteen
cans. How much
change will he have
from a £20 note?

@ Each botlle of wine
holds 0-75 litres.
There are 64 guests at
a wedding. How many
botiles are needed Lo
fill & 0:2 litre wine glass
for each guest?



B2 SYMMETRICAL PATTERNS

60

| can complete patterns with two lines of symmetry.

A

Use squared paper. Copy
the patterns. Shade

in as many squares as
necessary to complete the
symmetrical pattern.

1 2 I
EwE

E_

e These symmetrical
shapes have been
made by placing 5

. squares together.

Investigate making
symmetrical shapes
by placing 6 squares
together.

e Copy the equilateral
triangle and the square.

/\

Diraw the lines of

symimetry in each shape.

Use squared paper.
Copy and complete the
symmetrical patterns.

e Investigate the
symmetrical patterns
that can be made
by placing 8 squarcs
together.

o Copy the regular
pentagan and the

regular hexagon.

Drawy the lines of
symmetry in cach shape.

o hMake a general
staternent about the
number of lines of
symmetry in a regular

polygon.

C

Use squared paper.
Copy and complete the
symimetrical pattern.

------------------

o investigate the
symmetrical patterns
that can be made
by placing 9 squares
together.

o Investigate the angle
between the lines of
symmetry at the centre
of a regular polygon.
What do you notice?




B2 THREE-DIMENSIONAL SHAPES 61

| can identify 3-D shapes that have pairs of parallel or perpendicular edges.

&

Match each of the shapes A to L with one of the names of 3-D shapes.

cone hemisphere pentagonal based prism

cube hexagonal based prism square based pyramid

cubaid octagonal based prism tetrahedron

cylinder octahedron triangular based pyramid
A B

Look at the above shapes with straight edges.
Which of the shapes have pairs of parallel
edges in:

o all their facas
e maore than one half of their [aces

e one face only
@) none of their faces?

Which faces have pairs of perpendicular
edges in:

o a cube
o a square based pyramid
e a triangular based prism

e a cuboid?

o Which shape with straight edges has no

perpendicular edges?

@ Which shape has perpendicuiar edges in
the shape but not in any face?

D E F gg

&

How many faces have pairs of parallel edges
in:

o an hexagonal pyramid

e a decagonal (10-sided) based prism
e an heptagonal based prism?

o Which shape has no face with parallef
edges but has parallel edges in the shape?

How many faces have perpendicular edges in:
0 a pentagonal pyramid

e an hexagonal pyrarmid

e an heptayonal based prisrm

e a decagonal based prism?

9 How many edges are there on the end
faces of a prism with:

a} 2 faces with perpendicular edges
b) 14 taces with perpendicular edges?



B2 TWO-DIMENSIONAL SHAPES

&2

| can identify pairs of parallel or perpendicular lines in 2-D shapes and |
can recognise and draw different types of triangles.

> — A B

parallel perpendicular
lines lines
the same meet at
distance aparl  right angles

A

o Copy the 2-D shapes
below. Show all the
parallel sides with
arrow heads (see
above). Show all the
perpendicular sides by
marking right angles
{see above).

e Use square paper.
Draw and label;

a} 2 different right-
angied triangles

by 2 different isosceles
triangles

¢) 2 different scalene
triangles.

scatene
Lrigrgle

no equal sides
no egual angles

rigght-angled
Lriangle

one 90" angle

o Draw and label different
shapes on grids of
4 squares. Show all
the parallel sides and
perpendicular sides.

Examples

pentagon  quadrilateral

e Copy the octagon or
draw round a template.

Join three dots to make:
a} a right-angled
triangle

b} a scalene triangle

¢} 3 different isosceles
triangles.

e Use & set square and
ruter. Dravy a right-
angled isosccles
triangle with shorter
sides of 3-5cm.

isosceles equilateral
triangle Lriangle
2 equal sides 3 cqual sides

2 equal angles 3 equal angles

G

o What is the largest
possible number of
parallel sides in:

a) a pentagon
b) a hexagon?

o What is the largest
possible number of
perpendicular sides in:
a) a pentagon
b) a hexagon?

o Investigate the largest
possible number of:
a) parailel sides in

polygons
b} perpendicular sides
in polygons.
Describe any patterns
you Tind.

e Use a ruler and a
protractor. Drav:

a) a right angled
triangle with an
angle of 55° and a
shortest side of 3om

b} an isosceles triangle
with two angles of
65° and a shortest
side of 2.5 cm.



C2 METRIC UNITS OF CAPACITY

| can choose and use metric units of capacity.

Examples
1000 ml—= 1 litre
40X ml = 4 litres

&

Copy and complete,
@ z000ml =] |litres
© 5000mi —[ |titres
€) 1000ml =[ Jlitre
© 3litres = |mi

o 4 litres = Ej ml
0O sitres=[ | ml
€ 6500mi =[ litres

© soomi = |litres
0 7500ml = L_| litres

@ 3-5 litres — L_JI mil
@ 15litres = [ |ml
B oslites = |ml
Which metric unit would

you use to measure the
capacity of.

@ a washing machine
@ a spoonful of medicine
@ an evebath

@ a paddling pool

@ a stream

@ a bottle of nail varnish?

P ol
i)

2500 ml — 2-5 litres
1900 ml = 1.9 litres

Copy and complete.
@ 24300ml = | litres
© 1700ml = litres
€ s0omi = [ Jlitres

o 71 litres = | ml

e 5-3 litres =| | mi

€ 9200ml = [ litres
© c700ml = [ litres
© 2800ml = |litres
@ 1-4 litres = u m
@ 81 litres = |_1| all

@ 0-3 litres = Dml

Which metric unit would
you use to measure the
capacity of;

@ a hot water tank
@ a sachet of vinegar
@ a waler pistol

@ a glass of orange

@ a swamp

@ a fire extinguisher?

63

N70ml =337 ¢
2680mi — 2.68 {

C

Copy and complete.
@ 3530mi = litres
© 8s0mi = |litres

© 2290 mi = iitres
© 501 litres =] |ml

© 26litres=| [m

0 712tives = ml
€@ 1580ml = |litres
€ s540mt ={ Jlitres

© 4310mi = Jlitres
@ 207 lires = |mi
@ 563lires = |ml

@ o74lires = |mi

Chonse the best estimate.

@ a squeezy lemon
0-0154, 0-15£, 1-.5¢

D afish tank
100 ml, 1000 ml,
10000 mi

@ an ink bottle
003€, 036 346

@ a car's petrol tank
40 ¢, 400 £, 4000 ¢

@ a bottle of salad
dressing
2:5ml, 25ml, 250 mi

D abath

104, 1004, 1000+



€2 BAR LINE CHARTS AND LINE GRAPHS 64

| can draw and interpret bar line
charts.

Examples
The number of elephants seen sach day at a
water hole in a Safari Park.

144
12
10

£ | el Py B

i o Tt Er

4 TR =L

i oo = RSN ST L !

- i P
E

Fumber of alephants

S M T W T
Days

5

How many elephants were seen at the water hole
on Monday?

What was the largest number of elephants seen
on any one day?

What number of elephants was the made?

{The mode is the most common value,}

This bar line chart shows the first 7 mulliples of 5.

40

30- /

20

@ 3 2 8 & & B 7

The lops of Lhe bars have been juined to make a
line graph showing the start of the 5 times Lable.

o This bxar line chart shows the destinations

of holidays sold by a travel agent.

hzjorca
Franice pr—
Greace
Italy [=—

Spain
Usa

Crestinalivns

0 2 4 6 8101214
Fregusercy

a) How many holidays were sold to the
U.5A7

b} Which was the most popular
destination?

1 Which was the leasl popular
destination?

d} How many more holidays were sold
to Majorca than to France?

&) How many holidays were sold
altogether during the week?

Use graph paper.

Copy and complete this bar line chart
showing all the muitiples of & to

10 % 6 = 60.

304
20

10+




o This bar line charl shows how many

times each number was thrown when a
dice was rolled repeatediy.

§ e

T —

Mice number

4
3 o .
2
1

G Sl e WP e
0.2 4 6 & 101214
Frequoncy
a) Which dice score was the mode?
b)Y How many times was 2 rolled?

¢) How many more times was & rolled
than 17

d) How many times was a number less
than 32 rolled?

&) How many times was an even
number rolled?

f) How many times was tLhe dice rolied
altogether?

e Use graph paper.

Copy and complete this line graph
showing the 7 times table for all
numbers to 12 = 7.

(]
i

Use your graph to werk out what is
approximately:

a). 114 % 7 c) 60:7
by 37 %7 d) 40 + 7.

65

o This line graph shows the outdoor

temperature recarded hourly between
3am and 3 pm on February 12th.

o 12+
104

(RS SR
(e

Temperaiure {?

|
LN S
]

0300 Dﬁl:i]i] GS':'UD 12?00 15':(!{:
Time

a) At what time was the temperature
5°C?
b) What was the temperature at 11:007

o) What was the highest lemperalure
recorded?

d) What was the lowest temperature?
e} For how long was the temperature
above 10°C7

) For how long was the temperature
below 0°C?

e Roll two dice. Add the scores to give a

total.

Repeat this 50 times keeping a tally of
the total scores.

Draw a bar line chart to show the results.
What was the range of scares?

Which dice score was the mode?

Did this surprise you?




€2 PROBABILITY 6

I can use the language of probability and place events on a probability
scale.

The probability of something happening is the likelihood or chance that it might happen.

Examples
What is the probability of these events?

o The sun will rise tomorrow.
€D You will live to be 500.
o You spin a coin and get a head.

O It will rain tomorrow,
9 You will see a bus on your way home.

@ You will see an ambulance on your way horme,

The probabilities of these events can be placed on a scale. You might choose to place them in these
positions. Numbers 1 to 3 could not be put anywhere else but the last three statements depend upan
the circumstances.

I TSR |
Even chance Likely Cerlain

Impossible Unlikely

A

For each of these statements write one of these probabilities.
certain likely even chance unlikely impossible

o You will get married next week.
a You will watch television this evening.

o The next match a football team play will be
a home game,

o Your teacher will win the Lottery and retire
to the Bahamas.

o You will have a birthday in the next year.
o You rofl & dice and get a 6.
o The phone will ring this evening.

0 You will have a new pair of shoes in the next
Lhree months

e You will learn to juggie in the next year.

@ It will smow next week,



Place the probability of these events on a
scale like the one on the previous page.

o You will get married when you grow up.
'9 The Queen was born on a Thursday.

a Someone in the family will receive a
letter tormorrow.

o You will pass your driving test next year,
e You roll a dice and get an even number,

@ The next person to come into the
classroom will be the Headteacher.

a A baby will be born somewhere in the
world today.”

e Everyone in the class will watch
television next week.

o Your television set will need Lo be
repaired in the next five years.

@ A teacher al your school will have a
Mumber 1 hit record.

1]i2](3]]4] (5]

@ The above cards are shuffled and then
placed face down on a table. What is
the probability of one card being turned

over and it is:

a) 5 d) even

by & e) under 3

<) odd i 3 or over 37

@ Ope card is tumed over,

ginininn

What is the probability that the next
card turned aver will be:

a) odd dy 3
by even el less than 3
oy 2 f) greater than 37

67

C

Work out these probabilities as a fraction and
place each ietter on the scale shown.
o _ I I l |
0 : 1
hmpiossible Evens Cartain

Spinning a coin and getting:

a) a head

b} a head or a tail

) neither a head or a Lail

d) afail.

Spinning wo coins and:

e} getting 2 heads
*f) not getting 2 heads

g} gelting one head and one tail

h} not getting one head and one tail.

e i i | | ] ol il
0 ; 1

Impossibhe Evons Certain

Rolling a 1 to 6 dice and getting:
a) an odd number

b) below 6

c} above &

d) a3

e) above 3

B below 3

e é Ee—=rdl f i :

Impossiple Certain
Using Lhis spinner and getting:

a) 1

b) below 1 Ab
) above 1

d) an even number A
e} an odd number

f) 6
g) below 6.



C2 DRINKS INVESTIGATION 68
| can use data to test a hypothesis.
The children on Yellow Table [nw.astigatecl e Eld iy
the amount of water they drank in one | MName ek e I o e
school day. e
They worked out the amount of water Adele 100ml 4 & o 3 5
in each child’s average drink and then Hugh 50ml eI || 5 2 g N
recorded the number of drinks they took Poppy Z5 ml 4 P g 5 | 7
each day tor a week. 5 = z > 5 : 2
The table shows their results. ol A
Sanya 125ml 2 Az o 4 &
Wagar 75 ml N S Al 8

A

Lok at the table.

o What is Poppy's
average drink?

e Who had most drinks
on Thursday?

€ How much did Adele
drink on Monday?
Give your answer [n
millilitres.

0‘ RBefore the data was
coliected Hugh said
[ drink maore thon haff o
lifre every day.

Was he right?
Explain your answer.

o Ryan said
| drirk less than holf o
litre every doy.
Was he right?
Explain your answer,

e Draw a bar chart to
show each child’s
average drink.

Lock at the table.

€ on which day did:
a} Poppy drink 375 ml
b} Sanya drink 375ml?

e Which two children
drank haif a litre on
Thursday?

o On which day did the
chiidren have fewest
drinks?

o Who drank the most
water on YWednesday?

o Before the data was
collected Sanya said

We drink maore on hotter
dals,

Tuesday was the
hottest day. Friday was
the coldest. Does the
data supporl her idea?
Explain your answer.

o Draw a bar line chart to
show the total number
af drinks for each child
during the week.

C

Look at the table,

o Which two children
drank the same
amount on Manday?

o How much more
dicd Sanya drink than
Waagar oh Wednesday?

o In litres haw much did:
a) Adele drink in the
weelk
b} Hugh drink in the
week?

o Before the data was
coflected Adele said
We aff drink no fess than
303 mf gnd no more
than 808 mi avery day

Explain why her theory
ts not supported by the
data.

o Who drank the most
during the week?

e Drrave a bar line chart to
show how much Wagar
drank each day.




| can multiply and divide whole numbers and decimals by 10, 100 and 1000.

%10 digits move 1
=100 digits move 2
= 1000 digits move 3
=10 digits move 1
=100 digits move £
= 1000 digits move 3

Waorl out

@ 1010 -

@ s100+ 10

€ 28 <100

© 6500 =100

@ 2 = 1000

© 70000 + 1000

Examples

0017 10 =017
0017 x 100 =1.7
0-017 = 1000 = 17
36+10=236

36 = 100 = 036
36 - 1000 = 0-036

place to the left
places to the [efl
places to the left
place to the right
places to the right
places to the right

@ 51 <10 & 960 %10
0 s30+10 ®4Dﬂﬂ+m
© 164 x 100 B s0 x 100
@ 20000 = 100 & 19300 = 100
@ 24 x 1000 @ 20 x 1000

@ 21000 + 1000 & 50000 + 1000

i

x10 +10 %100 =100
(1 JE @ o4 P 52 D s (25
©ooe @ s @ o9 €D 692 (26]
© oo © 107 D 145 &) 3o (27]
@ 108 Q 405 D 186 ) 480 (28]
© o2 @ 69 D 70 €D 106 (29]
Qo1 @ 2 { o-06 Q 75 (30]
&
Copy and complete.
© |x10-03 € o6x =60

© |-10-0298
© [x100=76

O |:-100=014
© |x1000-106

G |-1000=005

@ 1500 +] =15
@ 43+ [-0043

@ oo+ [=009

© 800 x 10
€D 1520 + 10

€% 801 x 100
€2 60000 - 100
€8 68 x 1000
€ 47000 + 1000

%1000
03 €D 600
208 € 1978
46 € 250
1.427 & 16
005 €D 40

0.973 €D 121

[ %10 =1083
b= 10 = &1

[ 1< 100 = 409
=100 = 02
"% 1000 = 70

. |= 1000 = 0-005

£

|

I_
L

3

0060606
[ L]

+1000 ]



| can convert grams to kilograms and vice versa.

Examples il e B

10009 = 1kg 1000g = 1kg 4-3kg = 43009
100g = 0-1kg 5009 = 0-5kg 0-71kg = 710¢g
109 = 0:01 kg 2509 = 0-25kg 0-195kg = 195 g
19 = 0-001 kg 1750 = 1.75kg 2:013kg = 2013 g

A B C

Copy and complete. Copy and complete. Copy and complete.

O 2o- g @ 149-] |9 © 2370=[ |o

© skl g ©75kg=[ ¢ € 163kg =] |g

3 BRI © o2kl Jo © 12360 =] |g

O o=l g Osskg=[ g O soskg= g

© 7000g=! |kg © 28009 = Jkg @ 38100- kg

© 40009 =[ kg 0 1300g=] |kg 0 51409 ={ |kg

€ 30000 =] kg € 45009-[ ]kg € 5209-] |kg

) s000g =] kg © s00g=_ kg © 24509 = kg

© 25k-[ g ©s7= g © 128k0=] |g

@ 125k = g @ 23k =] ]|g O s54ka - |g

@ oskg=| |g ® 14kg= |g @ 371k=] o

@ 425k0=[ |g @ o1kg=[ g @ o065k =] |g

@ 35009 = Jkg P 39009 - [ kg ® 7090g=| |kg

@ 2509-[ |kg @ 8800g=| |kg D 43200 |kg

@ 27509 = kg P 6009 = Jkg ® 29609 -[ |ka

D 15009 =] kg D 42009=[ kg @ 54309 kg
A bag halds a 750g :

@ box of comflakes and @ Four cans weigh (& ~ bag contains 1:2 kg of
half a kilogram of 1-6 kg. What does one frozen chips. This makes
bananas. What is the can weigh in grams? 10 servings. How much
weight of the shopping @ Ona bar of chocolate does each serving weigh
in kilograms? weighs 150g. There in grams?

@ A cake weighs one are 24 bars in a bax. @ One can weighs 225 g.
kilogram. One quarter What is the weight of What does a pack of
is eaten. How much is the chocolate in the 8 cans weigh in

left in grams? box in kilograms? kilograms?



| can solve problems involving weight.

A

o A tin of truit weighs
200 0. What do B tins
weigh in kilograms?

a Four melons weigh
2kg. What does one
melon weigh?

0 Tom weighs 42.3 kg,
Jerry weighs 1800 g
less. Wihat is their
combined weight?

o A sack of potatoes
weighs 5kg. Three
quarters of the
potatoes are eaten.
What is the weight of
the potatoes that are
left?

e A 200 g pack of ham
contains 8 shices,
How much does each
slice weigh?

e A cake is cut into 10
slices, each of which
weighs 140 g. What is
the weight of Lhe cake
in kilograms?

o The 20 packets of
biscuits in a box weigh
6 kg altogether. What
is the weight of one
packet in grams?

e Each apple weighs
150g. How much do

12 apples weigh in
kilograrhs? -

e A pizza weighs 0-5 kg.
One quarter is eaten.
A further 1759 is
ealen. How much is

lett?

o A casserole is made
with 800 g of rmeal and
1-2 kg of vegetables.
What is the combined
weight of the
ingredients?

o 10 packets of gravy
powder weigh 3-5 kg.
What does one packet
weigh?

@ A box of lettuces
weighs 2 kg. If the box
weighs 100 g, how
much do the |ettuces
weigh?

o A loaf of bread weighs
0-8kg. [Lis cul into 25
cqual slices. How much
does each slice weigh?

e One parcel weighs
470 9. A second parcel

welghs 200 g more.
What is the combined
weight of the parcels in
kibograms?

o A box containing 16
tins weighs 4 kg, How
much does each tin
weigh?

o A recipe for 8 people
requires using 1 kg
of mince, How much
mince would you use if
you were cooking for 3
peaple?

© ~ builder needs 2kg of
sand. He has 680 g lefl.
How much more sand
does he need?

e A factory canteen
serves 400 lunches.
Each lunch requires
300 g of potaloes.
What weight of
potatoes is used?

o A tray holding 24 eggs
weighs 1-68 kyg. Each
egg weighs 65 g. What
is the weight of the
tray?



| can use a written method for addition of whole numbers and numbers
with up to two decimal places.

Examples
36 295 18.-79 216 4+ 4.83 21-4 Line up the
+ 6487 + 3.45 - 4-83 decimal points.
42782 22.24 I6.43
11 Fak 1
Copy and complete. Set out as in the examples. Set out as in the examples.
3759 473 @) 33595 + 8276 @ 2736 + 5487
e a0 © 14769+ 9523 € 7818 + 4967
& 4818 592 € 27182 + 12954 € 18271 + 1695
F2ad> Tl @ 16437 + 13895 © 6024 1 9858
7464 864 © 45348 + 28769 © 3549 + 17-963
+5928 +27-3
== — 0 2638 + 9752 O 12065 1 7:835
2374 74.5 € 8295 + 6764 € 64-79 + 1954
+ 682 +52:6
= . © 3081 + 7546 @ 3843 +57.96
6533 48.7 @ 5427 + 2963 © 13268 + 9547
1 1897 +43.9

¥

@ Oliver weighs 35-6kg.
His father weighs
68-4 kg. What is their
combined weight?

@ A bag of sand weighs
17-9kg. A bag of
cement weighs 32-8 kg
more. How much does
the cement weigh?

B Belinda earns £2547
in January and £1987
in February. How
much does she eamn
in the two months
altogether?

D 9356 + 4879

m Kate buys one present

B A lorry weighs 12134kg,

for £28-42 and another

for £65-792. How

rmuch does she spend
altogether?

its freight weighs
5984 kg, What is the
combined weight?

@ 4867 + 17.943

0 One parcel weighs
5389. A second parcel
weighs 1-369 kg. What
is their combined
weight?

@ One year ago MNiall
weighed 25-35 kg.
Since then his weight
has increased by
3-785 kg. How much
does he weigh now?

@ loyce buys a chicken
welghing 2-358 kg
and 230 g of sausages.
What is the combined
weight of her meat?



| can use a written method for subtraction of whole numbers and
numbers with up to two decimal places.

Exaomples
212612 A4 513
13472 BA7 3
- 1769 1628
11703 3845
Work out
Q@ 2 O o674
125 185
© 54 @ 516
-361 -27-2
O 0 @ 358
-284 -19-8
O 3 @ B892
193 436

726 ) 380
—407 -17.3

@ A large packet of cereal
weighs 750 9. A smaller

packet weighs 425 g.
How much maore
does the larger packet
weigh?

@ Asma weighs 32-4 kg,
Her mother weighs
56:1 kg. How rmuch

less does Asma weigh?

@ Terry's father weighs
B3-6 kg. Terry weighs

45-4 kg less, How much

does Terry weigh?

Set gut as in the exampiles,
@ 3619 - 1572

€) 5284 1345 -

€ 7051 - 5438

© 14369 - 7597

© 11472 2865

© 2409 - 1385
€@ 7137 - 3472
© 9581 — 29.65
€ 5248 — 4673
D 7395 - 39.86

@ Chelsea’s new car
weighs 2364 kg. This is
1187 kg more than her
old car. What was the
weight of her old car?

@ The apples in a barrel
weigh 57-45kg. Micky
takes out 21-B8kqg. What
is the weight of the
apples left in the barrel?

C

Set out as in the examples.
@ 2349 - 0867

€ 5181654

€ 5572 - 7.836

€ 3604 - 1783

© 529 - 2455

© 4718064
€ 7529 — 5683
€ s14- 1972

© 38729

@ 905 -6378

@ A round cheese weighs
2-58Bkg. 325g is cut
off, How much is left?

@ The combined
weight of the meat
and vegetables in a
casserole is 1-585 kg.
780 g of meat is used.
What is the weight of
the vegetables?

@ Eight unpeeled potaioes
weigh 1-218kg.
After peeling they weigh
47 g. What is the
weight of the removed
skin?



| can use a written method to multiply HTU by U and U.t by U.

Examples
264 264
x 8 %X 8
1600 2112
480 2s
_32
2112
11
A
Work out. . _
O 3 0O o
><_5 ><_5
e < © s
><_2_ ><_2
e 2 0
X 6 - i
© 2 © 4
X 9 X 6
e s L s
X 3 X 3

m Onie bag of crisps
weighs 28 g. What
does a pack of six bags
weigh?

@ Three children weigh
46 kg each. What
is their combined
weight?

® One cake costs 45p.
What do four cakes
cosl?

29 % &
29 29 xa—174(174 : 10
K—
1_?4
Work aut.

% 1% 1§
© v @ 738
%2 x_6
© 364 O 356
X_? ){_4
Work out
©7rox7 @ s56x9
Pesxs @seox2
@ zox3 @ 37xs
P rexa @ o3xs
P4sx6 Pos8x7

@ A can of fish weighs
425 g. What is Lhe
weight of the eight
cans in a box?

@ One bag of potaloes
weighs 3-5 kg. How
much do five bags
weigh?

129
g -
il
b
L+
Work out.
Q@ 98 O 2255
X_ 6 e
© 2 @ 379
o e
© 38 © 417
LA o
© 3 @ 368
* B X_é
© 22 @ 4
i x 8

@ One box weighs
46-7 kg. How much
do four identical boxes
weigh?

@ One car weighs
1597 kg, What is the
weight of the seven
cars on a transporter?



| can use a written method to divide HTU by U.

Examples
1316 131
- 60 (6% 10)
71
— 60 (6x10)
11
— 6 (Bx1)
5

Answer 2715

A

Work out.

Q363 @72
-5 O nz=s
@34+2 @ 105+3
Os-5 @66
©777:-4 Pos-4

Q-7 Q1238
@ 1389 Priz=7
Qw2 @r99+9

@ The five cereal bars in
one pack weigh 120 g,
What does one bar
weigh?

B Beias father weighs
four times as much as
Belia. He weighs 68 kqg.
How much does Bella
weigh?

@ There is 75 kg of
potatoes in a sack. One
third is eaten. How
much has been eateri?

431 =+ 6 431

420 (6 % 70)
11

— 6 (6% 1)
5

Answer 7115

B §

Work out. -

€ 153 -6 € 8267
@249 @ 465+9
©330-8 @ 292
€ 2023 (B 768 -8

©so5-7 P s62-+4

©Q:s5+6 @sr2+7

€ sez-23 B 92656
©339:5 Poso+0

@ Six slices of ham weigh
252 g. What does one
slice weigh?

@ Mine televisions are
loaded onto a van.
They have a combined
weight of 206 kg, What
does each televisicn
weigh?

B A pizza weighs 2729,
It is cut into eight
slices. What does each
slice weigh?

931+ 6 93]

~600 (6 % 100)
331

—300 (6 % 50)
31

- 30 (6x5)
3

Answer 15511

C

Waork out,

@ z82-7@Q 1219+9
© 1193-8 1056+6
€ 1185 -5 @ 1351 =4
© 1568 -9 @ 1020+ 7

© o6 P 134355
Q 1168 -4 @ 1384 - 8
€ 1262 -8 B 1078 - 4
© 1185+7 @ 1681 =9

@ There are four jars
of peaches in a box.
They weigh 1740 g
altogether: What does
one jar weigh?

i

@ A van carries 1164 kg of
freight in six identical
containers. How much
does each container
weigh?



| can read scales with some unnumbered divisions.

For each of the scales work out:
a) the measurement indicated by each of the arrows
b) the difference between the two arrows,

A B C
[ 1 I | | a0 Q = | | 70 O o * Liogo
v i Tl B ] B o 00 R e (O (O o1 i T P O T
O o] 80 e + 1 (2] } |
v o e 2 & Sl P T R ST ey PRy ey
£ =
® . + L1oo © : | | 4 (3] 0 s
mml 1 s ety ol | e T s T 4 ] 0 e i e B o]
© o] + 10 O - 1 100 © . | | 0-1
T S i B! L 1 b Ty Lt e T o s e S R T |
o kg o k'_q—ci e = 200 o k?"E e k_[;_g
E 3 P P '_-'
= - &
£ £ g
& ;g k: Fos—
—o 0 = E o

Q@ [t @E 7. S

||||i|-|||::||||'I= 1] I e T i ] e L o A

om I 5 =
@ msl] Ol sl S

W S PR a8 S e T i

O, © 3.0 D 25 O,
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—
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o 0 ] 0



| can find the perimeter of regular and irregular polygons.

The perimeter of a shape is Lhe distance around its edges.
Itis a length and is measured in unils of lengLh such as metres or centimetres.

Examples
£im Perimeter = 2 = {6cm + 4cm) S¢m
=2x10cm
= 20em

4om

A

Measure each shape and
work out the perimeter.

Work out the perimeter of
each shape.

© square

sides 7 cm

o rectangle
sides 8cm 4cm

e equilateral triangle
sides 6cm

a regular pentagon
sides 4 cm

Scm

Sem

Work out the perimeter of
cach shape. '

o rectangle
sides 5cm 12cm

e regular hexagon
sides 7cm

e square

sides 4.5cm

o reqular cctagon
sides Bem

o Copy and complete
this tahle showing
the measurements of
rectangles.

‘Length | Width | Perim.
S5cm dem

7cm 3ecm

S5cm | Zﬁ_cm

4cm | 28cm
Ecm 22cm

9cm L 32em

e Work out the perimeter.
All l[engLhs are in cm.

10

Sem Perimeter = 6 x 5¢m

= 30cm

S5cm

Scm

L

Work out the perimeter of
each shape. All lengths are
in Crm.

0

10 &

table.

12¢em 46 Cm
i 4em | 3-5cm
2-5cm | 17em
[ Foemi oo pliecme



I can find the area of a square or a rectangle.

The area of a shape is the amount of surface it covers.
It is measured in squares, usually square metres (m#) or square centimetres {cm?).

Example
aCm Area = length ¥ width
DA : = (6 X 4)em?
! \ ol O P = 24 cm?
ot gl o
Jlett W 1

Use 1cm squared paper.
Draw these shapes and
wiork out each area by

counting squares.

o sqjuare

sides 6cm

9 rectangle

sides Scm 7om

€) square

sides 4em

o rectangle
sides 4cm 9cm

Use 1em squared paper.

6 Draw a square
with an area of
25cm?. Work out
the perimeter.

G Draw a rectangle
with a tength
of 8cmand a
perimeter of
22 cm. Waork aut
the area.

o Draw two different
rectangles with
an area of 8 cm?.
Work out the
perimeters.

o Copy and complete
this table showing

the measurements of
rectangles.

Length [ Wicdth | Area
Fem 3cm

Bcm S5cm
12cm 48 cm?

Scm 54 cm”

4em | 32¢cm?

jem o 65 cm?

e Use squared paper.
Draw three different

rectangles each with an
area of 30 cm?. Work out
the perimeters.

o Use squared paper.
Draw three different
rectangies each with
a perimeter al 30 cm.
Work out the areas.

o A square playground
has a perimeter of

200 metres. What is its
area?

e A square tile has an area
of 400 cm?, What is the
length of one edge?

¢

° Woark out the area of each
shape. All lengths are in cm.

4 P

X |€ T

2

B 4 4

o Copy and complete the
table showing the length,
width, perimeter and area
of rectangles.

© How many square
centimetres are there in a

square metre?

o How many square metres
are there in a square
kilometre?

o A carpet cosls £20 per
square metre. A room is 7
metres long and 4 metres
wide. How much would it
cost to carpel the room?



| can say whether an angle is acute, obtuse or a right angle, order a set of
angles and measure them to within 5°.

Angles measure the amount something turns or rotates. Angles are measured in degrees (°).

N

\,
A whole turn A right angle An acute angle An obtuse angie
360° S0° Less than 90° Greater than 90° and

less than 180°

USING A PROTRACTOR .

A protractor is used to measure or draw angles accurately. Most protractors have two scales,
a clockwise outer scale and an anti-clockwise inner scale.

It is important to use the correct scale.

Examples

Quter Scale Inner Scale
AOB = 50° ZOC = 40°
AOC = 140° ZOB = 130°

COMMON MISTAKES

‘.| Using the wrong scale.
Before measuring, decide if the angle is greater than or less than 90°.
,;‘ Reading the scale in the wrong direction.
The angle in the example is 125° but could be read wrongly as 135°.
Make sure you look at the numbers on both sides of the line.
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A

Decide which is the correct angle from the two answers,

@ o o ~ )

S
S\ =
(70°, 1107 £a0®, 1207 CBO0°, 100 (557, 1257
2 L4 ¢ o
/ ¥

(507, 1307 (407, 140%) (307, 150%) (B5% 95%)

Give the measurement of each angle,
© A0 b 0L
D Adc o z0!

(11 6] P z0or
(B A0OMm €D z6C
P A0e (21 el
() AGH €5 z0s
b ACD €& zOM
(D A0 & z6¢

@ For each triangle write the angles in order of size, smallest first.

B s £

@ For cach of the angles in the above triangles:
a) say whether the angle is acute, obtuse or a right angle
b) estimate the size of the angle to the nearest 107
¢) measure the angle to the nearest 10°,
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Say whether the following angles are acute or obtuse. Do not measure the angles.

TETERE

Give the moeasurement of each
angle to the nearest 5%,

© ~6o ® zoL
0 5 O zol

[ 7 FXele ® oo
© ~om @ z6c
€ 208 '® 0
L A0H & zo8
@ Aot { zom
® Aoc €& zOe

@ For each quadrilateral write the angles in order of size, smallest first.

@ For each of the angies in the above quadrilaterals:
a) say whether the angle is acute, abtuse or a right angle
b} estimate the size of the angle to the nearest 5°
<) measure the angle to the nearest 5°.

@ AL T A, B and C are three vertices of a square.
a) Use squared paper. Plot the points an a grid.
b) Find the missing vertex and complete the square.

C (9, 3}
¢} Use a protractor to check that the angles are 90°.

B(3, 1)

€2 (0, 2), (1, 6) and (9, 4) are three vertices of a rectangle. Plot the co-ordinates on a grid and
find the missing vertex. Complete the rectangle and check that the angles are 20°,
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Give the measurement of each angle to the nearest degree.

@ o - O 0 € ~oH P z0m B z0H € 0k
& 01 O z6- { 0 QD A0l { ~ok e AL
€ ~oc € oM @ 08 70k P zoc (23 W8]
O 5 © oo { zoc D AGF €D AdG € AOp
@ Estimate the size of these angles and then measure them to the nearest degree.

Use a 360" protractor. If you are using a 180° protractor, measure the inner angle and
calculate the required angle.

@ {4, 5), (3, 5) and (5, 1) are three vertices of a quadrilateral whose oppaosite sides are equal and
parallel. There are three possibilities for the co-ordinates of the missing vertex. Find all three,
and draw the three quadrilaterals on a grid.

@ ieasure the angles of each gquadrilateral. What do you notice?

@ a} Draw five different triangles.
b) Measure the angles.
c) Work out the sum of the angles for each triangle. What do you notice?



| can double and halve decimal numbers.

Examples

3B x 2 067 x 2

{3 +08)x2 {06+ 0:07) = 2

6+ 16 1.2 + 0.14

76 1:34
Double these numbers,
Qo7 ©os
o © oz
Halve these numbers.
O: (7 R
(6 I 3 I

Copy and complete,
©13x2-0+03)x2
=[ ]+ o6
=
DOs6x2=@+06x2
i |
-]
P 29x2=02+09)x2
_|_—|_-|___|
-0
P 24+2=(2104+2
_E'| 0.2
= |
®ss-2-(6+08=+2
=3|[_J
= |
Di1e+2-(1+06 =2
=|_|+[ |
=[]

0-92 = 2

(0-9 + 0:02) = 2
0-45 + 0-01
0-46 185

Double

€ o009

(4 B3 Q sz

O o33 @ o026
0> @ 45

Halve

(13 P o092
QD o028 €D 34

D o3 € o072
D so (220

@oss € oas
D 78 (24 J=R

Find the number hallway
between:

€5 58 and 6-4
€9 0.7 and 0.8

€) 2.5and 3

€5 2:2and 1.9
) 3and55

€D 4.8 and 4.1
€D 0-45and 015
€D 1.04and 1

1y
(3107 : 2
1-5 + 0-35

Find the number halfway
between 1-5 and 1.8,
1-8—1-5=03

03 +-2=015

1.5+ 075 = 1-65
Answer 1-65

C

Copy and complete
Q@ [x2=198
GDKE =35

€ [<2-524
QO |x2=019

O |x2-017
O |x2=12
@ |-2-0073
Q| |-2=245

O |+2-286
Q| |-2=067
® |-2-135
@D+2=3-65

Find the number halfway
between;

B 0-38and 0-39
@ 0-82and 0-828
B 1013 and 1.008
D 202and1.99

@ o027and 0.45
) 315and 3
) 0-85and 0-76
€ 2-23and 23



| can change an improper fraction to a mixed number and vice versa.

Examples

Change - to a mixed number.

L =175
= 3 remainder 2
=32 '
5

DOOB ¥

&

Wiite the next five pairs of
numbers in each numbcer line.

1 2 3 A &

o o 4 T il
L 1 1 ] I ]
A S
LR

1 2 3 4 5

9 e e e
| 1 | | | I

F _i 1 I I 1

O S S S

1 2 3 4 5 G

6 i A o i
L | | ] | | [

A L R T
x5 §F &5 ik
o AR SR
i - A - -

1 | | | | | |

Al I

o
MBS F aee 5l

Use your number lines
to write these improper
[ractions as mixed numbers.

L | |— bnjen
-}-IC

Use your number Hnes 1o
wrile these mixed numbers
as improper fractions.

®: O
02 O
®: O
®2 O

Change 52 to an improper fraction,
2 = (50¢ #) quarters plus 3 quarters
= 20 quarters plus 3 quarlers

= 23 ruarters

@EB@@@@ 5%

Copy and mmp[ete.

03+

13 o =
2 4
19 2
. o

?
e L v-|
@e
_.|_|

Change to improper fractions
®:x ©4
141 O s
®7 @7
©s D2

Write as both rmixed nurmbers
and improper fractions.

D 5

. c

“Change to mixed numbers.

07 0
o 13? 151i[j§
02 o
07 ©

44 50
e 75 Tl

02 o2
8 20
0] o
9 15
125 20
10 16

Change to improper

fractions
(25 0

@ s 26870
190 & 23
@ 9%
D 2 @ 35
@7 D 2
O @4
D 3] @ s



| can write a fraction as a decimal and use a calculator to change a
fraction to a decimal,

Exampres

Write fractions with a
denominator of 10, 100 or
1000 in the right column.

U-t h th

!
& 07

12
120412

428
= Begd B

&

Write as decimals.

43 o o
1o 1m0
2 B 0
10 100
35 9
nn o 10
0: O3
o 10

Write as fractions.

© o3 P os

Craw a number line 10cm
long. Above the fine mark it
trom 0 to 1 in steps of 0-1.
Below the line mark it from
0 to 1 in steps of L.

0 01 02 0.3

=

1

0¥ 5
Use your number line to
copy and complete.

@ 04 =[ Ifiiths
D o8& ~[ Jrifths
@®  |=1fh
€) |- 3fifths

Find an equivalent fraction
with a denominator of
19, 100 or 1000,

o 4

S =ag
3l

¢ =0 073
T F2Eci-i .
2= Jog0 - 0125

B :

o Capy anr:-'l continue the
numkber line from Q to 1.
o 01 02 03

[ | La |

T T T

o L& 32 £
pr e e ] 2

P
Bl
=

]

P

20
Lse vour number line to
copy and complete.

©05-3-7

©05-7-§

Q-5
L T e T
S| STy

Write as fractions.

@ o075
@ 050
& o0
@ o

Write as decimals. Use a
calculator to check or work

oo s
0006

El; ml bl e

Lise a calculator to
divide the numerator
by the denominator.

1=1+3=0333...
%=2+9;ﬂﬂl“
2=5+7=0714...

c

Cive the answer as a

decimal.
a
Qos+5
A1 _ 28

QRiLN]
©o:-!
3
©: o012
e 0:2 + 12
1
Q. +o0s3
Wi'rite in ascending order,
©: 043 0344
10 a9
8 el
3 o
9 5 05 1410,
8l
S 0188 08
2z 27
D o2 5
@ 056 § 0556

Use a calculator to write as
a decimal, rounding to the
nearest hundredth.

13 ©;
Q: 170
® ©:



| can solve problems involving finding fractions of amounts.

Examples
Find 1 of 90p
1 ;
5 0f ¥0p = 30p + 5
= 18p
Find 11—“ of: Find% of:

(1 oy O s
Qi @0
© 30p
@ 45cm

Find%ﬂf:

@ There are 80 drawing
pins in a packet. One
tenth are yellow. How
many vellow pins are
there?

oy

@D Phil has £40. He spends
one fifth of his money,
How much does he
have [eft?

@ There are 21 sweets in
a packet, Cne third are
eaten. How many are
tel?

Find ; of 90p

2 of 90p = (90p + 5) % 3
=18p x 3
= 54p

Find
@ lof1s
2 of85
ng-of 60
O cioos
© iof32em
0 ot
@ :ofigkg

© of24p

9 There are 20 cards in a
packet. Two filths have
been used. How many
cards have been used?

@ A botlle holds 2 litres
of rmitk. Three tenths is
drunk, How much milk
is left?

@ A pizza weighs 360q.
One half is eaten,
A further one sixth is
egten. How much is left?

@ Five eighths of the 40
children in Drama Ciub

are girls. How many
boys are there?

G

Find
= of 500g

€ ;o2

12
s 0f 2m

QO iofa2
© :of60

&9

o %c-f 400 m|

© ofo0

e Germnma has to
drive 385 miles. She
completes five sevenlhs
of her journey before
stopping. How much
further does she have
to go?

@ A jar contains 450 g
of jam. Two ninths is
used. How much is
left?

@ A saucepan holds 1-5
litres of water. Nine
hundredths evaporates.
How much water is
left?

> A bag holds 4kg of
flour. Three fifths is
used, How much is left?



I can find 10% of an amount and use it to find 5%, 20%, 30%, etc.

Examples
10% of 40
1

75 of 40
40 + 4

4

&

Find 10% of:

O <
€ o
© 20
[ 4 Rell

Find 10% of:

0 20p
& sop
@ £3.00
& £2.40

Find 10% of;

@ S0cm
@ S0cm
@ 100g
€ 6004

30% of 40 5% of 40

(10% of 40) x 3 (10% of 40) + 2
43 4: 2

12 2

@ A shirl costs £14-00,
fn a sale there is 10%
off. What is the new

price?

@ Reece has 70 oul of
100 in a test.
Isla’s score is 109
better. How many
marks did Isla gel?

For each of the following
amouynts find:

a) 10% b) 5% -©) 20%.

@ 500 € 2kg
© 7oom @ 25m
Find

© 30% of £6.00
) 60% of £1.50
€ 0% of 75cm
© 90% of 3m

€) 5% of 800g
@D 5% of 4kg
@ 596 of 1 litre
& 5% of 420 ml

@ The price of a car is
£4000. It is reduced by
20%. YWhat is the new
price?

&) A factory employs
350 people. Sevenly

percent are Wormen,
How many men work
at the factory?

& A school has 200
pupils. 5% are absent.
How many children are
al school?

3% of 400
(1% of 400) x 3

i
1 of 400} x 3

4 %3
12

C

Find

@ 1% of £360
€ 6% of £25

€ 15%ofdm

@O 25% of 50cm
@ 999 of 6009
© 20%0f15kg
€ 15% of 200m
€ 95% of 10 litres

Copy and complete.
© 10%of (-4
P 20% m‘]j ~ 28
P 25%of[ |=20
@ 10%of |-38
® 190f |=03
@ s%0of[ =10
D 75%of| =60
D 2%of| |-4

€ Ed leaves £2000 in a

87

savings account which
earns 5% interest each

year, How much s in

the account after:
a) 1 year
b)Y 2 years?



| write fractions and decimals as
percentages.

Per cent means out of 100.

Percentages are fractions with a denominator of
100.

The symbol for per cent is 6.

H

23 _
e A0

]

To express fractions as percentages, change them
to equivalent fractions with denominators of 100.

P P e

% g5 - /0%
1 _ 50 _ ey
z= 700 = 20

To express decimals as percentages, multiply by
100,

0.2 = (0-2 X 100)%
= 20%

0-53 = (0-53 x 100)%
= 53%

It is useful to know that:

ﬁ = 001 = 1%, % = (-02 = 29, etc.

55 =01 —10%, 2 —0.2 = 20%, etc.

bl o :
1= 25%, | =50%, 3 75%

Use 10 x 10 grids of small squares. Shade in:
o 27 sguares o 9 squares
o 80 squares o 50 squares.

Express each shaded area as:
a) a fraction

b)Y a decimal

¢) apercentage.

o Copy and complete the table.

Fraction | Decimal | Percentage
1
1
i)
1
1
i
3
1
1048 . i 2l
3
0-62

Copy the sentences changing each
fraction to a percentage.

e e tenth of the cars were blue.
o Ellie has read three guarters of her book.

€) One haif of the class saw the
programme.

o Cne pence is one hundredth of one
pound.

@ Bruce lost one guarter of his golf balls.




B

Express each shaded area as:
a} a fraction

b} adecimal

C} a percentage.

@ o

(2 ®

89

C

Write each fraction as:
a) a decimal

by a percentage.

o T]fj ﬁ?ﬁ 9 é
9 13r> 9 'i;u 9 ﬁl
o T e L o 4

o0 5 50

Write each percentage as:
a) afraction in its simplest form

b) a decimal.

D s0% @ 0% D 75%
D 1% D 80% @ 39%
P 8% D 95% D 16%

@ 83% of the passengers an a coach are
children. What percentage are adults?

@ 65% of the footballers in the Premiership
are foreign. What percentage are
English?

@ Copy the table but give each of the
marks achieved as a percentage of the
total marks for that test.

Supject | Total | AR | Dan | Mia | Fay
(English | 100 | 61| 39 | 58 | 47
‘Maths | 200 | 140 | 168 | 70 | 94
Fienc& 50°[ 2z [Tae | 39 [
|RE. T el E T

I:History 253 w20 19 | 16 | 13

; @ Cne guarter of the customers in a shop

buy one item. 18% buy two items. What
percentage buy more than two items?

@ Three fifths of a bag of flour is used. A
further 15% is used. What percentage is
|left?



E2 SCALING

90

| can solve a problem involving scaling up a number.

Scaling a number makes it bigger by a given factor. Scaling by a factor of 3 makes a number three
tirnes bigger.

Example

e __ 00

A necklace is made using this patlern of

beads. There are 16 yellow beads.
How many red beads are there?

.

0 e0CCCOC0O

A necklace is made using
this pattern of beads.
Copy and complete Lhe
pair of number lines.

Black F——+—F=m—

0D 2 4 & 20
While F——+—+ I
0 5 1015 50

Use your number lines.

Find how many while
beads there are if there

Tare:

a) 14 black beads

b)Y 10 black beads

c) 70 beads altogether?
How many black beads
are there for every:

a) 15 white beads

b} 40 white beads?
How many white beads
are there in every:

a) 7 beads

b} 14 beads

€) 42 beads?

vellow H————"—FH—+——+—1+——+—1—
2 4 6 & 101214 16 18 20
Red H—H—FH—+H—+—+—+—++1+-
03 &6 9 121518 21 24 27 30
Answer There are 24 red beads,

o Peggy has 4 stickers for

every 3 that Gary has.
Peggy has 24 stickers.
How many does Gary
have?

o There are 2 green

apples for every 3 red
apples. How many
green apples are there
if there are 21 apples
altogether?

e A football team scored

5 goals for every 4 they
tet in. They scored 40
goals. How many did
they let in?

@ A market stall sold 3

white towels for every
2 blue towels. They
sold 10 blue towels.
How many white
Lowels were sold?

In a box of chocolates
there are 4 soft centres
for every 3 hard centres.
Sixteen chocolates have
soft cenlres. How many
hawve hard centres?

C

o There are 35 people
on a bus. Two in every
seven go upstairs.
How many pecople are
downstairs?

9 Four in every nine
shirts sald are white,
36 white shirts are sold.
Howe marty shirts are
sold allogether?

6 In 50 two in every five
children have fair hair.
Twelve children have
fair hair. How many
children are there in
the class?

o Five books in every
eight are fiction.
There are 200 books
altogether, How many
of Lhese are non-
fiction?

© Two children in every
Lhree at a swimming
ctub are girls, There
are 30 girls. How many
boys are there?
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| can arrange a set of decimals in order.

Examples
Arrange 5-3, (-35, B and 5.8 in order.

Write in column,  Putin zeros.  Arrange in order,

53 5:30 0-35
0.35 0.35 5.3
8 500 58
58 580 B
Write the larger of these pairs of numbers.
Q17 70 © 25 25

Arrange these decimals in order,
Write the smallesl first;

@) 562 652 526,65 625
€ 38 1.8 381, 38,1.38
€) 676,66, 606, 67,607
@ 21.8 28 218 2.08 28

What number lies halhway between:

o9and10 e T-4 and 1-8

D 155and1.75
@ 6.7 and 7.1
& 71and 547

@ Copy the Jine and locate the numbers.
2-95 3.06 3.0 2.91 2-98 3.04

2:9 3.1
e el S T T

What number is halfway belween 1-3 and 1-97

19 —-1.3=08
06+ 2=03
134 03=16
Answer T-6

5 0 Copy the humber line.

Put each number from the box on the |ine.

1.0 03 1.2 05 1-8 1-5

[N e A e e O G 2 |

Arrange these decimals in order.
Write the smallest first.

€ 42 425045 45,452
€ 61,671,067, 67,617
€) 339,093 309 33, 039
@ 24,822 824,844,842

What nurnber lies halfway between:

© 215and 245 © o8and 085
© 067 and 0-68 @ 4anda7s
€ +355and 4359 (P 097and 1.0
€ 1266and1272 P 755 and 7.67

@ Draw a number line from 2-9 to 3.0 with
20 divisions. Put these numbers on your
fine.

2.95 2.09 2.971 2.975 2.925 2.94



A3 ROUNDING DECIMALS 92

| can round decimals to the nearest whole number.

To round a decimal traction to the nearest whole number look at the tenths colurmn.
If the number in that column is less than 5, round down,
If the number in that column is greater than 5, round up.

Examples
3.5 rounds to 4
£2.70 rounds to £3

549 rounds to 5
£6:28 rounds to £6

JeZ2mrounds to 4m
5.37%km rounds to 5km

A 8 e

Choose one of the numbers Round to the nearest pound. Round to the nearest 10p.
I thie Drackels @3 @52 Qo2 @52
€ 19 roundste (1, 2), © 7y @ f449 € 583 @ roos
&) 81 rounds to (8, 9). © 29 @ o © e O 274
© 152 rounds to (15, 16). [ 4 FAIETINN o FAFRE O 3139 € 87
e 9.8 rounds to (9, 10). 9 £12-80 @ £6-61 9 £7-45 @ £6-95

9 71 rounds to (7, 8). Round to the nearest whole Round to the nearest tenth.

ftmben D255 @sar
g :'2 g ;3; (12T 17 LRy
® 1414 @135
® 3 O 54 Qo2 O s20
QO g 27.91 ® 53 D 662
125

® =
Round to the nearest
Round to the nearest metre, 10 cm.

@ 142 rounds to (14, 15).
o 39 rounds to (3, 4).

€ 177 rounds to (17, 18},
€) 143 rounds to (14, 15).
) 185 rounds to (18, 19).

Copy and complete,

0 £12.30 rounds to| @ 2:6m @ 1=A9m @ 419m €D 3.37m
Pk @ 3.9m @ 7-5m @ 1-62m @ 5:84m
@ £5-80 rounds to |:| @ 9.7 m @ 11.9m @ A% m @ 12-05m

@ £6-10 rounds to D
@ £3-90 rounds to |:|
@ £7.20 rounds to D

@ £8-60 rounds to| |,
B £4-50roundsto| |

& e3m ) B26m
@ 2.8m @ 4.81m

Round to the nearest

kilegram.
@ 3-5kg

€D 43kg
€D 1638kg

€ 0-29m
€) 876m

Round to the nearest
100 ml.

@ G246 litres

& 36kg €8 909 litres

@ £3-40 rounds to |:|

@ £5-30 rounds tcr|_'_j.
@ £9-80 rounds to !_

@ 12.2kq
€ s7kg
€D 54kg

€ 761kg
€ 1191kg
€@ 919kg

€D 18932 litres
€D 35-184 litres
€D 20-250 litres



A3 COUNTING IN DECIMAL STEPS

93

| can count in decimal steps and find the missing numbers in a sequence

involving decimals.

Examples
Count on four steps of 0-6

Count back in steps of 0-05
from 0-3

A

Write out each sequence.
Start at 0 each time,

o Count on 4 steps of 0-5
9 Count on 6 steps of 0-2
9 Count an 7 steps of 0-3
o Count on 4 steps of 0.9
€ Count on 5 steps of 0-6

Complete each sequence.
Q642 |[ || es
©c172] [ JasT]
© ooz o004 | [ _|I_]
Qois Jooo [ [ 1]

(5 ) ”_I 01 j02[ 03

C

Complete each sequence.

© 120 [35[ |50
© o3[ [os| Joo]
© 191193195 |1 [ ]
Qoos] o1 |oi1s[ |
© 111 (24] [37

+0-6 —0:6 +0:6 +0:6 06 % 4 — 2.4
SN TN TN

Lot b b 4

0 1 2 3 4

—0-05 —0-05 =005 —005 005 =005 03 +005=68
l.r—'x \lpf-xl,»--' .rz*w\[,r % T’ “\l ’

{ a1 0-2 03 .

Wirite olit each sequence.

G Count back in steps of 0-8 from 3.2
0 Count back in steps of 0-4 from 2-4
e Count back in steps of 0-7 from 3.5
e Count back in steps of 0-5 from 3-5
@ Count back in steps of 0-2 from 1-8
0 Count back in steps of 0.3 from 1-8

Work out Waork out

@ 56-07
® 3604
@ e P o
@ 014+ 002

@ 054 0.09

Copy and cormplete Copy and cormplete

o 0.07 = D — 0-21 @ 0.72 = |j — 0.09
@ oo05x[ |=02 @ 049-[ [-007
© 009 <[ |=054 @ o4:[ =005

@ o003+ |-0005
@ 0027 -+ | |=0.009

© 0008 x| |=0072
Q@ 0007 x|_[= 0042



A3 CALCULATOR PROBLEMS 94

I can use a calculator to solve one- and two-step problems involving
decimals.

Remember to match the units of measurement,

What fs the cost of two towels at £3-6% each and &
rukber duck costing 92p7

CBILE S KEHRE S e 83

The total cost is £8-30.

Exgraple

A

o Zoe saves £2-40
each week, How
much has she
saved after 14
weeks?

e A plank is 2-6m
long. Lengths of
75cm and 65 cm
arc cut ofl.

How long is the
plank now?

€ A bath is filled with
32-5 litres of hot
water and 23.8
Jitres of cold water.
How muuch water is
itt the bath?

o There arc 150 tea
bags in a packet.
They weigh 480g
altegether. How
much does each
bag weigh?

o Chas buys two
garnes for £2-35
each. How much
change does he
have from £107

@ How many 75p
pens can you buy

for £207

o A school buys a set of
books for £178-20.
Each bookcosts L4-95,
How many books does
the schoot buy?

e At the Equalor the
temperature is 34.6°C,
At the Morth Fole it is
86.7°C colder, What is
the temperature at the
MNorth Pale?

a Chickens cost £2-80
far ene kilegram.
Estelle buys a chicken
waighing 1-6kg. How
much change will she
reccive from £107

€ cight lengths of 215
rmetres are cut fram a
40 metre rope, How
much rope s left?

o A shower uses 9 fitres
of water every minutc.
How much water is

used in 25 secands.

C

o A burger bar sells 276

burgers, The takings for the
burgers is £372.60. How
much does each burger
cost?

e Tickets for a charity concert

cost £4-50. 629 people
attend the concert. How
much money is raised by
the sale of tickcls?

e Alake is 127-4 metres

decp. The surface of the
lake s 73 metres above sea
level. How fnany metres
below sea level is the
hottom of the lake?

o The 250 pins in a packet

weigh 20 q altogether
wWhat is the weight of &
pins?

o Twenty-eight 150 mi

glasses and a jug holding
1.385 litres are filled from a
§ litre pack ol orange juice.
How much juice is left?

Every day the four
rermibers of the Tunbkck
family eat a 35 g portion of
breakfast cereal each. How
many days will a

1 kilogram box last?



A3 WRITTEN METHOD (TU X TU)

I can mulitiply a two-digit number by a two-digit number.

Examples :
68 # 27 K| 2 68 68
Estimate first 60 (12004201620 % 27 x 27
68 x 27 rounds Lo 70 X 30 8| 160} 36| 216 1200 60 % 20 1360 68 x 20
70 % 30 = 2100 1836 420 60 % 7 476 68 X 7
68 » 27 i5 less than 2100 160 8 % 20 1836
56 Bmx7 !
1836
|
Copy and complete. Copy and complete. Copy and complete.
© < 10 s Q@ = © : © =
20| T 3 LT <19 %39
4 20210 53 e 58
24 % 15 = 8 x 10 %28 %52
20 7 e 85 e a3
(2] X T S <13 %24
30 O 2 O -5
6 - 0 = x45 x41
e s A 29 © v @ s
£q
2 sl %36 %37
2 % 20 = 54
o % 10 fi G 73 @
74
4|:}| 09 x 54 63
= 2%9 — =
L4 SRR T
A7 % 16 = | Work out
ERY ©
o ;i v ® 21514
Pt el -t 40 %30 @ 145 x 27
= 6 % 30 D 271 <35
2; :
!29 S 40 x 4 D 483 <16
X 24 =
e S & 149 55
Work out etk ont D 527« 29

© 25<18 @ 52x19
@ :1x27 @ 38x22

O <16 @ 47x26
© 2 x23 @ 38x35

D 36818

€D 492 x 36

95



3  WRITTEN METHOD (HTU X TUAND U.t X U)

96

| can multiply three-digit numbers and decimals by a one-digit number.

Examples

368 368
% 7 x 7
2100 300 ¥ 7 2576
420 60 = 7 i
56 Bx7
2576

A

Copy and complete.

@ =

P
200 = 5
70X 5
B x5
[ 2 L)
X 9
300 = 9
50 % G
259
€ s
w7
i
—G-SX?
O 59
A
See o
0.9 3
Work out

© 1452 @ 57 x4
O 23445 @ 26x9

6-8
b
4200 6 X7
56 08 x7
476
B .

Copy and complete.

O 2 © s

5 2 X 3
[ 2] 373 0 s
=4 wooQ
© 6 @ s
® 7 S o
e 356 e 5.0
bg A 6

Wiork out,

© 238x5 P 48xs
P a9 x5 @ 76x8
@ 93xe P sox4
Q 2sxs @ r2x7

@ A buckel holds 8.7
litres of water, How
much water would 6
buckets hold?

@ A baby weighs 6-4
kilograms. His mother
is nine tirmes heavier.
How much does his
fnother weigh?

168
x 7
700 1X7
420 0DEX7
0-56 0-08 X 7
11:76

C

Wiork ouf,

€ 1354 <8
€ 2759 x 9
€ 3018 x 7

Q 4267 < 4

© 237 <0
0O 759 x4
& 1458
€ 382x5

© 159 %3
D273x7
P cssxs
$zo2x8

@ A rolt of wallpaper is
3-16 metres in {englh.
How long are 8 rolls
altogether?

@ One gallon is 4-55
btres. How much is
three gailens in litres?

@ A Cross-counliy Circuit
is 1-78km long. An
athlete runs the circuit
five times, How far does
he run altegether?



A3 WRITTEN METHOD FOR DIVISION

97

| can divide a three-digit number by a one-digit number.

Examples
Estimate 231
6 = 30 =180 60 (6 X 10)
6 X 40 — 240 171
180 = 237 = 240 — 60 (6 % 10)
30 = Answer < 40 m
; — 60 (6 % 10)
57
48 {6 x 8)
3

A

Answer 38r3

For a more 231

eflicient method =180 (& = 30}
of chunking -51

start by — 48 (6 % 8)
subtracting 3

this figure.

TR0 <0 231 + 6 < 240

C

Answer 3813

Work out

€ 35-2
2 N
€ 746
© 1408 @ 75+14

@ In one week a vet
treated 112 animals.
One quarler were
dogs. How many were
not dogs?

@ Five friends share a
prize of £130. How
much should they each
receive?

Waork out

Qa4 Q3018
@x-6 O 294-+9
©Qi1s0-7 P 173+4
Q3-8 P211+56

© 1299 @a93-+7
Q14+4 @252+
@ 576 P 3s0+09
©205-7 @ 267+4

@ Chairs are stacked in
groups of 6. How many
stacks are needed to
store 138 chairs?

@D There are eight screws
in each packet. How
many packets can be
filled with 208 screws?

@ One ninth of the 162
children in a schogl can
spealk a language other
than English. How
many children anly
speak English?

Work out

€ 34-5 € 220-+18
@08 @ 299+13
© 11:6 P 180+12
©s53:9 P 360+15

©s5+-4 P 250+22
O 43+7 @ s50+25
@ 731+9 @ 400+ 32
©s24-8 @ s00-34

@ The 14 sweetsin a

packet weigh 322 q.
What is the weight of
each sweet?

@ One in every fifteen
raffle tickets wins a prize.
435 tickets are sold.
How many prizes are
needed?

@ How many 25 ml doses
of medicine are there in
a 600 mi hottle?

@ How many days is

G600 hours?



A3 NUMBER PROBLEMS

| can solve number problems and puzzles.

A

Place a decimal in each box
to make the calculation
correct.

@of |+o] |=1
&4 |+] |2=10

e | think ol a number.
| multiply by 3.
| add 65.
The answer is 107,
What is my number?

o | think of a number,
1 subtract 159,
| divide by 4.
The answer is 36.
What is my number?

o The perimeter of a
square is 68 cm.
How fong is each side?

G The perimeter of an
»equilateral triangle is
45cm, How long is
cach side?

Copy and complete,
© s [+ J7r-8s
©| -2 |-18
© [ -

x 2
1

3L
® [1s
e 4
4 [

3

Copy and complete,

O [+0a+] -1
O |+ |+o18-1
€ 0-38 |+ |s3
Qic-| |s1+3 |

e Fthink of a number
[ multiply By 6.
| subtract 138,
The answer is 84,
What is my number?

e | think ol a number.
| divide it by 4.
| multiply by 9.
The answer is 423,
What is my numbet?

o The perimeter of a
reqular pentagon is
215am. How long is
each side?

e Find two consecutive
numbers with a
product of:

a) 702 b} 210

o Find two numbers
between 10 and 20
with a product of;

ay 224  b) 247,

@ Find two numbers
betweens 20 and 30
with a product of;

a) 700  b) 462

93

&

Copy and complete.

2[4

Use the above digits
once only. Place ane
digit in each box so that
the answer is a whole
number,

| B &

o The perimeter of a
regular octagon js
368 cm, How fang is
each side?

3|0

Copy and compicte.

O |+016 07-—44
O [<6-37=17
@ |-12:-10=02
O |<3-21=36

€© | |x5-856- 278

D |-296:7-45
@ |-8-524-15646
B[ |+ 178 x15- 300

@ Find two consccutive
numbers with a product
of 2352,

@ Find two numbers
between 30 and 40 with
a product of 1254,



B3 SEQUENCES

99

can continue sequences involving diagrams and numbers.

A
Patterr 1 /ﬁ *\,

b
Pallern 2 ;;'r’ \
/ N\

A
Pattern3 /4

f? '%“*‘@
& i
e

o Draw the next two
diagrams in the above
pattern.

e Copy and complete the
table.

Pattern Matches 4

Lh B T pa =

o Copy and complete
this sentence.

The rule for the

nuimber of matches is
times the

number of patterns.

o How many matches
would there be in:
a) the 6th pattern
b} the 10th pattern
¢} the 20th pattern
d) the 100th pattern?

Pallern §
g B ALE
Pattern 2 SN
.

Pattern 3
.

o Use squared paper.
Draw the next two

diagrams in‘the above

pattern.
o Copy and complete the
table.
i Fatt:a_lr:r; Dols
1 <
2
&
4
3

e Copy and complete.
The rule for the
number of dots is

___ timaoes the
number of the pattern
us

o How many dots would
there be in:

a) the Yth pattern
b} the 14th pattern
c) the 36th pattern?

e Which pattern has
a) 16 dots
b) 24 dots
c) 40 dots?

C

7%,
Pattern 1 -‘;’f Y\,

Pattern 2 /j’ v

A
Pattern 3 / \\,‘ / !}‘*‘
I__,_..P" i l“‘

o How many matches
would there be in:

a) the 7th pattern

b) the 16th pattern

¢) the 39th pattern?
e Which pallern has:

a) 27 matches

by 33 matches

¢) 215 malches?

Pattern 1 -

L]
Parn:gm 2 B ]

]

|

.
Fattern 3 L

|

-

e How many dots would
there be in;

a) the Bth pattern

b} the 24th pattern

¢} the 100th pattern?
€ which pattern has:

a) 21 dots

b} 65 dots

c) 129 dots?

e Write a rule for each of
the above pallerns.



B3 FACTORS | 100

| can find all the factors of a two-digit number.

Factors are numbers that divide exactly into another number. It is often useful to think of factors as

pairs of numbers whose product is the target number.

Examples
Find the factors of 12.
1x12 2x6 3x4

Thefaclorsof 12are 1,2, 3,4, 6,12

&

Copy and complete the
second factor in each pair.

© 2¢4—-s8and| |
o 15-=-3and|:|
€ 42—-6and| |
o 18—*9and|:|

© 28—+ 7and| |
O 40— 5and| |
€ 54—9and[ |
e ?2—=-Sand|:|

Find all the factors of the
following numbers, The

number of [aclors is shown

in brackets.
© 10«
D 144
- @ 2066
D 243

@ 27
QD 16(5)
B 20
D 42¢8)

36 40 24 45

Which of Lhe above
numbers have a factor of:

17 ©
181! e s?

Find the factors of 9.

19 3IX3

The factors of @are 1, 3, 9

Find all the factors of the
following numbers,

9 Mick says
Every whole number

has an even number of
factaors,

Laila disagrees.
a) Who is right?
b) Explain why?

@ Sharon notices that the
number of chocolales
ina full box is a
muitiple of 9. She eats
one. The number of
chocolates is now a
multiple of 7. How
many chocolates are
there in the full box?

0 Find five numbers that
have a factor of 2 and
a factor of 3. What do
you notice?

@ Investigate numbers
which have a factor of
3 and a lactor of 4,

&

Find all the factors of:
@ 4 O <2
O 5o 0O
€ s/ [ 7 R
O s: © 100

e Yunis is under 40.
Both his age and
his mother’s age are
mulliples of 6. Next
year both ages will be
multiples of 5. How
old are Yunis and his
mother?

@ Milly's great
grandmother’s age is a
multiple of 9. Next year -
it will be a multiple of

7. How old is sho?

Find the highest factor
shared by:

@ 24 and 60
@ 38 and 57
@ 32and 48
@ 30and 75.

Make a statement about
numbers that hayve a factor
of balh;

@ Jand 5
@ 4and 5.



B3 MULTIPLES AND DIVISIBILITY TESTS

| can recognise multiples of 2, 5, 10 or 100.

Multiples are the numbers in a multiplication table.

Whale numbers are muitiples of:

2 if the number is even
5 if the last digit is 0 or 5

&

Write down the first six
multiples of:

Q: [ 4 W
©s O 4
©n (6 B

Which number should not
b in the box?

€  Multiples of 2
34 25 78 90

Multiples of 5
95 30 54 70

© Multiplesof 10
780 110 205

@ hMultiples of 100
300 60 1000

Write Yes or No
@) 1s 36 a multiple of 27

@ Is 52 a multiple of 5?
® !s 70 a multiple of 10?

& 1s 210 a multiple of 1007

@ i3 45 a multiple of 57
@ Is 87 a multiple of 27
&) 's 400 a multiple of 100?

(B 1s 804 a multiple of 10?

10 if the last digit is O

101

100 if the last two digits are 00.

Write True or False,

o 390 is a multiple of 10.
© 185 is a multiple of 5.
© 245 is amultiple of 2.

o 1300 i-s a multiple of 100.

0 32140 is a multiple of 5.
© 209 is a multiple of 10,
o 194 is a multiple of 2.

€ 540 is a multiple of 100,

9 750 is a muitiple of 10
€D 1501 is a multiple of 5.
m 430 is a multiple of 2,

B 3000is a multiple of 100,

Dani says

Any number that ends in the
digits 52 is divisible by 4.

(B Divide 152, 252 and
352 by 4. |s Dani's
statement true for these
numbers?

@ Use a calculator.
Test Dani’s statement
using 3-digit and 5-digit
numbers.

C

A mumber is @ muitiple of 4 if
its last two digits are divisible
by 4.

@ Test the above
statement for five
3-digit numbers.

e Use a calculator and
test the statement for
five 4-digit numbers.

o Can you explain why
this statement is true?

A number is a muitiple of
3 if the sum of its digits /s
divisible by 3.
o Test this statement for:
a) five 2-digit
numbers

b} five 3-digit
numbers

c) five 4-digit
numbers.

Llse these cards.

B
EEJ

hMake as many 3-digit
numbers as you can that are;

e multiples of 3
e multiples of 4.




B2 NUMBER PROBLEMS

102

| can use my calculation skills and understanding of place value to solve

number problems.

A

Copy and complete.
@17+ |=44
© |x5-35

Find the number that lias
halfway between:

Find all the possible ways to
complete these calculations
by placing one digil in each
box

G‘Dx:|=24
O 3+ J7-4

o | think ot a number.
jadd 17,
| doulde it.
The answer is 46,
Whal is my number?

Use a calculator,
Copy and complete.

76| |=145
O |+59=213
O 224-[ =87
P ]-94-132

@ Find two consecutive
nurmbers with 3
product of:

a) 320 by 182.

Copy and complete.

@s1- |-s2s
| 724

Find the number thal lies
halfway between:

€ 39ande2
@ s5-41.and 473

Find all the possible ways Lo
compiete these calculations
by placing one digit in each
box.

© o |x] |=2
O« 1 1=

€ 1 think of a number.
i multiply by 3,
[ lake 0-77.
The answer is 6.73.
Whal is my number?

Use a catculator,
Copy and complete.

O < |-1ms
€ 1800 I5=35 °
O ]x3 06=93
@ |=8-25-37

@ Find two conseculive
numbers with a
product of;

a) 5852 b) 20270,

G

Copy and complete.
Q2792 |=51
e |<14=94

Find the number that lies
hatfway belween:

o 1.4 and 2-56
@ 267and 3.

Find all the possible ways to
complete these caloulations
by placing one digil in each
box,

© 1o [ 1-[1 ]
O 1<[1-

e | think of a number.
| hahe it
| add 3-59.
The answer is 5-74,
Whal is my number?

Use a calculator,
Copy and complete.

O |+es6-9-17
@ |-9xa8=302
@ | %3 |- 3303
@ siz-7 |- ][]

@ Find a pair of two-digit
numbers with a product
of:

a) 221 by 437.



B3 WORD PROBLEMS 103

| can solve word problems.

Example

Mr. and Mrs. Flynn's plane tickets to
Venice cost £239 cach. They spent a
further £647 while they were there,
How much did their holiday cost?

£239 % 2 — £478
EA78 | £647 = £1025
The holiday cost £1025
altogether.

&

o There are four children
in each tent. How
many tents are needed
for 72 children?

o Kenny buys three pencils
and a ruler for 75p.
Pencils cost 15p. How
much is the ruler?

€) Al of Mrs. Carter’s
seven children had four
children themselves. All
of her grandchildren
had three children
cach. How many great
grandchildren does
Mrs, Carter have?

o There are 42 cars in a
car park. In the next
hour 29 enter and 53
leave, How many cars
are there now in the
car park?

o Komal has read one
fifth of her book. She
has just read page 24.
How many pages does
the book have?

o How many minutes

are there in a day?

e There are 116

passengersion o
train. At Lthe next
station 48 people
get off and 57 get
on. How many
passerigers are there
now?

e Sharon has 200

chocolate buttons.
On Monday she
eats one fifth of the
sweets, On Tuesday
she eats one half of
the rest. How many
chocolate buttons
are left?

@ Louis flew 2564

miles and then
travelled 287 mites
by train. How long
was his journey?

e Jodie buys eight ice

creams at 79p each.
She pays with a £10
note. How much
change will she
receive?

e Five biscuits weigh

225 9. What does
one weigh?

L+

o There are 24 |affa cakes
in each box. How many
boxes are needed for
1200 cakes?

€) There arc 342 passengers
on a flight leaving
London.
At New York 153 people
getl off the plane and 79
new passenders get on.
How many people are on
the plane when it [lies on
to Los Angeles?

a There are 4 wards on
every floor of a hospital.
Each ward has 20 beds.
How many floors are
there if the hospilal has
560 beds altogether?

o In London a car costs
£924% This is £1768
more than the price of
the same car in Holland.
What does the car cost in
Holand?

o Beef costs £6-40 for cne
kilogram. Whal would
350 g cost?

e There are 16 pencils
in each packet and 48
packets in each box.
A school buys two boxes.
How many pencils has il
bought?



B3 TWO-DIMENSIONAL SHAPES

104

| can measure the angles of 2-D shapes and use this to investigate their

properties.

A

o Use triangular paper.
Draw three different

equilateral triangles.
Measure the angles ot
each triangle. What do
you find?

o What is each angle of a
square?

o Use a ruler and a
protractor only. Draw:
a) an equilateral
triangle with sides
of 5¢m
b} a square with sides
of 3-5cm.

o Use a small rectangle of
card.

a) |oin the mid points

of the longer sides.

by Draw a diagonal in
ane half.

c) Cutthe card into

three shapes along
the lines.

e Make ditferent shapes
using vour three
pieces. Draw round
and label each shape.

o Use triangular paper.

Draw three different
regular hexagons.
Measure the angles of
each shape. What do
you find?

Draw round a regular
pentagon. Measure
each of the angles.
What do you find?

Use a protractor and a
ruler only. Draw:

a) a regular hexagon
with sicles of 3cm

b) a regular pentagon

with sides of 2.5cm.

o Use squared paper.

Drraw different
parallelograms.
(Cpposite sides equal
and paralel.)

-

Measure the angles of
each shape. What do
yau find?

Use triangular paper.
e Make different shapes

using four equilateral
triangles side to side,
Label each shape.

6 Make dilferent shapes

using six equilateral
triangles side to side.
Label each shape
and draw any lines of
symmetry.

L+

o Copy and complete

this table showing the
sum of the angles of
regular polygons.

[ Sides g' Angle i Sum of |

b LAngkse
> |
4 | o0v | 360° |
5 i
6 :

=

o Can you see a paltern

in your table? Use the
pattern to write the
next three rows.

o Use a rufer and a

protractor only. Draw:

a) a regular oclagon
with sides of 2cm

b) a regular nonagon
(9 sides) with sides
of 2-5¢cm

c) a regular decagon
{10 sides) with
sides of 2-2cm

td} a parallelogram
with sides of 3cm
and 5cm and a 60°
angle.

o A trapezium has one

pair of parallel sides,
Investigate the angles
of a symmetrical
trapezium.



B3 NETS

| can draw accurate nets for 3-D shapes.

&

o Copy this net onto squared o Copy this net onto squared paper.

paper. Cut it oul.

Cut off one square and fold
to make a nel for an open
cube.

o Copy this net and cut it
out. Cut off onc square
and fold to make a net
for a closed cibe.

o Make nets for these cuboids,

& &

€) Use triangular paper.
Make this net for a tetrahedron.
Find different nets that make
a tetrahedron.

@

o Copy this net onto squared paper. Cut it out and make

the pyramid.

o Make a net for a square based pyramid with a base
area of 25 cm?® and a height of 5 cm.

o Make a net for a hexagonal based prism with a length
of 6 em and edges of Z2em.

105
Cut it out and make the cubaoid.
10
5 3
5 5
Z 2
5 5
5 5
2 2
10

0 Copy the above net onto
squared paper. Cut it out and
make the triangular prism.

f"\




C3 LINE GRAPHS

| can draw and interpret line graphs.

Line graphs are graphs in which a set of data is plotted
and lhe paints are joined up with a line.
Line graphs often show a trend.

Examples

This line graph shows the average daily maximum
ternperature in London during the year.

honth

] FMAM/| | ASOND

Temperature (°C) (4 5 7 9 121618171511 8 5

This line graphs shows the temperature
between 6 am and 6 pm on |une 8th.
Whal was the temperature at:

a) 10am
by 11am?

At what time was the temperalure 10°C?

Answer

A

12°C
1s2C

Answer

Answer

Ternperalure ("0

F1—
0=

Terperature {7C)

T 1 T T t 1
M ] | A5 ONTD
honths

G0 B

Match each of these statemenls to one of the graphs.

o The pulse rate rises slcadily.

e The pulse rate begins to rise and then
falls quickly.

e The pulse rate rises more and more guickly.

=

Pruilse Rale

o The puise rate stays the same and then

falls quickly.
o The pulse rate falls faster and faster.

o The pulse rate rises, stays the same
and then rises quickly.

o The table shows the results of Sara's weekly
tables test. Use the data to draw a line
graph. Label the axes.

M

Pulse Rate

Time

Time

Pulse Riste

0 100 1200 1400 1800 1800

R

Pulse Hale

Time

e

Rate

Fuls




107

This line graph shows Natasha's heart rate during a 50 minute PE lesson,

@) what was Natasha’s pulse at: 160
a) 11:15 by 11:20? ]
= 140 -
e When did Natasha's pulse: E 1394—
a) rise to 120 beats per minute £ 120
b) fall to 130 beats per minute? £ 1101
. & 100
e When did her pulse start to fall? 2 opl
: =
o What was Natasha’s highest pulse rate during = 80
the lesson? 70 ; . ; =
1100 11:15 11:30 11:45
o What is her resting pulse rate? Time

o Use the table below to draw a line graph showing the ternperature in a room in a school over
24 hours in January. Remember to label the axes. .

Time 0400 | 0600 ; 0800 * 1000 | 1200 | 1400 | 1600 | 1800 2000 | 2200 | 0000 | 0200 | 0400
| =

, S N e A 1R i ) S e
in room (C) | | |

Termperalure

o When did the temperature increase maost rapidly? Why do you think this happened?

-

G

o This line graph shows the average maximum
daily temperature in Sweden,

a) What was the temperature in June?
b) In which month was the temperature 7°C?

¢! In which two months was the
temperature 3°C7

d} Which two months saw the largest fall in
temperature?

Temperature (°C)

e) What was the range of temperature over
the year?

PR, |

T) For how many months was the temperature ik rﬁmﬁ. M jl, Jj'__p;. 30 5
below 3°C? Months

e Lise the table ta draw a line graph to show the improvement in an athlete’s time for running
400 m_ You will need to use graph paper.

Weck _ e el e e o ] e e o b e
400 m time (soconds) | 58:6 | 582 573|569 [ 56.1 | 55.5[54.6| 549 | 535 [53.1 | 529528

a) Inwhich week did she make the greatest improvement in time?
b) In which week do you think she had a slight cold?



C3 METRICUNITS OF LE NGTH

108

| can choose and use metric units to measure length.

Excimples
10mm — 1om
Smm —0-5cm
88 mm = -8 cm
168mm = 16-8cm

A

Copy and complete.
o 50mm = Dcm
o 20mm = Dcm
e 3cm= I:I mm
0 Bem = |:| mm

& sc0em =[ |m
@ c0cm=[ |m
e E?m:;cm
e 4m=:_icrn

© 2000m =] Jkm
@ 7000m =] Jkm
@ 6km:|:|m
@ 3km=|:‘m

Suggest a suitable metric
-unit to measure Lhese
lengths,

@ a lollipop stick

@ a ladybird

@ the Channel tunnel
@ a pea

@ a straw

D) the height of a
skyscraper

Te0cm—1m

20cm=02m
20cm — 24 m
379cm = 378 m

B

Copy and complete.
o 21 mm =|:|cm
o 72 mm =|:|cm
o 1-8em il:':mlm
o O-6cm= F mm

o Smcm:Dr‘n
O s7ocm=[ |m
€ :31m=| |on
©os3m=[ |om

€) s500m | |km
@ 29DDm=|:|km

@ +4km = |m
& o2km=[ |m

Suggest a suitable metric
unit Lo rmeasure these
lengths.

@ a plane journey

..l [’
&

o
g .

@ the length of the River
Mile

@ a school corridar

@ an ear stud

@ a tark

@ a staple

1000 m = 1km
700m = 0-7km

1300 m = 1-3km

4520m = 4-52 km

C

Copy and complete.

Choose the best estimate.

@apen

140 mm, 140 cm,
140 m

@ a marathen
420m, 4200 m,
L2000 m

@ a computer screen’s
width
03m, 0-03m, 0-003m

@ an aval running track
4k, 0-4 km, 0-04 kmn

@ the diameter ot a CD
12mm, 1-2cm, G-12m



C3 THROWING INVESTIGATION 109

| can present data and use it to investigate a problem.

The children on Orange Table investigated whether
the distance they could throw a rounders ball would
improve with practice.

Distance Thrown (my)
M| Tu|W|[Th| F
Amit |12 |16 |16 | 19 | 21 |
Carol | 10|12 | 14 | 14 | 16|

They measured the longest throw of each child for

five days. plakers JlVEalli2a 26 20N 80

The table shows the resulls. Naomi | 16 | 18 | 21_' E‘Lz‘*
Stu | 20 .25 | 27 | 28 | 31
(Zena | 25|28 | 3031 | 35 |

A 3 £

o How far did: o Who improved most MNaomi's improvement in
a) Caral throw on hetween: distance (D) was 8 m.
Tuesday? a) Monday and We can also work out
b) Stu throw on Tuesday her improvement as a
Thursday? b) Tuesday and percentage (P of her first
9 On which day did: Wednesday ;hmwlilj—l'} by using this
a) Amit throw 19m SN endapand L
h) Naomi throw 16m? Thursday Pl = (DI = FT} % 100

d) Thursday and Friday?
e How much further did

Pl = (8 + 16) % 100

What th
o 1at was the i

difference between

Zena's throws on
Monday and Tuesday?

o What was the

differcnce between
Stu's throws on
Thursday and Friday?

o On which day did Jake:

a) make his longest
throw

b) make his greatesi
improvement?

© on which day did:

a) Carol not improve
by Naomi not
improve?

|ake Lhrow than Naomi:
a) on Monday

b) on Wednesday

¢} on Friday?

€ Lookonly at the

distances thrown on

Monday and Friday.

a) Who made
the greatest
improvernent
in distance thrown
in the 5 days?

b) Who made the least
improvernent in
distance?

= 50

Naomi improved by 50%

an her first throw,

o Use a calculatar,
Work out the
percentaye

improvement for each
child using the above

formula.

e Draw a bar line chart to
show the percentage
improvemenl made by

each child.

o Work oul Lhe
improvement made by
each child in the 5 days
and present the data in
8 bar line chart,

o Which chart is betler
at showing how
much sach child has
improved? Give a
reason for your answer.

@ Draw a bar chart
labelled in 25 to show
Amit's throws on each
day.



€3 PROBABILTY _ 110

| can predict how likely an event is tc happen.

The probability of an everit can be placed on a probabhilily scale.

l | |
Impossible Uniikeky tven chance Likely Certain

A

For each of these statements write one of the above five probabilities.

€ Your TV needs to be repaired in the € You will rolf a dice and gel a 6,

next 5 years. @) You will have two children,
9 Your teacher becames a pop star. o Your holiday next year will be on Mars.
e You spin a coin and get a head. ) Tomorrow the Headteacher will come to
o It will snow next year at the South Pole. school on an elephant.

o Miake this spinnes: ' "M:urk out the probability of :'aa-:h spinner
landing an arange as a fraction,

ST
VoY

e Copy and complete this tabie for 60 spins.

Spinner Expm:i_\ed Actual e e
Murnber | Frequency | Frequency
1 10
Z2 10
3 10
4 10
5 14
(] 10

o Which number is the mode?

o Draw a har line chart to show the
frequency of each spinner number in 60 [ 4]
spins.

o Make this spinner.
Complete a table 2 2

like that in -
Question e for \ o Piace the numbers 1tc 8 on a
30 spins. probability scale to show the likelihood

of each spinner fanding on orange.

o

SOEs




| can read scales with some unnumbered divisions.

For each of the scales work out:
a) the measurement indicated by each of the arrows.
b} the difference hetween the two arrows.

A & &

mi litres ml litres mi lires
— 100 e — — 200 —1 e T e T
L L = L of— -
= -— — — I—' -~ £ —
L L Lo L ., e S
= R — — = e
L L k. i g : L
t— —  — e . —_ sy l—
I ';1—— e
Sy Lo 0 0 L g =)
mi il litres mi ml litres
o — 1000 o L—H]ICI e — 2 — 50 — 500 o 2
| - - | g i
B EFESi L s
£ | . - [ L
- - - - L.
- — - e = [t —
- - i - F
- fp— L - - Y
— — 0 1) L} —
litres | i litres litres ol
2 e = 200 e ~ 1 o = 4} = e 500
- = o — - -
= o E I [
F— b _ - : A
i z F . F :
Erite B2 [ i o e—
7 [ |- H-
pe! s - - C= P
u B, N E -
g =0 —{ —} ) 0
m litres il
@ivs O™ Q@i ©@nm,,
a— he— e




| can decide whether to round up or down after division.

Examples

Answer

How many £6 tickets can |
buy with £877

87 = 6 = 14 remainder 3

A

o Jennifer saves 30p
every day. How many
days will it take her lo
save £27

e A train fare is £5. Haow
many tickets can be
bought for £787

o Cups are sold in sets
of 4. How many sets
can be made from 30
cLps?

-

o For a fancy dress
costume Malalie needs

ribbons which are
BOcm long. How many
can she cut from 5
metres of ribbon?

e Children sit six to a
table. How many tables
are needed for 100
children?

14 tickets can he hought,

An egg hox holds 6 eggs.
How many boxes do | need to hold 87 eggs?

87 : &6 =14 remainder 3

Answer 15 hoxes are needed.

Use a calculator if needed.

o How many 6-a-side
football teams:can
be madé up from 83
players?

e One coach can carry
65 passengers. How
manjr coaches are
needed to carry 1600
football supparters?

o A coach trip party stops
at a cafe where the teas

cost 60p. How many
teas can be bought for
£207

o Apples are packed
in boxes of 20. How

many boxes are
needed to store 4450
apples?

e There are 218 pearls
in each necklace. How
many necklaces can
be made from 3500
pearls?

G There are 340 people
at a conference. Each
table seats 12 people.
How many tables are
needed?

C

Use a calculatar if needed,

o Each money bag holds
30 cains. How many
bags are needed for
1000 coins?

e How many 11-a-side
football teams can be
made up from 140
players?

€ A village hall can fit 24
chairs into ane row.
How many rows are
needed to seat 300
peaple?

o There are 60 drawing
pins in each bax. How
many boxes can be
filled from 10000
drawing pins?

o Safraz wants to buy
a bicycle which casts
£200. He saves £13-50
each week. How many
weels will it take to
save the £200 he
needs?

e There are 16
chocaolates in each
box. How many boxes
can be filled from 500
choceolates?



[ can solve problems involving capacity.

A

o A bottle of lemonade
helds one litre, One
quarter of it is drunk.
How much lemonade is
left in the bottle?

€ An ink cartridge holds
15 mi. It can be filled
twenty fimes from an
ink bottle, How much
ink is in the bottle?

e Five children share a 2
litre bottle of cola, How
much cola does each
child have?

@ There is 200ml of
water in a bowl, One
and a half litres is
added. How much
water is in the bowl
now?

o A shower uses 50 ml
of water every second,
How much water does
it use in one minute?

e Hannah pours 0-2 litres
of water into her steam
iron, When she has
finished ironing there
is 40 mi of water left.
How much water has
turned to steam?

o One cup holds 150 ml.
How many litres will fill
20 cups?

o One quarter of a 2 litre
tub of ice cream is used
on Tuesday. 350 ml is
used on Wednesday.
How much ice cream is
feft?

o A water pistol holds
120 mi of water. It is
filled up 15 times. How
much water is squirted
from the pistol in litres?

€) GColdy's bowl holds
1600ml of water, His
tank holds 8 times
more. What is the
capacity of Goldy's
tank in litres?

o A motor mower has
800 ml of petrol left.
2-7 litres is added, How
much petrol is there
now in the mower?

e Mathan uses 40 ml
ol washing up liquid
every day. How long
will his one litre bottle
last?

© A cafe makes 20 litres
of tea in an urn. How
many 250 ml cups can
be filled?

c

o 1-2 litres of water and
400 ml of orange are
used to make orange
squash. [t is poured
into eight glasses. How
much does each glass
hold?

9 Twenty-four 150 mi
glasses are filled from
four one litre bottles of
wine, How much wine
is left?

a A sprittkler uses 60 m!
of water every second.
How many litres does it
use in one minute?

o A puddle contains 12.4
litres of water. 700 mi
evaporates, How much
water is [eft?

e A bottle of handwash
contains 300 ml. How
many bottles can be
filled from 12 litres?

G A dripping tap loses
35 mi of water every

minute. How many
litres does it [ose in 10
hours?

o A chemist makes a
medicine by mixing
0.8 litres of one liquid
with 675 ml of another
liquid. How much
medicine |5 made?



| can find information in a timetable.

| Examples

| Waterloo (Lond 07:10  08:35 11:35  13:50

| wa t?r oaiLonaan) ; : : How long does it take the 12:42

oking 07:35 i 12:00  14:15 R e e

Basingstoke 07:55 0921  12:21 - FRRERPEGEARRRAC S QU
Andover 08:16 i 12:42 = 18 mins + 17 mihs
Salisbury 08:36  0%:54 1317  15:08 b4 S \

 Yeovil 09:24 1042  14:07  15:48 12:42 13:00 13:17
Honiton 10:01 14:53 16:34 {Andover) {Salisbury}

| Exeter 10:27 11:42  15:18 16:59 Arswir 3% hinttes

A

o How long does it
take the 87:10 from
Waterloo Lo travel to:

o How ldng does it
take the 11:35 from
Waterloo to travel to:

&

0 How long does il
take the 07:55 from
Basingsloke lo travel

a) Woking a) Salisbury to:

b) Basingstoke b) Yeovil a) Salisbury

c) Andover? ¢) Exeter? b) Yeovil
c) Exeter?

o At how many stations
does the 11:35 from
Waterloo stop?

o At what time does the
0B:35 from Waterloo
reach Salisbury?

o 1f you had to be in
Exeter by 15:30 which
train would you catch
from Waterloo?

o You arrive at Waterloo
at 08:20, How long
da you have to wait
for the next train to
Exeter?

o The 11:35 from
Waterloo runs 10
minutes late. At what
time will it reach

Andover?

9 At how many stations
does the 08:16 from
Andover stop before it
reaches Honiten?

o At what time does the
12:21 from Basingstoke
reach Yeovil?

o If you had to be in
Exeter by 12:00 which
train would you catch
from Basingstoke?

o You arrive at Waterloo
at 11:08. How long
do you have to wait
for the next train to
Exeter?

o The (8:35 from
Waterloo mns 19
minutes late, At what
tirne will it reach
Exeter?

e At how many stations
cdaes the 09:27 fromy
Basingstoke stop before
it reaches Exeter?

e At what time does the
14:15 from Woking
reach Honiton?

o if you had to be in
Honiton by 16:00
which train would you
catch froum Salisbury?

@ You arrive at Waterloo
at 10:42. How long
do you have to wait
for the next train to
Excter?

@ The 11:35 from
Waterloo runs 38
minutes late. At what
time will it reach
Honiton?



| can work out angles on a straight line,

Examples
X+ 457 = 180° ¥ 107% = 180°
x% = 1357 yr=FaT

X /45

¥ 107F

A

Calculale the missing angles.

® o & @ £
150‘/ c | 80° | 657\ e : 7/ 55°
23 4 (6 0

1108/ h d /fel0 - 1255/ RN

Calculate the missing angles.

@ \ @ / @ @
LN k /48 59°\ m O%

(2] @ (6 (8]
136'/ \1 47° 154° / p\113°

G

Calculate the missing angles.

3
6

5
478 F0°

. \ . / /
r 9% Ngnsm ? o

128°




| can draw and measure angles using a protractor.

A

o Estimate the size of each angle in the triangle to the
nearest 10°

e heasure the angles.

o Use a protractor to draw the following angles.
a) 30° ) 10° e} 60°
b} 100° d) 150° ) 160°

o Draw a triangle with angles of 110° and 307
Measure the third anagle.

o Estimate the size of each angle in the quadrilateral M o
to the nearest 5°.

e Measure the angles.

o Use a protractor to draw the following angles.
Write acute or obtuse by each angle.

a) 45° Q) 25° &) 75°
b) 145° d) 1257 | il O
@ Draw a quadrilateral with angles of 657, 115° and 55°. M P

Measure the fourth angle.

C

R 5 @ Estimate and then measure to the nearest degree
the anales of:
a) triangle SRT c) triangle QTU
T b) triangle QTR d) quadrilateral RSUQ.
e Craw the following angles.
a) 5% <) 108" e} 79¢
b) 1317 d) 167° fy 1247

o Draw three different triangles.
Find the sum of the angles of each shape.
u What do you notice?



| can solve problems involving area and perimeter.

To undersiand the difference between area and perimeter Lhink of a field.
The perimeler is Lhe length of the fence. The area is the field itsell.

Example
Perimeter = (6 + 4 + 6 + 4)cm gem Arca = length = width
= 20cm = (6 % 4)cm?
= 24cm?

A

For each of these shapes
work out:

a) the perimeter

b) the area.

o square

sides 2 ocm

e rectangle
sides 5cm 4em

e square

sides & cm

9 rectangle

sides Bcm 2com

LIse 1 cm squared paper,

a Find as many
rectangles as you

can with an area of
12 cm?. Work out
the perimeters.

e Find as many
rectangles as you
can wilh a perimeter
of 14cm. Wark out

the areas.

o Draw a square
with a perimeter of

12 cm. Wark out the
area?

dcm

@ Copy and camplete the
tablc showing Lhe length,
width, perimeter and area
of rectangles.

b twl el oal
cm | cm | cm | em?
i i [ [
1ol | |30 ]
| 6 48
!_' T
[ 15 | 38
ST Tt

e Find as many rectangles
as you can wilh an area
of 36cm’. Wark out the
perimeters.

0 Find as many rectangles as
you can with a perimeter
of 22 cm. Wark out the
areas.

These rectangles are drawn on
a 1 cm grid. Find:

a) the missing co-ordinates
b} the perimeter

c) the area.

©carcann( ]l )
s NERTCRTCAN D

o0

For each shape work out:
a) the penmeter
k) the area,

All lengths are in cm.

10 _ 24 -
16 20
8 12 12
4 B &
€ Use 1 cm? paper, Make
different L shapes with an

area ol 24 cm?. Work out
the perimeters,

o A sguare picture frame
has an outer perimeter of
76cm. The frame is 2cm
wide.

a) Finc the inner
perimeter of the frame.

b) Find the area of the
picture.

These rectangles are drawn on
a 1cm grid. Find:

a) the missing co-ordinates
b) the perimeter

¢) the area.

O uy0.0c8( L ]
© 26503 L[ )



| can construct shapes that have parallel or perpendicular sides.

Use a set square and a ruler Lo construct each shape.

All lengths shown are in centimetres,
All angles are right angles excepl where shown with an arc as in this example.

A

Canstruct each shape and
check that the opposite
sides are equal.

o 7

o 7

7

e Construct a square with
a perirmeter of &4 cm.

e Construct a rectangle
with a perimcter of
14cm and a longest
side of 5cm.

e Construct a rectangle
with a perimeter of
24cm and a shortest
side of 4 cm.

Construct each shape and
treasure the length of the
diaganal to the nearest mm.

o 3

7 7
7
(2] 6
5 5
6

Construct each triangle and
measure the length of the
iongest side to the nearest
mrm.

Construct each shape and
imeastire the [ength of the
diagonal to the nearest mim.

e a square with a
perimeter of T8cm

e a rectangle with a
perimeter of 17cm and
a longest side of 6cm

ydl

Canstruct each shape and
measure the length of the
diaganal.

o =

5-4 5-4

72
e a square with a

perimeter of 11-2cm

Construct each triangle and
meastre the longest side,

B4t

2-6

&-6

o Construct the shape.

i 4.5 B

Find the length of:
a) €O b BD.



| can reflect shapes in a mirror line.

Examples

1 " 7a

Use squared paper. Copy the shape and the mirror line. Sketch the reflection.

A
&




| can translate a shape and give the co-ordinates of the new position.

Examples Translate the shaded shape:

n lett 3 squarcs {L3)
e up 2 squares {U2)

€ Rright 2 Up 2 (R2 U2)
€) right 2 Down 1 (R2 D1},

5_
4

3

5_

A

Copy the grids and the
shapes. Translate each
shape 3 times.

,ﬁ_

5____._.. e

o Copy the grid in

Section A.

a) Plot these points.
(3, 43 (3 8) 6 4
Jzin them up to
draw a triangle.

b} Translate the
triangle L3, Give
the co-ordinates of
the new position.

c} Translate the
original triangle
123, Cive the new
co-ordinates.

e Craw a new grid. Plot

these points and join
them up in the order
given.

(0,132, 2) (2, 3}
(0, 33(0, 1)
Translate the
quadrilateral:

a) U2 b} R3.

Give the co-ordinates
of the new positions,

o Diraww & new grid.

ay Plot these points
and join them up
to drawe a triangle.
(2,43 {3, 63 {4, 3

h} Transtate the
triangle L1 D4,
Glve the co-
ordinates of the
news position,

c) Transtate the
original triangle
RZ D2. Give the
new co-ardinates.

o Draws a new grid. Plot

these points and join
them up in the order
given.

(3, 2) (4, 3)(6, 1)
{3, 0) (3, 2}
Translate the
quadritateral:

ay L1 U3
by L3 U1.

Cive the co-ardinates
of the new positions.



| can solve problems involving ratio and proportion and scale the
ingredients in recipes up or down.

Examples

There are 2 adults Tor every 3 children

at a party. There are 18 children.
How many adults are at the party?

Adults & 2 4 6
| —
g

& 10 12
— i
Children @ 3 &

|
12 15 18

A recipe uses 500 g of meat for 4 people.
How much meat is needed for;

a) 1 person
b) 8 people?

Answers  a) 500qg : 4 =125¢

Answer 12 odults

A necklace is made
using this pattern

ol beads. Copy and
complete the number

lire.
Red O 5 1013 51
=] i
Yellow 0 3 & O 30

Use your number line.

€ Find how many red
beads there arc il there
are:

a) 12 yellow beads
b)) 21 yellow beads

c) 64 beads
altogether?

€ How many yellow beads
are there for every:

a) 25 red beads
b) 45 red beads?

o How many yellow beads
are there in cvery:

a) 48 beads
by B0 beads
c) 56 beads?

b) 500g % 2 = Tkg

CHEESE BISCUITS
200 g ftour
40 g cheese
120 g butter

Makes & biscuits

o Rewrite the above
ingredients for:

a) 3 biscuits
- b)Y 12 hiscuits.

e There are 4 adults
on a bus for every 3
children. There are 21
children on the bus.
IHoww many adults are
Lhere?

e There were 60
questions in a test.
Rachel answered 3 in 5
correctly,

How many did she get
right?

o A jeweller mends 7
watches for every 2 he
sells. In one month he
mends 56 watches.
How many does he
sell?

L H

BAMNAMNA SUNDAE
4 bananas
500 ml ice cream
200 m] cream
60 ml honey
Serves 4

o Rewrite the above
ingredients for:
a) 1 person
b) 3 people
c) 10 people.

e Three in every fifty raffle
tickets win a prize. 600
tickets are sold. How
many win prizes?

o Four hundred people
attend a concert,
Thera are seven
children to every three
adults. How many
children are there?

ﬁ In an orchard there are
5 times as many apple
trees as pear trees.
There are 300 trees
altogether. How many
are pear trees?



I can find a fraction or a percentage of a number or a quantity.

Examples

108 of 40 308 of 40

]‘n of 40 {10% of 400 = 3
40 : 4 4 %3

4 12

&

Find

@ .of3s
€ lot27 ‘
€ Lof24
Q .ot32

© 10% of 70p
© 10%of£14
€ 10% of 1 metre
€ 10% of 2504

o ‘There are 40 tins on
a shelf. One fifth are
sold. How many are
lefi?

) 1 June 2500 copies of
a magazine are sold.
i July sales increase
by 10%. How many
copies are sold in july?

@ Abook cost £4. In a
sale the price is cut by
10%. What is the new
price?

@ Asif weighs 40 kg.
Bruce weighs 10%

maore, What is Bruce's
weight?

5% of 40
(10% of 400 + 2
4 2

2

Find

@ o2

2 B
© :of4s
© 256

© 20% of 90p
© 59 of £4-80
€D 30% of 2 litres
€ 50% of 30cm

o In the summer there
was 120 mm of rainfall.
In the autumn there
was 40% more, How
much rain fell in the
two seasons altogether?

@ There are 60 people on
a coach, Two fifths are
men. 30% are women,
How many children are
on the coach?

0 A taxi driver earns
£80 on Friday and
sixty percent more on
Saturday. How much
does he earn in the two
days altogether?

3% of 400

{1% of 400) x 3
(i of 400) x 3
4 %3

12

C

Find
7
€ [ ofs4

Hiera T
& of 360

© iof

13
1 of 800

© 1% of £75
0 39 0f 180
€ 15% of 2:6kg
© 95% of 300m

o There are 120 apples
on a tree. Fifteen
percent are picked
and three eighths are
blown off in the wind.
How many apples are
left on the tree?

@ As a special offer a 750g
packet of cereal has
20% more. How much
cereal is in the packet?

@) A school has 200
pupils. On one day
4% were absent and
one third of the rest
were on a trip. How
many children were in
school?



| can find other fractions equivalent to a given fraction.

Examples
¥ou can change a fraction into an equivalent fraction by multiplying or dividing (cancclling}.

.

1(x3) _ 3
4(x3) 12

Wile the equivalent
fractions shaown.in each pair
ot diagrams.

A=

A

o

Eask

®

| —
LA

=
L

)
e

Thl—=
LA

2] —
LA

)|

iUse the fraction chart.
Copy and complete these
equivatent fractions.

0:-

2

0:-
3

0:-
b

O

=]

=]

=0

mId

w| 7]

0:-¢
i 12

0:-7
©:-¢
039
059

Copy and complete these
fraction chains.

[l 1 T
H 12 Ll
W iml
| [ [P |
C
=l
O L

4 (=2}
10{+2}

- =~
L

LA

C

@

Copy and complete these
equivalent fractions.

Q:-!
3 "]
Q-1
4 20
©::
2 14
Q.-
3 1R

el |
] 25
@1=£
10 100
i) = /m
SR T

=01 =IO +O
I

[

|

or] I | =+ |

9969;&699@9

mil |

Write three more fractions

equivatent Lo:

@:
e

10
Ty

18
33

|5

i3
T

24
7]

b
1561



I can use diagrams to compare and order fractions.

b

one

hatt
quarters
eighths t 1 [ i

&

Use the fraction charts to
find one half of:

2
01 -o
4

(I P Y ] [

Write down the larger
fraction.

e R ][ - B
(=] =] =}
- = =

B LT [« e o B

o
=

ha| —
a
=

al-=

‘g 5
@ﬁ“r
1
(D Wm
o o
@ﬁﬂr

| B
o | e
|=

= LN]
=
b

= 3
0 5

20 |
T
=1 [¥¥)

Which of the fractions in
the box are:

@ equal to one half
@ less than-one half
@ greater than one half?

W

F|— = = —

ong 1

hati | is
thirds s
sixths | E i {I,—S

Lse the fraction charis to
find one half of:

0: L6

2 I 0:
3 (s
(4 B0 (o ]
0: " O©:

White these fractions in
order, smallest first,

D ool

L S N !

109 12 20 7 75
BN 4RSS
11 14 Q 50 18

Which of the fractions in
the box are;

@ equal to one half
@ less than one half
@ greater than one half?

one
hali
fifths
tenths

W

L

[T -

e
o
w

o

Find one half of:

©: ©0;
S 10
7 1
em Gs
o: 0]
3 ]
1 13
oﬁ 050

Write in ascending order.
. -

6% 48 28 B
1 ORF

12 9* 5 [

48 El 2
T 12_0’ IE’ e

e

Find the fraction which is
halfway between each pair
of numbers,

@lzand'f
@ Land?
@ %and%
@ —and1

1
Eandg

@ —and

landi

®Z.Etr1dJ

2 0
5 and 55

1 i
& ;and?



| can express one amount as a fraction of another.

Examples
What fraction of 8 is 27

L]
6 3 O O o

8=4x2
2is | of 8

A

For each diagram copy and
complete each number
sontence.

[l
5 W EEE

Q12| |x4
€ +is| Jof12

O A R
€ o=| x5
© sis| [of10

@ 2is[ [of 24
@ 16is| |of24

© 28=] |x4
© 4is. of28

@ sis[ Jof2s

There are 40 heads in a necklace.
Eight beads arc red. What fraction of the beads are red?

40 = 8= 5

Answer | of the beads are red.

o What fraction n[ 16 is:
a) 2 c 8
b) 4 dy 17

e What fraction 9[ 36 is:
ay 3 <) 6
k) 9 d) 187

o What fraction of £1 is:
a) 50p < 1p
b) 30p dy 25p7

o What fraction of 1 kg is:

a) 600g <) 50g
by 750g d) 10g?

e A bottle of lemonade
holds 1 Htre, 200 ml
is poured out. What
fraclion is left?

@ colin's book has 120
pages. He has read 40.
What fraction has he
read?

e A baker makes 100
loaves. Seventy-five are
sold. What fraction is
left?

C

@ What fraction of 24 is:
a) & cE 3
by 18 d) 97

o What fraction of 40 is;
a) 10 <) 5
b} 30 d) 257

e What fraction of £5 is:
a) 1p c)i &2
by £4-50 d) 5p?

o What fraction of 2 m is:
a) 10cm ¢} 125cm
b) 50cm d) 1mm?

o A netball team scored
36 goals, Shana scored
15 of them. What
fraction of the team’s
goals did Shana scorc?

@ jamil weighs 32kg.
His dad weighs 80 kg.
What fraction of his
dad’s weight is Jamil's
weight?

o A running track is
400 m long. What
fraction of a 10km race
is one lap of the track?



| can give equivalent fractions, decimals and percentages.

Exariples

1. =
L~ 01 —10%

Write Truc or False.

©;-00

2-0.34

e
Q-
o

= 50%

ka|—

©o3-!
0oz
€ 07 - 70%
©oz2=2%

@ hatch each fraction
with either a decimal
oF a percentage,

|

3 dJ-14
A

o 200
o 0.25
100 £

2z

0 50%
14

100 0-4
|

T 58

1 _ |
= 001 — 19 .

R pr - 1
2= 002 = 2% ;

3 B
e — 003 — 3% :
and so on

Write as fractions.

€ oss
€ o017

Write as decimals.

. B s
O O
D - P 1%

& D so0%

Wirite as percentages.

®@: @os
O @
Oz @os

Q% Qo

Cive the answer as 3

decimal.
4
Sos+2
11
ﬁ ! {:}123

Give the answer as a
pocroentage.

& 20% 1}
€D ! +53%

€D 94% — 03

€D - 27%

© 5%
e os 0 s9%
@ s
[ 4 o 0 sou%

Write in ascending crder.
©: 4% 0344

o 19w 2
€ 05 3%

&1
Qs P o1ss

©: 02 7%

O 5% & 0556

& o311 3o0m L

3
11
O % o1 10

Cive the answer as 3
percentage.

© o3

sl
g — &7

@ os1 +2
Qo2-2

Gree the answer as a
decimal,

® L+ 32,
(14 BERETR
P s+l

(16 JERELD

@ A cake weighs 0-5 kg.
Cne tenth is eaten
on Monday. Twenty
percent 45 caten on
Tuesday. Hove much is
left in Kilegrams?



| can divide a three-digit number by a one-digit number.

Examples
231 + 6
Estimate 23
& » 30 — 180 — 60
G = 40 — 240 171
180 =2 237 =2 240 — &0
A0 - Answer < 44 m
- 60
51
- 48
3

(6% 10}
(6 > 10)
(6 1)

(6 % 8)

Answer 3813

&

Work out

[ 1 )
@ 127

& 2-5
D s1+6

©ss-5 @472
Qicz:6 Pi112-8
©:-3 Poc4
0 152-8 @ 118+9
@0o:4 Oi32-7

01260

(16 LR

@ There are eight cakes in

each box. How many

boxes can be filled from

104 cakes?

@ Six train tickets cost £96,
How rmuch does ane Lickel

cost?

@ Kym has read one third of
her book, The book has 57
pages. How many pages

has she read?

@ Four [riends share a prize
of £58. How much shauld

each person receive?

Far a mare eflicient

methad ot chunking

starl by subtracting
this figure.
!

180 < 231 + 6 < 2440

B

Wark oul

© 6:6 € 201+58
Oi314+7 @ 269+7
©2s0:8 P 37738
@ 23:9 P3as+o

© 476 P 290+56
Qs3-7 P2r2:7
@ 224:8 P03
© 27+-9 ) 120+9

@ There were 245
passengers on a plane.
Cme seventh of the
passengers got off at
Paris. How many [lew
an to Rome?

@ Eight magazines weigh
536 grams. How much
does one weigh?

231
~180
51
— 48

3

(6 % 30)

(6 % 8)

Answer 3813

C

Work out

Q 202+4 € 168+ 14
8 107 +9 ) 294 =21
€ 366 P 392+16
Q 1247 P 526 +23
© 4553 @ 610 19
@935 P 53026
& 5298 760- 22
€& 201 -7 D 800+ 33

@ A schoal needs 450
exercise bools, How
many packs of 24
will the school need
to order? Howe many
Boaks will be lefl over?

& The 728 children in
a school are divided
equally into 28 classes.
Howy miany children are
there in each class?

@ A pack of 18 baas of
crisps weighs 630 g,
How much doss one
bag weigh?



| can make sensible decisions about rounding up or down after division.

Examples

How many £6 tickets can | buy with £877

87 = 6 = 14 remainder 3

Answer [4 tickets can be bought,

o Yoghurts are sald in
packs of 4, How many

packs can be made
trom 70 yoghuris?

e One lorry can carry 8
containers. How many
larries are needed o
carry 100 containers?

o There are 40 straws
in each packet. How
'man}r packets can be
made up from 300
straws?

o A car can carry 3

children as passengers.

How many cars are
needed to carry 50
children?

o Ten COs can hbe stored
in arack, How many
racks are needed to
store 213 CDs?

G How many complete
hours are there in
200 minutes?

An egg box holds 6 eggs.

How many boxes do | need to hold 87 egys?
87 + 6 = 14 remainder 3
Answer 135 boses gre needed,

o Mine children can sleep
in a farge tent. How
many tents are nesded

for TSD&chilt_irén?

e Video tapes are sold in
packs of 8. How many
packs can be made
from 300 tapes?

€) The tables at a
wedding reception seat
6 people. How many
tables are needed if
there are 200 guests?

o How many complete
weeks are there in
150 days?

e Hayley saved £30 each
week towards her
haoliday. How many
weeks did it take her to
save £500 she needed?

o There are 150
" footballers at a
tournament. How
many 11-a-side teams
can be made?

C

a A garden centre can fit
8 plants on each tray.
How many trays are
needed to display 500
plants?

e One lorry can carry
seven containers.

How many trips are
necessary to transport
400 containers?

e Cough sweets are sold
in packets of 12. How
many packets can be
made up from 200
sweefs?

o There are beds for 24
patients in each ward of
a hospital, How many
wards are needed for
350 patients?

@ A loaf of bread has 22
slices. A cafe needs
300 shices of bread for
sandwiches. How many
loaves does the cale
owner need to buy?

@ cakes cost 45p. How
many can be bought
for £12%

€ Pencils are packed
into boxes of 15, How
mary boxes can be
filled from 365 pencils?



| can write a remainder as a fraction and as a decimal.

Examples
REMAIMNDERS AS FRACTIONS

: | i — 1
77+4-19L(1x4=1

; F 3 ;i JEE
53 1 10-5% (3+10-2)

A

ive the remainder as a

fraction

©::-2 Q-2
€ 2+5 @ 33+5
€ i1s-3 @374
Q1:7:10@ 23-3

Q274 Qos2+s

ive the remainder as a
decimal.

@72 @272
P70 19+4
P eo-a P es57+5

Q=5 @ £12+10

Przz-a4 )rioss

@ A rope is 31 metres long.

It is cut in half, How fong

ts each length in metres?

@ Five people share a
prize of £17. How miuch
should each persen
receive?

@ Two friends share the
cost of a meal, The kil is
£23, How much should
each person pay?

REMAINDERS AS DECIMALS

77 0 4=19.25(1 : 4 = (.25
53+ 10=53(3+10=03)

Cive the remainder as a

fraction.

Qs34 0 109+5s
-7 @ 43+8
© -9 ©@173+:10
O3:6 @ s : 100

O 136 5P 267

Cive the remainder as a
decimal,

@472
& 127+ 4

& 1315
& 427 10
P oz-4

D 4802
@ 920 -4

D £1200 -5
L 010+ 2
€D £810 + 6

@ A CD player cosls £76.
The price is reduced by
one tenth. What s the
new price?

@ It takes 115 litres of water
to fill four identical fish
tanks. How miuch water
does each tank holbd?

MACHNEY
£77 1 4 =£19.25
£53 + 10 =£5-30

C

Copy and complete.

O - o143
0];|_+ 6~ 261
ou“f’“"%
O |-9-19

Cive the answer as a
decirnal. Round to one
decimat place where
necessary.

€ os1+14

@ 13710

@ o2 :5

B o7

@ s2-3

QO 1119

P -5

Hs7 6

@ Tent cyeles 25 kmin
ane hour. How far

does she oycle in
1 hour 15 minutes?

@ Eight tins of sardities
weigh 1 kg. What is
the weight of 5 tins in
kilegrams?



NUMBERS REVIEW

Wirite in words,

@ 75240
€) 320108

© 1407850
@ 2050018

Give the value of the
underfined digit.

& 122017

© 1583000,

€ 45935

€ 3506200

YWork out

€ 249> 10
D 3000 x 10
@ 4180 x 10

B 37 < 100

() 1500 = 100
& 461 x 100

& 42000 - 10
5 300000 =10
) 6020 + 10
@ 23000 = 100
B 58600 = 100
€ 200000 + 100

Use these digits.
@ 92

@ hake the targest
possible number.

@ Make the smallest
possible number,

Round to the nearest 100,

€ 863 e 2970
1247 €D 4652

Round ta the nearest 1000,

&) 7394 €) 26298
€D 14516 €D 19730

Approximale by rdunding
Lo the nearest 10.

€D 462 + 87
€) 536 + 243
€D 86 — 38
€ 162 93
€D 39 %3
€D 48 x 7

@ What number is shown
by each arraw?

A

~20| i i [l}zlﬂ

T I A N

Look at the number
line above. What is the
ditference between:

€ AandB €) CandA
€) Band ¢ € DandB?

@ Wrile in arder, smallest
first.

B4
@@Eﬂ

130

(21 28 36 45 56 60>

Which of the above
numbers are multiples of:

®: ©-
44 0 & 157

Find two numbers that are
multiples of bath:

@) 2ande €D 4and7
@) 3ands € 5ande.

Find all the factors of the
following nurmbers,

& 22 (55

Work out
@ + @ o
@ 7 @ &

Copy the scquence.
Write the next four terms.

@ 33 40 47 54
@ 01 03 05 07

@ 2 5 8 1

@ 99 90 81 72

@) 15 30 45 60

& -0 -8 -6 —4
@ 80 72 64 s6
&) 250 300 350 400



FRACTIONS REVIEW

Copy and complete these
equivalent fractions.

T 30 G
T e |
- @i
L el |
2710 95"‘1{)

Place in order, smallest first.

3 1.5
4" 2'8

21 3
AT

Change to mixed numbers,
7 19
m 5 @ s
o 25
128 @2
@ i1 37
3 10
8 249
@ 5 100

Change lo improper
fractions.

® 2 @ s;
D 4 @ %
D B¢
D 3 D 4

Give the value of the
underlined figure.

& 192 € 2543
) 1638 €D 719
€ 3922 €D 5306
D25 sz
@ Write the numboers

shown by the
arrows as decimal

fractions.
A B G
g e
I A A B
oS : F

09 | } jRE

Atrange in order,
smallest first.

€D 472 2.7 4.27 247
€ 591 1.9 1.59 5.19
€D 6:8 3.8 368 6:38

€ 57 537 573 53

Round Lo the nearest;
metre pound

@s3im B 119
@ 28m O 620
B 73m € 2974
B a4sm @ 8748
@ oem ) 450

131

Write each shaded area as:
a) afraction -

b) a decimal

C) a percentage,

D 54 @
°p °E

Find
D Lof200 @ lof30em
&) : of 200 Sofim

- of 240 2 of £1
@ 10 @ T
@ o018 @ dofsop

Find

@ 10% of 70
@ 25% of 36
@ 20% of 80
@ 30% of £5:00
@ 75% of 60p
@ 60% of £2.00
&) 50% of £5-50



CALCULATIONS REVIEW

Copy and complete.

@ 450 1 270=] |
€ 55 +38-| |

© o3+ |-70
Qs+ |=100

© [ |+s00=1247
QO |+49=126
@79 o0s=[ |
© 117-61-| |

© so0-[ |-514
@s4-] |-80

@  |-340-470

@[ |-57-215

Work out

® 433 @ 783

@ 614 @ 548
F327 -375
849 (B 892
il i

L 74 &) el
5398 728

Lse a written method to
find the totals.

€1) 356 + 9 + 1408 + 27
€ 48 1 3271 1 7 1 685
€ £2:61 +92p + £135
€ 73p + £5.84 1 29p

Lse a wrillen method
to find the differences
between each pair of
numbers,

€D 1957 and 392
€D 63 and 1546
€) £5-38 and £2.94
€D 7.5 and 28.1

Copy and complete.

€ 14x23=1 |
) 2x6=] |
€Po7x[ |-28
@ 12x[ |=0
€@ [x6=54
@ [x3-18

@ 120+ 7 ]
@o+1-]

€@ - =6
€D 150+ |=30
@ |-5=40
& -10=31

Work out

& 122 § 537

X 6 x_B

d 254« @ 369

Xj T

Copy and complete.
(45 IATRE SN 47 BEVTE) |

D7z Q size

132

Copy and complete.

O = @ 75
X 17 X 36

Work out

@s4x3 @ e9oxs

@36x7 @ 28xs

@s7x5 €754

Work out and give the
remainder as a fraction.

Ga0-7 @ s51+8
@ 263+10 @ 8o+14
@e7-9 @776

Work out and give the
remainder as a decimal.

@srs-2 @ B00:5
@ 319+10 @ 390 +2
@ 7204 @ £540+ 10

@ How many seconds are
there in one hour?

@ There are 14 sweets in each
packet. How many packets
can be made from 300
sweets?

@ A school has 243 pupils.
128 are boys. How many
girls are there?

@ Sara has 127 marbles.
Tina has 39 fewer.
How many do they have
altogether?



MEASURES REVIEW

Copy and complete.
@ +3km = |m

© se7om = | |km
o 194em — :Irn
o 2:6m =I_|cm
© oscm=lmm
G 79mm = !_|cm
€ 382m= l:icm
© 7800m = Jkm
o B-25kg = jg

D 23k0=_ g

@ 37409=[ kg
@ 5009 - kg

@ 14litres = |ml
@ 3-860 litres =[ |ml
B 2900ml = _litres
0 480ml = Jlitres

Waork out the measurement
shown by each arrow.

® 4

2 o !

|

el - 1 Lo

g litres

@ — 400} =
- __*—H
e :_'|
- =—F (e
0 —q

@ & bottle contains
2 litres of cola. Six
200 ml cups are filled
from the bottle. How
much cala is left?

@ There is 48 cm
between the top of
a wardrobe and the
ceiling. The room
has a height of 2.2
metres. How tall is the
wardrobe?

@ One tin of peas
weighs 300 g. What
do fifteen tins weigh
in kilograms?

€D A roll of wire is 6
metres long. How
many 30 cm lengths
can be cut from the
roll?

@ What is the area of
the rectangle?

@ What is the perimeter
of the rectangle?

@ Work out the area and
perimeter of these
shapes:

a) rectangle
Bom X 4cm

by square 7 cm sides

@ A square field has
a perimeter of 400
metres. What is the
area of the field?

133

Copy and complete.

£ 36 months = | | years
@ 2 years = Dweeks

€D 42 days - wecks
@ 3 days = |:| hours

) 6. hours = | mins.
€D 300 seconds = | | mins.
€D 4 centuries =| | years
€D 21 hours = | | mins.

July 1st falls on a Friday.
On what day will these dates
fall?

@ July 12th
€D July 23rd
€D August 7th

@ June 16th

@ Copy and complete the
table showing 12-hour
and 24-hour clock times.

12-HOUR 24-HOUR
CLOCK CLOCK
4:25 pm
10:30am
715pm
08:42
21:08
2:55am
11:37
17:21
745 am
2301




SHAPE REVIEW

Write the names of each of
these 2-12 shapes.

OWGA
e._Q 0
GAQO
L4 GM

o Which of the above’
shapes:

a) .are concave
b} have parallel lines

<) are reqular?

Use squared paper.
Copy the shape and the
mirror fine and sketch the

reflection.

for each 3-0 shape write,
a) the name of the shape
bY the number of faces

¢} the number of edges
dY the numbier of vertices,

How many cubes are
needed to build cach
shape?

22

a 4 % 4w %

134

@ Copy Lhe grid.

123456

Mot these points and join
them up in Lhis order.

(1,1 3,3 {3, 1,1
Translate the shape twice.
a) Righl 2 sguares

by Lp 3 squares

Use a protractor Lo draw
these angles. Write acute or
obtuse by each angle.

€D 65 &) vs
(26 STV o: I EY

Calculale the missing
angles.

°\ ®, /
tige

D Au@my”

52 D
\]11" 4&




HANDLING DATA REVIEW

Temporature {°C)

This line graph shows
the average daily

maximum temperature

recarded in one week,

4

G |
f=|

e I s |
P R ]

R
o Bl
i

2 ) T T
M Tu W Th T 5a 5u

Days

a) What was
the highest
temperature?

b} What was the
temperature on
Friday?

c) Which day saw
the largest rise in
temperature?

d) What temperature

. was the mode?

Lise the table to draw
a line graph showing
Emma’s marks in her
weekly tables test.

Week | Mark
7
a

12

13

15

14

17

17

18

19

-]
|Dxﬂmummhwm-—-

o This bar chart shows

Freguency

SR s e
LS B o e N A o]
! |

the numbers of
children absent in
Year 5 in one term,

il

Mumber of children absent

a) What was the
largest number of
children absent in
one day?

b) On how many days
were 2 children
absent?

¢} On how many days
were there more
than 3 children
absent?

d) On how many
days were there
less than 2 children
absent?

e) What was the
modal number of
children absent?

f) How many days
were there in the
term?

g} Draw how you
think the har chart
might look for a

term in which there

was less illness.
Keep the number
of days the same.

135

o This bar line chart
shows the lengths of
time spent at a zoo by
the visitars on ane day,

Heours

o = R T S B
Ty

T T T Ty e |
010 20 30 40 50 60 70
Mumber of visitors

a) How many visitors

spent four hours at
the zoo?

bY What was the

d)

longest time spent
at the zoo?

-
-

s \f

What was the
modal number of
hours spent at the
Zoo?

How many people
spent more than 4
hours at the 2007

How many people
spent less than 3
hours at the so0?

How many people
visited the zoo
altogether?



FIND THE NUMBERS 136

-

A

Find a pair of numbers with:

o a sum of 13 and a product of 36 e a sum of 29 and a product of 180
o a sum of 19 and a product of 88 0 a sum of 17 and a product of 42
o'a sum of 13 and a product of 56 e asum of 25 and a product of 100
o a sum of 12 and a product of 36 e asum of 15 and a product of 54

9 asum of 12 and a product of 27 @ asum of 18 and a product of 45.

: Find the number.

o below 40 o a multiple of 7

a prime number a 2-digit number

the sum of its digits is 11 . the product of its digits is 30
&) 2 square number e a prime number

a 2-digit number a factor of 51

the sum of jts digits is 10 a 2-digit number
e a 2-digit number o a multiple of 9

a prime number a 2-digit number

the product of its digits is 12 the sum of its digits is 18
o a multiple of 50 €) 2 square number : _

a 3-digit number a 2-digit number

a multiple of 11 the product of its digits is 8

G

o Use a calculator. ' 9 Use a calculator.
Find two consecutive numbers Find a pair of prime nurmbers with
with a product of; a product of:
a) 121 d) 462 g) 342 a) 65 dy 119 g) 111
by 182 ey 272 h)y 1332 b) &9 e} 533 hy 217
c) 870 f) 1056 N 1560 c) 85 f) 473 iy 1769
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